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MEDICAL E[i] YEARS QUESTIONS ANALYSIS

TOPIC SR R Bl Bl Bl Bl B -l B
SERIAL CONTENTS = 1 S B R s B e e | 2
QS | ]f|]|S]S|S|S|S|S|S|S

01 PARTS OF SPEECH 3 2 3 2 2 2 - - 1 2
02 SUBJECT-VERB AGREEMENT & RIGHT FORM OF VERBS 1 - 2 2 - 1 - 1 - 1
03 TENSE 3 1 2 1 - - - - - -
04 PHRASE & CLAUSE 1 - - - - - - - - -
05 CORRECTION - - - - 2 3 2 2 1 2
06 VOICE - 1 1 - 1 2 1 2 1 1
07 NARRATION - - 1 - - - - - 1 1
08 DEGREE OF COMPARISON - - - - - - - - 1 -
09 TRANSFORMATION - - | - - - - - 1 2
10 APPROPRIATE USE Of PREPOSITION 2 4 2 2 3 - 3 - - 1

11 IDIOMS & PHRASES 2 - - - - - 2 2 1 2

12 SYNONYMS & ANTONYMS 2 4 1 3 3 4 2 2 2

13 VOCABULARY - - - | - - - 2 1 -

14 GROUP VERBS - - | - - - 2 - - -

15 SPELLING - 2 - - - 1 1 2 1 -

16 ONE-WORD SUBSTITUTION - - - - - - - 1 1 -

17 TRANSLATION & PROVERB - - 1 4 4 2 1 2 2 1

18 NUMBER - - - - - 1 - - - -

19 OTHERS 1 1 - - - - - - 2 -
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m 01 “ 05. The doctor took the round in the hopital. Here “round” is
a/an — [DAT. 17-18]

| X MAT A.adjective  B.noun C. verb D. adverb
info|The...... in 9& T’ 36 *¥f AT ST noun T | iR
01. Which of the following is not a noun? [MAT: 21-22] S{@)info[The = noun
P o round *F16 W3 noun |
A. friendliness B. softly ) ; )
C. livelihood D. responsibility 06. He s an eyesore to me- “Z I Eyesore *I¥b (P Phrase? [DAT: 04-05)
S[@] info| Friendliness ) A. Preposition B. Adjective C. Adverb D. Noun
o S[i)]info] Article....... Preposition €q TGA @ *% I G
Laveitiood RS Uncountahle noun S noun T | B2 Eyesore *(6 noun position ¢ AFH GG
Responsibility _ noun phrase % |

02. What is the ‘noun’' form of the word ‘beneficial’? [MAT: 21-22]

A. beneficialness B. benefit C:K m

C. beneficient D. beneficiary

L] L] = —= ' ‘ - L ]
M Beneficial — Adjective, SoPA S benefit G 01. Hearing the noise, the boy woke up. Here the word ‘hearing

is a/an- MAT. 2017-18
beneficiary ©%42 noun | ¥ Benefit S¥F SZA@FT | Oxford [ !

Ad dl Dicti ‘ﬂm | A. noun B. participle C. verb D. adverb
. i i - S{®]info| The noise, phrase 6 noun 27T IECE |1 noun @

Softly — Adverb ToPIC [V GERUND & VERBAL NOUN

03. Which one of the following is not a noun? [MAT: 19-20] P _
A Childhood B. Purity T4 AWM (v+ing) & * IOT G G @01 [T EI6 FRRTS
C. Loneliness D. Fairly present perticiple 27 |
S[®]info| Fairly *® noun = &t adverb. ‘Fair’ adjective @3 | 02. ‘Walking is a good exercise’. Here ‘walking’ is a/an-  [MAT: 16-17]
R 1y & 29T afS adverb TETE | Fair *9a 9 = 75, Jwa A. Verb B. Noun C. Gerund D. Adverb
(adjective) Fairly *t5@ &< = Af3Foia, FWISE (adverb) | S[@]info| (v+ing) I AT subject Rwa ITT SIERTA @
(04. Which of the following words is a noun? [MAT: 10-11] RIS gerund T | Walking *I* QF qCPI subject @F Qﬁﬂ
A. ordain B. imprimature A A ©F gerund ZCAR |
C. pontificate D. ricochet _
S[@®]info] (a) ordain W< T @, I, TP ¥ X DAT

W49d G5 verb | (b) imprimature W: WEFFEE SHE@WA At

01. ‘He is fond of playin _tri;:ket’ Here *playing’ is a—. [DAT. 16-17
S | W®9 «BT Noun. (c) pontificate W&: TSIS (7, A playing ) playing | l

A. Noun clause B. Gerund
@A | 99T a6T verb. (d) ricochet 9¢: @ e WK 3@ C. Verb phrase D. Irregular verb
me[@ﬂﬁ <51 verb. S8 info | Preposition ©¥ object RFTT noun ICT| & IMNIT
‘ d DAT preposition U3 object R ST playing *%6 @36 Gerund |

01. What is the noun form of the word ‘forget’? DAT: 20-21] | 02 Which of the following sentence has correct form of verbal
A. Forgetfulness B. Forgetful noun? IDAT: 05-06]
C. Forgetfully D. Forgotten A. The boys are fond of swim
m Forget (verb, ST a0S) B. Eat voraciously is injurious to health

C. He has ruined his eys-sight by read small print

e Forgetfulness (noun, T IS HSI17) D. Singing to myself was my chief delight

 Forgetful (adjective, ﬁ’g%ejqcr) S[)]info| 75w &7 w7 ‘D’ W= Singing to myself was my

e Forgetfully (adverb, ¥ ) chief delight. o™ ‘D’ (& I ¥ AR Singing WA a1 936
02. What is the noun of the word ‘conclude’? [DAT: 20-21] Verb Z@8 Noun 9T IS IEE |

A. Coneluded B. conclusion

C. Conclusively D. Conclusive

S[®]info] Conclusion (noun, T*FER) *3@ T sion AT C% m

iy E‘T l . 01. Identify the word in_tht;plural form: [MAT: 16-17]
03. What kind of noun is ‘Class’- [DAT: 18-19] A. Agendum  B. physics C. Radii D. Civies

A. Common B. Proper C. Collective D. Metanal S[@]info| 20 2vG e Singular 8 Plural e T =

S[@I info| “Class”Zt52 Collective noun:TF W< @A a1 &if® | =071l | 7T 9
04. Which of the following word is a nnup? |I:t.-ilT. 2008-09] Singular Plural

A. Levelly B. Lewd C. Lexical D. Levity . -

ST info] 757 B&7 Z" WRH D’ | MR (T ty AR T Agendum (FI5) Agenda (FFFRR)

noun ¥ | SR Levity - 59F%l 4t @36 Noun. Levelly (& Fhysics (W) No plural

Adverb, Tewd - “FTHR@ (Adjective), Lexical - wfexi Civics (CTRAIT®) No plural

(Adjective) | Radius (I7F71¥) Radii (TIFTFTR)
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02.

What is the singular form of the word “appendices”? |MAT: 05-06]
A. appendic B. appendice
C. appendix D. none of the above

S[@)]info| appendix &¢ @M "R T (AT BT A, QI
Appendix 2T A< 96 ARPSF Singular 77 |

| x| N
01. fwtoa W qga0"? [DAT: 02-03]
A. Analysis B. Bacteria
C. Furniture D. Vertebra

SI@I info| Bacteria 92969 @9 singular form (&I Bacterium |
Bacteria 17 ©AEF ST singular form.

TOPIC [} PRONOUN

01.

01.

02.

03.

‘ d MAT
All spoke in his favour. Here the word ‘All’ is a/an-[MAT: 17-18]
A. noun B. adverb
C. pronoun D. adjective

Sl@l info | I3T subject T 4TS noun I7 | &1 noun
43 #fF<9CS pronoun IS A | All @3 Indefinite pronoun T,
JITIT subject 9T ST AT FACZ |

| X

DAT

Which of the fnlin“:iug is a correct example of a
demonstrative pronoun? [DAT: 21-22]
A. This 1s my coat

B. These shirts have been ironed properly

C. Thas dress belongs to me

D. Did you see that crazy driver?

Demonstrative Pronoun: ¥¥9€ pronoun TFF noun
& Rrgeig ta* 3 | @=: This, that, these, those, it.
Demonstrative Adjective: Demonstrative

pronoun ¥IF noun €3 T ICGT $IF O Demonstrative adjective
2% | Structure: This + noun, These + plural noun, That + noun
B7W | (T9: Thsese shirts: this dress |

Choose the sentence without a personal pronoun- [DAT: 21-22]
A. We have to leave, so give our sears to them

B. She told us that we were late for the party

C. I said that she told him to leave us alone

D. There was a nnver 1n the distance

S{D]Why| Option-D (5 @TY (I pronoun 3 AR
fRqIEeg W61 Wie OwT @ | (AT Pronoun T4H & I1 I\
TS IZ® T R (T A 6, IS A T&601 T, 8 IF TW0H
=T =11 TF WE, OIF Personal Pronoun ICT | &@9: I, me, my,
mine, we, us, your, ours, he, him, his, she, her, hers, they, them,
their, theirs, etc.

Which one the correct word for the blank? Farid and I have

[DAT. 19-20]

known — for quite a long time.
A. both B. us

C. ourselves D. each other
S[®]info| Each other @3 Reciprocal pronoun. IXF F2 T

ST FE =E AfS G2 A G I O St T4
Reciprocal pronoun S92 41 2 |

01.

03.

04.

05.

06.

MAT

Select the sentence with a noun as a premodifier- [MAT: 21-22]
A. We enjoyed a fabulous outing in the evening

B. We had a pleasant journey this time

C. No passenger flight departed on that day

D. We booked a spacious room

>,

[SI[@]info] =monf* w3%® Noun U= &= Modifier I
Adjective BFTE F1& F@ | 99 C (T Passenger 93 flight 536
Noun #Poiif* & Passenger *#6 Pre-modifier ZGI ¥
IEE |

. Are you an early riser? Here “early” is— [MAT: 20-21]
A. Verb B. Adverb
C. Noun D. Adjective
S[(®]info | e74i7srs Article/ Preposition/ Possessive 93 a3
=% A5 Noun 29 |

e 38 Article/Preposition/ Possessive a3 B2G *I% AP Article/
Preposition/ Possessive + Adjective + Noun ZJ Are you an
[Article early (Adjective) riser (Noun)].

What is the adjective form of the word ‘home’- [MAT: 18-19]
A. Homlike B. Homeful
C. Homely D. Homege

S[@]info| &1 Adjective @3 7T ly I& =71 G116 Adverb T3 |
¥ @I Noun U7 *Ita ly I% T G116 Adjective T | Adjective
+ ly = Adverb. Weakly- -'*I'”"i"'(ﬁTC"T (adverb), Absolutely —

TfRTet (adverb)

The word ‘Homely’ belongs to what parts of speech? [MAT: 13-14]
A. Noun B. Adjective
C. Verb D. Adverb

S info| & *Itw7 AN ly T& AT ©F Adj/Adv. TSAL 2T |
&% noun + ly T G0 Adj. 2¥ 1 S12 Home (n) + ly (suffix) =
Homely (Adj.) | &99- Friendly — ?Iw*ff (adjective), Costly -
WA (adjective)

Correct adjective of the word “Contempt is”-
A. contempting B. Contemptible
C. Contemptable D. Contemptation
S{i8)]info| Contempt =ZHog W eI, SPTIe A& ZET noun,
Contempt 99 adjective R contemptible =R ERIECIRIN
SIS |

Which of the following sentences uses ‘right’ word as an
adjective? [MAT: 09-10]
A. Serve him right. B. He is the right man for the job.

C. Itis such a fault that will right itself. D. It is a matter of right.
S[(B]info] &7 (a): Serve him right. (ST TSI ERT 718) |
Note: @41 Right W< 73FSIT | oA W4T Right *=6 Adverb
feeTte T9%s TR |

o4 B T% The ....... for 9F Rl 920 *% AP prepostion AT
‘j:(f =PI *F6 noun €32 noun ¥ A& adj. FENI right =<0
LR | (@9 the right (adj.) man (n) for.....

754 (d): It is a matter of right. (9<: 37 wiFEg faa7) |

Note: @2 3T Right 9 SIRFR | TR @A Right *=6 Noun
Rt T3ES AR |

[MAT: 12-13]
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07.

08.

09.

10.

01.

Which of the following is emphasizing adjective? [MAT: 08-09]
A. Bright momning B. Financial help
C. Blue Shirt D. Positive Attitude

S[i®]info] Types of Adjective:

1. Qualitative adjective: These adjectives indentify the
qualities which someone or somethings has. for example:

Bright morning, nice idea etc.

2. Classifying adjective: These adjective indentify someone of
somethings as a member a class. For example: Financial
help, daily newspaper, absolute majority etc.

Which of the following sentences use the word “Round”

adjective? [MAT: 08-09]

A. A square peg in a round hole.

B. The boy played well in the first round.

C. They rounded the temple silently.
D. At last he came round to their belief.

S info| &[T (a) T Round T~ Adjective. &[T (b) T
Round ZZET— Noun. d0F (c) T Round ZET- Verb. 40EF (d) T
Round 21—~ Adverb. Round 93 W€ @36 Part of speech THgA-
the earth moves round the Sun. G round ZC=TT Preposition.
Which of the following sentence is having the word “like” as
adjective? [MAT: 07-08]
A. We shall not see his like again. B. Children like sweets.

C. They are men of like build and stature.

D. Do not talk like that.

S[@info] Like (noun o) wd ze- ‘oww: His like is
wonderful. (S %W SgS); Like (verb ZrR) wd zrem- ‘Jww
Fal: He like sweet. (GT ff® o/g% 3@); Like (adjective RTR)
G ZEE1- ‘92 739/ They are men of like build and stature.
(SRl €2 s[5 3 ‘?5117151%?4’ (1< 1); Like (Preposition ZeR) wd
AT 'S ': He is not like Karim. (77T 9039 TS 9) |

Which of the following sentence is the correct example of
“participle adjective”? [MAT: 07-08]
A. She carried a lighted candle in her hand

B. She has lighted a candle

C. The axe-man has hewed down the tree

D. The setting sun has gilded the top

S info| 9% &t (a), (b), (c), (d) <% T 4 {6 Past participle
AL | ST (I 262 Adjective participle |

oF P4 (a) lighted - SEIFS (adjective); B. lighted — SIS
T (verb); (c) hewed - 0 & (verb); D. gilded — TS 39T
(verb); (a) 9F I 8 ©F WL F=w: She carried a lighted candle
in her hand. (77 ©F TS O30 HCENTS NS T2 FCARE) |

(o | B

Which one of the fﬁllnﬁ'ing sentences contain an adjective
clause? [DAT: 21-22]
A. The amount I had in the bank was exactly sixty pounds.

B. He hoped that he would win prize.

C. I was quute well so long as I stayed there.

D. You may criticize what I do.

N WhY| STR9S @ Clause & Adjective 93 I 1 IE SIS
Adjective Clause =7 | QYT A IM4T® A (@, Adjective Clause
(S T 9902 & Clause B3 9 9tda Noun BF Qualify I90S
T | 9T TARY the amoun TF I had in the bank was exactly
sisty pounds qualify FTHCZ B12 adjective clause T |

02.

03.

04.

05.

06.

07.

08.

The word ‘Wholesome’ is- [DAT: 20-21]
A. Noun B. Adjective

C. adverb D. Verb

S{(®]info | Wholesome (adjective, TFIFF)

What is the adjective form of the word ‘benefit’? [DAT: 20-21]
A. Beneficially B. Beneficial

C. Beneficiary D. Beneficent
S{@]info| Benefit (noun/verb, T=ist 1)

e Beneficial (adjective, TR

Correct adjective of the word ‘Contempt’ is-
A. Conteptation B. Contemptible

C. Conteptable D. Contepting

m Contempt 99 adjective form =TT Contemptible; TF
o JCET G |

Which of the following word is “Adjective + Nominal”? [DAT: 10-11]
A. best-seller B. Shortcut

C. easy-chair D. blue-black
S info |5 ‘A” =R best-seller TR Adjective + Nominal.

Best &< FCARFE A Adjective <R Seller &< TeS1 31 2052 Nominal.
IDAT: 10-11}

|DAT: 18-19]

Which of the following word is an adjective?
A. hokum B. hoity-foity

C. hogwash D. hoki

S[®]info| Hoity-toity =< 25 =< a1 2t Adjective. Hokum &%
oe@el, Hogwash W LS| @IWF hoity-toity IT =7
*=&TET Noun.

Which of the following English word will be an appropriate
adjective for the Bangla word “S&s{j - |DAT: 06-07]

A. Salient

B. signalize
C. arrdst D. obviousness

S info| 775 Tw o= ‘A’ wdR Salient IR W T,
YT, signalize e ALS 40 [ OFG Verb, obiviousness 9%
=S I YL Noun.

Choose the one word or phrase that best completes the
sentence: Sports medicine experts agree that ice should be
applied immediately when an athlete suffers an injury

to — leg. IDAT: 02-03)
A. an B. his
C. its D. the

SII:I)Iinfn s T W ‘D, the 9 Article T I95®
TR | Leg QRS Noun SF ST S*2 G361 Determiner S 2 |

TOPIC [\ DEGREE OF COMPARISON

01.

~ | [N

Which of the following is a superlative sentence? |MAT: 08-09]
A. Hira is not so tall as Panna

B. Sadia is not so beautiful as Sumaya

C. Very few subjects are so easy as this

D. Nurul is the best boy in the class

S!l])| info | &9 (a) (T So tall as AT — Positive Degree. 4T
(b) (& So beautiful as TN — Positive Degree; &THT (c) (T So
easy as Tl — Positive Degree; U5 (d) (& Best TET —
Superlative Degree.
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02.

03.

01.

Which of the following is a positive sentence?
A. Boby is taller than any other girl in the class
B. Very few young men were so industrious as Murad

C. Sabrina is as wise as Sagupta

D. Sadheen was as active as Asad

Sf@plinfo| AT (a) & Taller AT Comparative Degree.
THT (b) (¥ Young so '8 industrious & Positive Degree; ST (c)
(3 as wise as TN — Positive Degree. &TET (d) ( as active as 2F—

Positive Degree. S®9d &R (b), (c), (d) 62 Positive Degree.
Which of the following is a superlative sentence? [MAT: 07-08]
A. foreign travel is more pleasant than most other things

B. They saw that the drunken porter was lying on the floor

C. Hamlet is one of the most popular dramas

D. He declared that he was innocent

S[@]info| Degree of Adjective (AT32 oMb T ZTMR |

[MAT: 08-09]

% 4 (a) S adjective FCHE more pleasant: €51 Tl

Comparative degree. (b) T adjective IWE Drunken: @57 T
Positive degree. (c) T9 adjective FACE most popular: GBT AT
Superlative degree. (d) TS adjective FTACE incorrect: 96T ZCEI
Positive degree.

‘ O"\’: DAT
All the following sentences are comparative except- |DAT: 02-03|
A. The pen is mightirer than the sword
B. Dina is as tall as Mona C. Champa is fairer than Shmpa

D. Iron 1s more useful than all other metals

SI@]info| S ST ‘B’ ( as.... as WITZ B2 @61 A | =efie

‘Dina is as tall as Mona’ Z(® positive degree form. IR 79
comparative degree.

ToPicfyd = VERB 0

01.

02.

03.

Which one of the fnll-nwing is past participle form of swim'?
[MAT: 19-20]
A. swum B. sweem C. swam D. swom

S info| =T ST ‘swim’ *RB7 Past form ZUR- swam. S

past participle form ZUR- swum.

Fill in the blank with the correct option. He gave up —

football when he got married.

A. to play B. playing C. play D. of playing
S[®)]info] T3 9% verb AR AT ©XF =Sl verb @7 Y
SRS ing TA1ST TCS 2 W3R Gt $4F gerund 93 I 367 |

Which one the following pair is not correct? [MAT: 12-13]
Adjective Verb
A. False Falsify
B. Weak Weakly
C. Sure Ensure
D. Able Enable

B. Weak — weakly. (incorrect)
S[®)info| 4TH{& adjective 8 verb ST=F T (a), (c) ¢ (d)
7o | f5® (b) & | 777 o4:

Adjective Verb

a. False (fr=7) Falsify (Frt e« 341)
b. Weak (§de1) Weakly (F&TS1R)

c. Sure (FF69) Ensure (Rf6® 1)

d. Able (77%¥) Enable (7% 3¢ (1)

o8 93 (b) (& verb WF CFW@ weaken 9T RIS weakly 4T
ity a1 @30 adverb G2 T 9L ZCAT YOI |

04.

05.

Which of the following words is a verb?
A. joyously B. glorify
C. horrible D. idiocy
S[®]info] 7F F=: &TF (a) : joyously (adverb)- ¥ I |
o= (b) : glorify (verb) -TS= J4I, e AN &ATF (c) :
horrible (adjective) — STEP, SAPT | ATEHT (d) : idiocy (noun) -

[MAT: 10-11]

T, (@I |

Which of the following word is a verh? [MAT: 10-11]
A. rectitude B. retch

C. retardant D. reconnoitre

S[iB]info] (a) rectitude: T7IWST (Noun) (b) retch : I T
(58! 4T (Verb) (c) retardant : 7913, &fST214a (noun, adjective);
(d) reconnoitre : ST ST FAT (RS Swel) A NS S

RETZE FIE (Verb/moun) |
06. Which of the following pair contains correct simple past of
that verb? [MAT: 09-10]
Infinite Simple Past
A. know knew
B. fail fallen
C. draw drawn
D. arise arisen
S[fY]info] &% @W8 Verb =R 7% Past form T3 fgaw:
know knew
fail fallen
draw drew
arise arose
ﬁﬁ WP Verb @3 &A% F (present/ infinite, past 8 past
participle) (732 2|6 TR |

07.

08.

09.

Which of the following underlined words is a verb? [MAT: 09-10]
A. 1 can assure you. B. He 1s dependent on me.
C. We stood silently. D. It gave me trouble.

m 2T @S Sentence@@ TS Underlined *Fratera S
8 Parts of Speech™=%=: (a) assure : 5aST 7@ (Verb); B.
dependent S (Adjective); (c) silently : F@ta (Adverb); D.
trouble : 2, T3 (Noun).

Which of the following pair is not correct? [MAT: 07-08]
Adjectives Verb
A. false falsify
B. able enable
C. sure ensure
D. weak weakly

S[]info] 2T (a), (b), (c) @2 &= fiz wme | [/TE, Weak
(adjective) Weakly (adverb). 3l weaken 0 AT TS |

CEC AT ©Itel: S CFd adjective @9 T2 en @B A
verb 91 TF | (@I7- Able (37%9): enable (379 A (S1EN); Deep
(s/81): deepen (/O F71); Sure (RP59): ensure (FPsTeT (7am) |
The virtuous (be) always happy

Which one of the following is the correct verb for the word

within bracket? [MAT: 05-06]
A. have been

C. are D. none of the above

M QT The virtuous TR 4T virtuous 31 4N IS
Q@RI 202 | &0 QA is 9 A0S are 92T A1 ZER | =1
Adj. 93 7 the T (72 subject plural TH @R verb 8 plural IIZR
ST |

B.1s
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01.

02.

# ¢ ASPECT SERIES #« # ASPECT SEHII-E
d DAT
Past Participle of ‘choose’ is- IDAT. 19-20]
A. Chose B. Chosen
C. Choosen D. Choice
S[D)]info| 94T Chosen TE 73 | Chose Z(& Past form,
Choice 25 Noun @32 Choosen *%6 #3F 71 |
Which of the following pair countain correct past participle
of the verh? IDAT. 2009-10]
A. freeze froze
B. hide hid
C. go went
D. forget forgotten

03.

04.

05.

S[®]info| D W7 ST 7w AHNETTR verb €T past form ¢
HITE | Y forget €T verb 9T form BT v3 S@< 91 TR0 |

Which of the following word is verb? |DAT. 2009-10)
A. Misleading B. Lacklusture

C. Jab D. Dealer

S[@info] 7F Ter TR W ‘C’ wdR Jab T = vt

(767 | Misleading ZCR 3BT A Adjective, Lacklusture &%
f==i® a1 Adjective. Dealer W< Zto2 A71=I€F I1 T<=AT Tt Noun.

Which of the following set of verb is correct? [DAT. 2008-09]
Infinitive Past Participle

A. Undo Undid

B. Sink Sank

C. Smite Smote

D. Overwrite  Overwritten

SlIDI info | 7% w7 WoMw ‘D’; 199 Overwrite, Undo, Sink,
Smite @F Past participle form TR IEFE Overwritten, Undone,
Sunk, Smitten

Verbs and their corresponding nouns are shown below.
Which pair is wrong? [DAT: 06-07)
Verb Noun

A. better betterment

B. enter enterance

C. sell sale

D. fitable fit

S[®)]info]| o= D’ o7 7H; FET: fit *=b2 [{SF I Noun,
Adjective, Verb 2703 9/9%% 27 | Fitable (ST Verb form 77 |

TOPIC 1. ADVERB

01.

02.

‘ C—}{ MAT
Select the complex sentence with an adverb clause from
helow- [MAT: 21-22]
A. I have no money that I can spare
B. You may criticize what I do
C. I am sure that I will pass
D. He is so weak that he cannot walk

SI@I info that 9BT @367 complex sentence €I SO
....... that 41=°C=T adverbial clause 2 |

The teacher has repeated herself twice. Here "twice’ is — [MAT: 21-22]
A. adjective B. adverb
C. preposition D. noun

S I‘Bl info

Twice — Adverb of frequency |

03.

04.

05.

(6.

01.

03.

04.

Which of the following sentences contain an adverb clause?
[MAT: 21-22]

A. You can be allowed here only if you are a student

B. The house in which we live at present suits us

C. He is a man who is rich

D. I have no money that I can spare

SI@I info | Sentence ¥ Verb & How, Where, When a3 Why &Rl
Question T & Answer “IST T GG Adverb | TSR FEF TH A |

He was wise enough to accept the other. Here ‘enough’is-
[MAT. 2018-19]

A. Adjective  B. Preposition C. Conjunction D. Adverb
S[(®)]info | 947 enough *G adverb REE I97® T@E | ©&
JMIT enough =G “wise’ adjective BTF modify IER | AT
TG T He was wise enough to accept the other. (we: ff
SIS (TOS) &2 T JAT T8 I ZEw 1)

Which of the following word is “Verb + Adverb”? |MAT: 10-11]
A. hear-say B. know-how
C. make-up D. hold-all

S[®]info| F ¥ 2T (a) (5 FAR, hear-say : Verb + Noun
(T F2H); @TT (b) (® IR, know-how : Verb + Adverb ((FFer@
TS T ST A FF R 1% &= 1); @07 (c) T T00E, make-up
Verb + Preposition (§7Z 31, TECIE); 04T (d) (S IEE, hold-all -
Verb + adjective (319 g 403 T4 A1 71 FTOR SRSET 2930 |

Which of the following sentences use the word ‘down’ as

adverb? [MAT: 08-09]
A. Try to down him. B. Down went the royal George

C. the down train has left the staion D. She came down the hill
S[®]info| 2T (a) T Down Z=Ti-Verb. A= (b)) T
Down ZCET— Adverb. &THT (¢) T Down R(ET— Adjective. &TET
(d) T8 Down T Preposition.

Cj‘{ DAT

Select the sentence with a suffix that is an adverb. [DAT: 21-22]
A. The equation that was given to him was solvable

B. There was a structural defect in the monument
C. He spoke English fluently
D. Teh decoration of the gate was spectacul

S[@]Why| 2Rifbote ST AP (AEF adverb & IO *E
A0S I TR | Option C (& fluently AR T 930 adverb, Fluent
(adjective) + ly — Fluently (adverb), ¥ SRR @I AT

@ adverb T3 | ©1% FfvweiE A0 a1 2@ S9H-C |

. I have told you twice. Here ‘twice’ is- [DAT. 19-20]
A. Adverb B. Ajective
C. Noun D. Preposition

S[®info| @ Parts of Speech Verb (& modify & Ot Adverb T |
Come up please. The underlined word is a/ an —. [DAT. 17-18]
A. Preposition B. Adjective

C. Adverb D. Verb

SI@I info| Come up < 7S §E | Q4T Verb & Modify <1

[@RTH | ©13 Underlined wordfe Adverb.

They rested at sunset. Here “at sunset” is a/an —

A. Adjective clause B. Nuoun clause
C. Adverb clause D. Adverb phrase

S[(®)]info|Sunset €T T Ao @ T Adverb W2 at
Sunset WG Phrase 29717 «ft Adverb Phrase.

[DAT. 17-18]
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05.

07.

08.

09.

Which of the following word is an adverb?
A. economically B. economize
C. economic D. economical

S info| W=7 ‘A’ WLR economically TR 76T Adverb
TEd | economic WY WLAMSE A Adjective, Economize <
o973 =99 41 Verb, economical 99 #iSe=a a1 Adjective.

Which is the following underlined word is an adverb? |DAT. 09-10]
A. He answered the question correctly
B. He did it with care

C. We proceeded cautiously  D. It was troublesome to me

S[@]info| 7fés Tow T WM ‘C’ WLR Cautiously TR
adverb, I Verb (F Modify T S (& Adverb Q¥+ Cautiously
*[%(6 Proceeded Verb (& Modify S |

Which of the following sentence contain the word ‘round’ as
an adverb? IDAT. 2009-10]
A. The boy played well in the first round

B. They rounded the temple silently

C. A square peg in a round table

D. At last he came round to their belief

SIIDIinfn ST ©ET TR T ‘D’, 97*M A (5 round noun
2T 9% A | 9 B (@ round verb A T9%9e T

@32 I C (3 round adjective RETE T8 T@E |

Which of the following sentence contain the word ‘why’ as
relative adverb? |DAT. 2009-10]
A. I don’t know the why and wherefore of it.

B. Why did he come here?

C. I know the reason why he did it?

D. Why, it is surely Mahboob

S[@]info] AT Tew TR WM ‘C° WLR I know the reason

why he did it? @ WP C (S2 why *=6 Relative Adverb
ZOTE TS TR | OGS Question FF1F & Interrogation
e Tge e |

Which of the following sentence is having the word ‘near’ as
adverb? IDAT. 2007-08]
A. The time nears B. He is a near relation

C. Draw near and listen D. The school 1s near the post-office

SI@Iinfn q verb (& modify I ©I2 Adverb 94T Draw
verbf® near *#0TF modify 0 |

[DAT: 10-11]

TOPIC - RIGHT FORM OF VERBS

01.

‘ d MAT

The word 'right’ has been used as a verb in which of he

following sentences? [DAT: 19-20]
A. It is a matter of right B. He is the right man for the job.
C. Serve him right.

D. It is such a fault that it will right itself.

S[®]info| =#*7 A ¢ preposition 7 obj R Right *f6 noun
e IR |

o B (5 man ¢J #T9 Right =6 Adj. Rea awme |

9 C (& Right *R16 Serve (v) & modify I90€ I S @I
Adverb.

7SR Option D (& will + right verb (base form) T =z | ©12
9o @0 verb |

02,

03.

The right form of verb (to say) is used in which of the
following sentence? [MAT: 12-13]
A. I heard him saying this B. I heard him to say this

C. I heard him said this D. I heard him to have said this

S[info| = St 96T TS SR | (1 heard him saying this)
Note: QT to say TR 71 | NI ARSI CHIZAS TTF I9:

el I OftF guee e, 3¢Ef®: I saw him sleeping.
(Correct), Incorrect: I saw him to sleep

Choose the right form of verb: I have the (little) money.[MAT.06-07|

A. least B. less
C. slightest D. little

SIN]info| T have the (little) money. Q3T P [Tz *H
T little. 32T O30 adjective O3 SR TSI FAACE the. ST &I
Superlative degree 8 adjective @ T4 the ITT| WOUT TS
310 ZR: I have the least money. (SR SAIGCH T BIFT W(R) |

TOPIC '] CONJUNCTION & INTERJECTION

01.

01.

02.

el AT
Which of the following compound sentences contains an
illative conjunction? [MAT: 09-10]
A. Seraj as well as Anwar was present.

B. I was annoyed, still I kept quiet.

C. Neither a borrower, not a lender be.

D. He was sincere and so he gained prominence

S‘ﬁ)l info| Illative conjuction is a word that is used for joining

two phrases/clauses where the first phrase/clause referse to the
second phrase/clause. So the depth of option D is similar to
illative conjunction theory.

d{ DAT

‘He had gone away before I came’. Here the word ‘before’ is
a—. [DAT. 16-17)
A. adverb B. conjunction

C. preposition D. adjective

S[(B)]info |before =6 W4T And 9T F1& I I Conjunction.

Which of the following Sentence is having ‘right form of
verb’? [DAT. 2007-08)
A. A soft wind came and blow the ship back to harbour

B. They appear as though they have just came from a distant land

C. He came up to us bearing a large basket full of huge peaches
D. He go out ten minutes ago

S[@]info] S ‘A’ (S blow «@¥ T s 7 AP IAFL oS
| WA ‘B’ (T came 9T ST come AT AST ST @2
AT ‘D’ (T go OF SR went AP MG AT 20T |

TOPIC &k SENTENCE

0l.

d MAT
Which of the fuliuwing sentence wuses ‘what’ as an
interrogative adjective? [MAT: 09-10]
A. What ! You don’t mean to say so? B. Give me what you can.

C. What book do you want?  D. What do you want?

S[@)]info] Adjective @77 EFRTFT (ATE 2T 41 TTWR |

T (a) (O What (T Interjection, #TT (b) & What (=T
Relative Adjective. &T¥F (c) (& What Z(ET Interrogative
Adjective, THT (d) ¢ What XTI Interrogative pronoun.
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02.

03.

04.

05.

01.

Which of the following sentences is correct? [MAT: 09-10]
A. India is trying to catch up with the advanced countries.

B. A drowning man catches up a straw.

C. He cast about his shoes.

D. He is casting off for an opportunity.

m o5 1 ZCACR J=1%: Appropriate preposition TG |
TF T AT (a) 5 IR Catch up with = CTRY/<RNABIE ST |
India is trying to catch up with ther advanced countries. (9: &S
TS (TG B@ (TRE 68 T90R) | 90T (b) (F I@E Catch up,
g e it I T, «Bf 75e Z@ Catch at. & IHO TS- A
drowning man catches at a straw. (‘ﬂ‘if: GFEH T AT P AT 4T
TS A6 (B ) | AT () (5 FCNR Cast about,7E IWT AT
TR TR, «O1 319 T Cast off-YTT &, 1% IF6 208l- He cast off
his shoes. (W¢: T O GoI Y077 @) | AT (d) S FEZ Cast off
YT (T, 5 WG #ITCeT IR T, 96f 73S A Cast about INSTR
(52 1, ¥% AP ZLoI- He is casting about for an opportunity. (S
fof «sfB sgearst “isar GBr Far) |

Which of the following is the correct “affirmative sentence”?
[MAT: 07-08]

A. You are very fortunate.

B. He was the only man alive a wide sea.
C. How big they are!

D. The first day in Dieppe is very exciting.

S[B]info| (a) = TS Sentence ¥ assertive QBT Exclamatory

Sentence ¥ assertive T |

Exclamatory : How fortunate you are!

Assertive : You are very fortunate.

B. T UfER® Sentence 6 affirmative 2Z& Negative ¢
affirmative =79 9 |

Affirmative : He was the only man alive on a wide sea.
Negative : No man except he was alive on a wide sea.

C. o Tfaf¥® Sentence o Exclamatory Sentence.

D. T TfFR® assertive BT Exclamatory Sentence. Y9 assertive 37 |
Exclamatory : How exciting the first day in Dieppe is!
Assertive : The first day in dieppe is very exciting.

59T (b) 2 TR gF9 affirmative sentence.

T eEit W7 F[5F (Imperative) IF7? [MAT. 2004-05]
A. Do it at once. B. You read it attentively.

C. I wish your success in life. D. Does he go to school?
S[®]info] Verb tx o oW aqWm IFF T () I
qIETET Imperative sentence T G ST, SN, Ay 2wriw

(RIS Imperative sentence 2 |

Which one of the following is an imperative sentence?
[MAT. 2000-01]

A. Do not go near the water  B. Never tell a lie
C. Unless you try hard you will fail D. He is poor but honest

S[®]info| =7 ‘B’ =¥ Never tell a lie & Imperative
sentence. QM TATT =< IFG Imperative Sentence.

‘ d DAT
Which of the following is an assertive sentence?
A. He is one of the most compentent men
B. You are a rouge, and must go away a once
C. He 1s the best boy 1n the class
D. This is easier than other subjects

S[@]info| Subject WA IRT oF T 9R AEH I () AP
Assertive Sentence 2% | W4R ‘He is the best boy in the class’
QL Asserfive Sentence.

[DAT: 10-11]

02,

03.

04.

05.

Which of the following is affirmative sentence?
A. The platinum fob-chain is very beautiful

B. The porier was very fortunate

C. Her love for Jim was very deep

D. It was a very lucky day

Solve: ToTAE WPRGTR 0T FTIGTIS A0S |

Which of the following is a correct affirmative sentence?
|DAT. 2008-09]

A. The old sailor had a strange, mad look in his eyes.

B. Fair words are of no avail in times of danger.

C. In my polite way I discoursed on the condition of the drama
in the Balkans.

D. What a wonderful piece of work man is!

Solve: S°*[ B (5 (@T9 No FAE 2 Affirmative I T |

TS W*NeTER T04T A, C, D f$=52 affirmative sentence.

Which of the following is a correct assertive sentence?
|DAT. 2008-09]

[DAT. 2009-10]

A. She was like a star twinkling in a cloudless sky

B. I have ever been round the sun once a year since I was born
C. There was nothing to do but flop down on the couch

D. I requested everyone in the meeting

Solve: @417 7A&T=NZ Correct assertive sentence.

Which one of the following is an optative sentence?
A. May you pass the examination B. Long live the king
C. I request you to keep quiet D. We are going to the market

S[®info| May + S + V + O — Optative sentence, S + May +

V + O — Affirmative. 35 Jf WHQMPEE SIS Optative

Sentence TF | WA= ‘A’ WR May you pass the examination
Al BT |

[DAT: 02-03]

TOPICRE]  TENSE

01.

02.

03.

Gl VAT

Select the correct tense "I had been studying English for five
years before I moved to the USA”. [MAT: 21-22]
A. present perfect continuous  B. past perfect continuous

C. present continuous D. future continuous

[S[®)]info|e Present perfect continuous — Sub + have/has +
been + Ving.

® Past perfect continuous — Sub + had been + Ving

® Present continuous — Sub + am/is/are + Ving

¢ Future continuous — Sub + shall/will + be + Ving
Identify the tense of the sentence '"She will be starting her
new job from tomorrow"'- [MAT: 21-22]
A. future continuous B. future perfect

C. present continuous D. present simple

[S[Yinfo| ® Future Continuous = Sub + Shall/Will + be + Ving

® Future Perfect = Sub + Shall/Will + have + V3

® Present Continuous = Sub + am/is/are + Ving

¢ Present Simple = Sub + Verb + Object

Which of the following sentence is the present perfect tense
of “I have just seen Mahia”? [MAT: 20-21]
A. I saw Mahia just now B. I have just saw Mahia

C. I just saw Mahia D. I see Mahia now

S info| 29& F<IT Present Perfect Tense. &8 <o
Present Perfect Tense €9 (1 I97 A1 AT AT T 2 |
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04.

05.

06.

07.

08.

Which one is the correct word to fill up the gap in this

sentence: Safrina has lost her cell phone again. This is the
second time this —. [MAT: 19-20]

A. is happening B. has happened

D. happened

C. happens
S!‘Bi info| 2% = FF1A7T Present Perfect Tense AT
R S =1 @16 TS BISHT 00T |

Present Perfect Tense ¥¥ “AfR6T: ‘AT I1& 1T TR 9FHA
IS Present Perfect Tense 939 TA | W Present Perfect
Tense @9 Structure TCR- Sub. + have/has + verb WF past
participle form + object/ extension. &TI& /L 4 FACT WIGE-
Safrina has lost her cellphone again. This is the second time this

has happended. Si<: AT W[T @ &7 @FW fawwg | @em
I ST @f6 <HeT |

Choose the correct word to fill up the gap in the following
sentence: Alam — in Dhaka for ten years. Now he lives in
Rangpur. [MAT: 19-20]
A. is living B. lived

C. has been living D. has lived

S[®]info| @4it7 I =T WSS i IR BIR 9T Past
Indefinite Tense IIZS TJ | ATHE A/ Tf?ﬁlﬁ WIeE- Alam
lived in Dhaka for ten years. Now he lives in Rangpur. Si¢\: <=1
V[ T2 TIFT IPRET PELCET | @47 GT 929 67T I |

Which one of the following is an example of present perfect

continuous tense? [MAT: 19-20]
A. It has been raining

C. It rained D. It had been raining

SIQ] info | &T& qitaT Freitig Present Perfect Continuous
Tense 7F MoF «Rt wwg [ ¢t wces shedl TR |
Present Perfect Continuous Tense 93 G067 A& @I IE OF
LT 9IS 552 U (@R Present Perfect Continuous Tense

2 | ¥ Present Perfect Continuous Tense € Structure T(H&R-
Sub. + have been/has been + verb + ing + since/for... .. ToES%
AR (AT 961 HAFFE @ A1 7T I T0%: (b) It has been
raining =< 38 T(IZ HE |

For present perfect tense, which one of the following is
correct? [MAT.2019-20]
A. Ashraf had gone to Faridpur. B. Ashraf went to Faridpur.

C. Ashraf has gone to Faridpur. D. Ashraf has been to Faridpur.

S[@®)]info| &Tiji= AT FrFET7T Present Perfect Tense T3
AT R =R 1 GIb S BIeaT TR |

Present Perfect Tense «fd5d: ‘Gt I& [ TR 9FA
(ARITE Present Perfect Tense ®F | W9 Present Perfect Tense 49
Structure 2WCR- Sub. + have/has + Verb @ Past Participle +
object/ extension. 3EF 75 87 2 (d) Ashraf has gone to
Faridpur &<: SEF FRwe7 Hiee |

For present continuous tense, which of the following is
correct? [MAT: 19-20]
A. Don't make so much noise I am trying to work.

B. Don't make so much noise, I had tried to work.

C. Don't make so much noise, I tried to work.

D. Don't make so much noise, I was trying to work.

S info| 4T4=F =T Present Continuous Tense
T MF AT SR 1 @16 TS 5rea TR |

Present continuous Tense 9 <ifd5d: (&=l FH QIT 5708’
Gm? @RICE  Present Continuous Tense ZHA | IF Present
Confinuous Tense €€ Structure ¥UE- Sub. + am/1s/are + verb +
ing + extension.

B. It rained

09.

01.

02.

03.

04,

05,

06.

Which of the following sentence is the correct example of
“past perfect continuous tense”? [MAT: 07-08]
A. We have been living here for five years

B. What was she doing in the last evening?

C. At that time Shama had been writing a novel for two months.
D. The trian had started before I reached the station.

Sf@linfn T4 (a) =T : Present perfect continuous tense.
2T%< (b) ZCET : Past continuous tense. &ATEF (c) TCAT : Past perfect
continuous tense. #THT (d) TCE: Past perfect tense.

A

DAT

Select the correct in the following sentence: "1 will have studied

every tense by the time I finish the course." [DAT: 21-22]
A. Future perfect tense B. Present perfect tense
C. Past perfect continuous tense ~ D. Simple past tense

SN WhY| SRER 57 WI#F @S by + future time, by then, by
that time, by the end of + future time etc. A<l Future Perfect

Tense M T4 27 |

Future Perfect: 1 will have studied the tense.
Present Indefinite: I finish this course.

TS principal clause @ future perfect tense AT TI2 AT TG
future perfect tense (I |

Which of the following is an example of present perfect
continuous tense? [DAT: 21-22]
A. The baby 1s crying B. The baby was crying

C. The baby had been crying D. The baby has been crying

[SIDIWhY| o <18 WSS &F T T 44T 5z 9FH T[S
Present Perfect Continuous Tense ZH |

Assertive: Subject + have/has/have not/has not + been + I verb
+ 1ng + extension |

Choose the correct tense of the sentence, ‘It was raining
when I got up’. [DAT: 20-21]
A. Simple past tense B. Past continuous tense

C. Past perfect tense D. Present continuous tense
S[@)]info| Subject + was /were + Ving + object — Past
continuous tense

Which is the correct word for the blank? Rafiq — while we
IDAT. 19-20]

were having dinner.
A. phoned B. was phoning
C. will phone D. has phoned

SI@]infu While T% clause G7® Past Continuous tense <
Sjt49 clause & Past Indefinite Z |
What is the correct tense in this sentence? “Mansur has been

using this pen for the last five years”. [DAT. 19-20]
A. Past Perfect Continuous B. Present Perfect Continuous

C. Past Perfect D. Present Perfect

Sl@] info| Present Perfect Continuous tense «€¥ Structure:

Subject + has been/ have been + verb @9 1ng.

“The workers were working on the building”. What is the

correct tense in this sentence? [DAT. 19-20]
A. Present Perfect B. Past Continuous
C. Present Continuous D. Past Perfect

SI@I info| Past Continuous tense 99 Structure: Subject + was/
were + verb 9T ing.
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07.

08.

09.

10.

11.

01.

“I will be leaving tomorrow”. What is the correct tense in

this sentence? IDAT. 19-20]
A. Present Continuous B. Present Simple
C. Future Perfect D. Future Continuous

S[(®]info| Future Continuous tense €% Structure: Subject +

shall be/ will be + verb @¥¥ ing.

Which of the following sentence is an example of active and
present indefinite tense? IDAT. 2009-10]
A. He is writing a letter B. I have invited them

C. He had done the work D. Floods destroy crops

S[(]info]| Present Indefinite Tense @ Subject TW Plural T
S Verb ‘s’ AT 1 @R 9TT Verb U Present form 211 4ft
Active . TSET F ‘D’ 0K TS TEF |

Which of the following is an example of present perfect
tense? IDAT. 2008-09]
A. He began Learning English since the age of ten

B. I am going to Moscow tonight

C. Tanveer has been suffering from fever since Sunday last
D. He has been here since Monday

S[(®]info| Present Perfect Tense @ Structure R Auxiliary Verb
271t Have SRl Has = @42 5 Verb «¥ Past Participle 2 | W43

I TB TR T ‘D’ SR He has been here since Monday.

Which of the following is an example of past progressive
tense? IDAT. 2008-09]
A. What was she doing in the last evening?

B. We had hardly started when it began in rain.

C. When I met the boy, he had been crying for several hours.

D. They had reached the school before the bell rang.

SI@, info | Past Progressive U9 Structure Was/Were + = Verb

AT A ing ASAT AT TG W A’ WL What was she doing

in the last evening?

Which of the following sentence is the correct example of
‘future perfect continuous tense’? [DAT. 2007-08]
A. You will be doing the work

B. I shall have done the work before my father comes

C. Before you go to see him, he will have left the place

D. I shall have been doing the work before my father comes

S[(D]info| Shall have beer/Will have been + I Verb &3 X ing
T& = Future Perfect Continuous Tense 793 ©&F 208 WA ‘D’
SR I shall have been doing the work before my father comes.

TOPICRE]  VOICE

d MAT

The correct passive voice of the sentence “who taught you
grammar?” is- [MAT: 20-21]
A. By whom you taught grammar?

B. By whom were you taught grammar?

C. By whom was you taught grammar?

D. By whom grammar was taught you?

S[‘B] info| Who @3 <iffats By whom + Tense 49% person
ST Auxiliary verb + object-4¥ subject + ((FF &M T

tense SART “be/being/been” IAZS TH) + Verb-9F past
participle + S & |

= Who taught you grammar? Ans: By whom were you taught
grammar?

02,

03.

04.

(5.

06.

Which one of the following sentences is in the passive form?
[MAT: 19-20]

A. Somebody 18 using the computer now.
B. Somebody has cleaned the room.
C. The room has been cleaned.

D. They are building a new road in the city.

SI@I info | Passive voice @9 & Present Perfeect 99 Structure
TLR: Subject + have/has + been+ verb @9 Past Participle form.
T[T JFTSTETF 0T Option (c)- 2 Passive Voice TS QYT the
room object M J[T ©F TCACR AT Passive voice 9T &N
STATET IME Option (a), (b) 8 (d) Active voice ToYT e T
Z@ (c) The room has been cleaned. W< =0 #IM%R 371 TEE |

Which one is the correct active sentence of the passive form-

‘English is spoken all over the world’. [MAT. 2017-18]
A. People speaks English all over the world.

B. All people of the world speak English.
C. People speak English all over the world.
D. All the world people speak English.

SI@I info| TXF Sentence {6 Passive Voice 9T Present
Indefinite Tense. 75 <4

Passive English is spoken all over the world. (9%
ERENIRGEERGIEAEE ol
Active People speak English all over the world. (<

frastl SR Bgfens IR ITET 1)
The best passive form of the sentence- ‘What do you want?’
is- [MAT: 16-17]
A. What was wanting by you? B. What was wanted by you?
C. What is wanted by you? D. What is wanting by you?
S{(®)]info| Active : What do you want?
Passive : What is wanted by you?
Note:| Interrogative sentence €9 passive voice F9E N4 Wh-
question 99 What, Where, Why, How, Which- 9&T&[ passive
IR STFCSS (AT I | 7 active 97 $FTS Who AT passive
T SFCS by whom T | 6T SAIZATETT 775 359:
THIZA- Active : What does he want?
Passive : What is wanted by him?

Change the voice of- “Who is calling me?” [MAT. 2015-16]
A. By whom am I being called? B. By whom am I called?
C. By whom I was called? D. By whom I am called?

m S L] ﬁ'ﬂﬁ-‘ GEaig Interogative Sentence 9 Passive
voice BISAT MR | “Who’ % Interrogative Sentence (F Passive
TR @ z=: By whom + auxiliary verb + object + be/ being/
been + Verb Past Participle f=@et:

Active 8 Passive Voice =& :

Active: who is calling me?
Passive: By whom am I being called?

Choose the best possible passive form- ‘who is calling me?’
[MAT. 2014-15]

A. By whom I am called? B. By whom I am beling called?
C. By whom am 1 being called? D. By whom have 1 been called?

SI@I info| 2vG &=t W Interrogative Sentence I9 Passive
voice DNSAT TECR | “Who’ T% Interrogative Sentence TF Passive
9 @ =t® By whom + auxiliary verb + object {69 Subject +

be/being/been + Verb Past Participle. S4ReE FaspE at(=
Interrogative Sentence 63 Active '8 Passive Voice =@

Active : Who is calling me?
Passive : By whom am I being called?
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07.

08.

09.

10.

11.

The best possible passive form of the sentence ‘“We don’t like
idle people’ is- [MAT. 2014-15]
A. Idle people are not liked by us.

B. Idle people are not like us.

C. Idle people are not of our liking.

D. We are not like by idle people.

S info| Voice 3™t RIS Wi 0T SR, SFT 7R G2
AT=F &7 TS “IR | Subject (& Object TS T, I Verb 9T
Past participle I971C® Z¥ W3R Object €F 9T by IS T |

Active : We do not like idle people.

Passive : Idle people are not liked by us.

Which one of the following is the correct passive form of the
sentence ‘I can recite the poem’? [MAT: 12-13]
A. Recitation of the poem is possible by me

B. The poem could be recited by me

C. The poem can be recited by me

D. Recitaion of the poem can be performed by me

S|@Iinfn Active Voice 4 Modal Auxiliary 95T Passive
FA9 7T @ Auxiliary’d AR @36 be FICS 7 9R T Verb @
Past Participle IHITS T |

Active Voice: I can recite the poem. (9¢: wifyy IR =FE
TS A7)

Passive voice: The poem can be recited by me. (9<: <SR 7&1
FESIG WJE FAM ATS AR)

Which one of the following is the correct passive sentence?
[MAT. 2011-12]

A. The signal was opened by the traffic police.

B. The signal is being opened by the traffic police.
C. the signal was being opened by the traffic police.
D. The signal was to be opened by the traffic police.

S[#info| To open a signal 97 continuous form W42 | B2 (b)
6 (c) APT T W3S (d) 9T WS S_BI I FATHGAY
AT & |

Which of the following is active with verbal noun with
preposition & object? [MAT: 10-11]
A.T1saw him go to the garden. B. Amina Joy made us laugh.

C. I am to make a telephone call.
D. We went to see the launching of the ship.

SlIDI info| &TfF T I OISE TEACE (verbal noun with
preposition & object), ©f @ AT (d) (B2 TER| 7=
F4:Verbal noun &2 & ing & verb ¥F SFTS the ¢ AW of
A5 T AW @ verbf® noun 9T FIE FE S SILF verbal noun
T T | @59- The reading of newspaper is a good habit. The
smoking of cigarette is bad for health. ©2t underlined verb T
ZLET Verbal noun.

Which of the following sentences is passive with reflexive
object? [MAT: 10-11]
A. He was elected president by them.

B. He was hurt by himself. C. You are requested to go there.
D. there are lots of things.

S[B]info| 2T (a) (b) (c) (5 SFRT Sentence ot passive
voice. ©9 Reflexive object IR (=7 (b) (T | Myself, yourself,
himself, themselves, ourselves 3951w Z=T Reflexive pronoun. 9
7WiZ object R T97® = |

Active : He hurt himself. (7 (e SI€I® FEER) |

Passive : He was hurt by himself. (%7 te@ 91 ©1z® I00R) |

12.

13.

14.

15.

16.

17.

18.

Which of the following is a Passive sentence? [MAT: 09-10]
A. She was very talkative. B. I feel a little humiliated.

C. Time passes very fast. D. They are quite mistaken.
S!@I info| &T4% Sentence ST W &I (d) 2 Passive
sentence They are quite mistaken. W& SIAA FT=HC T ZCACE |
BT, AT (b) (& Passive 93 T® I TS @Bl Active, I
QYT &I verbfb ZCAT fell I active form ¥ GTTE |

The correct passive form of the sentence: “Take care of your

health” is- [MAT. 2006-07]
A. Let your health taken care of. B. Health is taken care by you.

C. Let your health taken care. D. Let your health be taken care of.
S[]info| Active : Take care of your health.

Passive : Let your health be taken care of.

«BT Imperative sentence, ©2 $F(S Let IFCH object €T 2@ be
AN T | T &0 voice TH 9

Active : Look at the scenery.

Passive : Let the scenery be looked at.

“The teacher made him go outside of the class” JioT A

passive voice 3 ZA? [MAT. 2004-05]

A. He was turned out of the class by the teacher

B. he was made to go outside of the class by the teacher

C. He had go to outside of the class made by the teacher

D. He was made outside of the class by the teacher

SI@I info| Object (¥ Subject FICS LI | HAAT Verb ST
Auxiliary Verb T7T® T@ | OR#F IR WA T | €92 by +
subject (& Object R TMTE 2 |

Active: The teacher made him go outside of the class

Passive: He was made to go outside of the class by the teacher.
“It is known to me how it was done by him” JZjoq A

active voice J ZA? [MAT. 2004-05]
A. I know how he has done B. I knew how he has done

C. I know how he did it D. I knew how he did it

S[®) info| 92 47T =SB Voice Change:

Active: I knew that he would do it.

Passive: It was known to me that it would be done by him.

“He decided to sell the house”- 9% IFIHT AT passive voice

@Ho? [MAT. 2004-05]
A. It was decided by him to sell the house.

B. He decided that the house shall to sold.

C. he decided that the house 1s sold.

D. he decided that the house is selling.

Voice 99 (F@ Object 9d iﬁf by TG |

SE@] info
passive I[FJ &7 Who opened the door? [MAT. 2003-04]

A. By whom was the door opened?

B. The door was opened by whom?

C. By whom the door was opened?

D. By whom was opened the door?

SI@i info| active '@ passive voice € OP2 AT g Twizgd-
Active : Who did the work?

Passive : By whom was the work done?

G2 HFCIT SWESG Voice change:

Active : Who wrote the letter?

Passive : By whom was the letter written?

Ao passive IFT (F6? The peon opened the gate. [MAT. 2003-04]
A. The gate was opened by the peon.

B. The gate was being opened by the peon.

C. The gate 1s being opened by the peon.

D. The gate was to be opened be the open.
S[®info| Past Indefinite Tense 9F Voice @3 1@ Auxiliary

Verb RT3 Was AT Were 2, 6 Verb @3 Past Participle 432
Object ¥ 2TF by I0T |
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19. < Passive I9T @162 All his friends laughed at him.

20.

01.

02.

03.

[MAT. 2003-04]
A. He was laughed at by all his friends.
B. He was laughed by all his friends.
C. He was laughed over by all his friends.
D. He was being laughed by his friends.

S[@]info| Tense STAMET Active (& Passive T4 799 Auxiliary
Verb J9TS %@ | Appropriate Preposition 90 S @32 A0

EISH
Active : All his friends laughed at him.

Passive : He was laughed at by all his friends.
Who did this? 3fé< Passive voice (FIHi6 Z(4?

A. By whom was this done?
B. By who this was done?

C. This was done by whom?
D. By whom this was done?

E@m Active voice 99 TFCS Who {96, Passive Voice @
by whom Z(d | IRFIGF SIS FACNS Passive voice T |
TWIzdd- 1: Act : Who did this?
Pass : By whom was this done?
2: Act : Who called you?
Pass : By whom were you called?

‘ d DAT

Which one is the correct active sentences of the passive form.
The wounded man was being helped by some boys? [DAT. 17-18]
A. Some boys were helping the wounded man.

B. Some boys helped the wounded man.

C. Some boys were helped the wounded man.

D. Some boys were being helped the wounded man.

SI@linfﬂ Active (ATF Passive TFF 94 Past Continuous Tense @9
FREIFET Verb RETT Was/were 07 @32 T9 Verb @3 AL ing 67 |

Which one is the correct active sentence of the passive form?
‘Promises should be kept’ IDAT. 16-17|
A. You should keep your promises

B. One should keep one’s promises

C. He should keep his promises

D. One should keep his promises

S[@]info] Voice @3 (@ Modal Auxiliary ¥R Active (/TS

Passive $99 39T & Modal 93 “T@ be ICT 4R T Verb b7 Past
Participle S0 |

[MAT. 2002-03]

Which of the following sentence is passive with a
complement verb? [DAT: 10-11)
A. The drums are being beaten

B. The rose is sweet when it is smelt

C. The trumpets are being sounded
D. The cows are being milked

Sl@liﬂfn g HoF ‘B’ (52 Complement Verb ICE | Si3
G B’ T AT ©6d WLR ‘The rose is sweet when it is
smelt.’

Which of the following sentence has factitive object? |DAT: 10-11]
A. He was made king by them B. They were talked of by us

C. Puffed rice is not liked by me D. Had he not called by you?
Sl@linfn Factitive Verbs are used to indicate the resulting

condition or state known as the object complement. SET A

‘A’ TR T T |

05.

06.

07.

08.

Which of the following sentence is the correct example of
“passive voice of the Intransitive verb”? |DAT. 2007-08]
A. He must be punished by you.

B. Have her Jessons been learnt by Nasima?

C. The lame man was laughed at by the boys.

D. We are laugh at grammar by Mr. Omar.

S[@]info] An Intransitive Verb is defined as a verb that does
not take a dirrect object TSET 7oF Tag 97T C’ 9IR The
lame man was laughed at by the boys.

Identify the correct passive form of the following sentence.
‘Fayeza is singing a song.’ |DAT: 05-06]
A. A song is being sung by Fayeza

B. A song was sung by Fayeza

C. A song is sang by Fayeza  D. A song is sung by Fayaza
[S[@]info] <51 Voice &7 e fFam Wi g | 7% e
=M A’ 99 A song is being sung by Fayeza.

‘The old sailor saw the companions fall down dead’ I
3% Passive voice & 27 |DAT: 04-05)
A. The companions were seen fall dead by the old sailor

B. The companions see to fall down dead by the old sailor

C. The companions were seen to fall down dead by the old sailor
D. The companions seen fall dead by the old sailor

S[@]info| Tense ST Auxiliary Verb € I Verb @@ Past
Participle ¥ TETZ| I00F @7 w9 ‘C’ W= The
companions were seen to fall down dead by the old sailor.

‘He was marvelled at the beauty of the girl’ JFIioa Ao
active voice & 7 IDAT: 04-05)
A. Beauty of the girl marvelled him

B. The beauty of the girl marvelled him

C. Girl’s beauty marvelled him

D. Girl’s beauty made him marvelled

S[®Yinfo| Voice @3 7= @ W@ Passive (}TF Active
T A | PF TET WA ‘B’ WER The beauty of the girl
marvelled him.

09. ‘My pocket has been picked’ G ASE Passive I (F0?

[DAT. 2003-04]
A. Some one has been picked by pocket

B. Some one has picked my pocket
C. Some one have picked by pocket

D. Somebody has picked my pocket
ST info]w- B, D So1% #B

10. ‘Kabir is reading this book’- a7 ST Passive IT FAG?

11.

12.

[DAT. 2003-04]
A. This book 1s being read by kabir

B. This book is being reading by kabir
C. This book is reading by kabir
D. This book is read by kabir

S info| 5% 57 =7 ‘A’ =R This book is being read by kabir.
“Who open the door’-97 ST Passive 9T (P0G ?|DAT. 2003-04]
A. By whom the door was opened?

B. By whom was opened the door?

C. The door war opened by whom?

D. By whom was the door opened?
S[@iinfu Who 20T By whom 3@ | A0S TG 97+ ‘D’
e By whom was the door opened?

‘He pleased us?’- T Afde passive voice =  |DAT: 02-03]

A. We were pleased by him  B. We were pleased to him
C. We were pleased with hm D. We were pleased upon him

S[@®]info]| Object 4T Object (= Subject @2 Tense IR
Auxiliary Verb J9TICT 2R | A5 Passive voice T ST <C
5<f1e We were pleased with him.
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TOPIC KL NARRATION

01.

02.

03.

04.

MAT
She said, "I taught in many school''-what is the direct speech

|

of this sentence?

A. She said she had educated in many schools
B. She said that she taught in many schools

C. She said she had taught in many schools.

D. She said that she had taught in many schools.

m Q{7 reporting verbfd Z& said. =Rl i,
reporting verbfs past tense 99 2 reported speech 4F tense- 8
JffqST =W | W Direct Speech- @ reported speechf® Past
Indefinite Tense ZCT Indirect speech- @ reporting verb6d #Ita
%S 391 (") BT BT GRS That VIS T | OF 9T Assertive
Senence € convert 909 AT |

Which one is correct after change of speech of the sentence,
“Karim says that he did not go”? [MAT: 13-14]
A. Karim says, “ [ have not gone”,

B. Karim says, “I did not go.”

C. Karim says, “he did not go.”

D. Karim says, “ I do not go.”

S[®)]info| @ =f® =& Narration. 7 3=

Direct : Karim says, “1 did not go”.

Indirect : Karim says that he did not go.

Note: Q4 W& 97 ZC=1 reporting verb T says. SISET i,
reporting verb present tense @9 X[ reported speech €d tense
faeq 2¥ 7| TF reporting verb WF subject FFNE reported
speech W38 subject change 2 | 12 W2 &= AT TG A (b)
Which one of the followings is correct indirect speech of the
sentence. He said, “Do you know me”? [MAT: 12-13]
A. He inquired whether 1 knew him

B. He asked me that whether I knew him

C. He told me that whether I khew him

D. He asked me that if I know him

S info| @Tx @78 Direct Speech & = He said, “ Do you
know me.”? ®AfI®E direct speech 5% #3F indirect speech TI
ff=@: He inquired whether I knew him @1, He inquired if I
knew him. 91991, He asked whether I knew him. W41, He asked
if I knew him.

W29, He asked me if I knew him. S99, He asked me whether 1

knew him. ©=fd®% JR&T indirect speech 2 correct, € 7% 39
(FIIBIATS that (72 | W IS ZE Interrogative Sentence 93

indirect speech @ that I |

Choose the best indirect form of the following sentence: “Do
you know the way to the zoo?” She said to robin. |MAT. 2011-12]
A. She asks Robin if he knows the way to the zoo.

B. She asked Robin whether he knew the way to the zoo.

C. She asked Robin whether he knows the way to the zoo.

D. She ask Robin of the knew the way to the zoo.

m ATEE (a) 8 (c) T Knows 49 99%[{ 49 FMET tense
T TF TRAS T | (d) 9T ST&T 26T (L. . of the knew

the way .. ... ...) AIFANAL T |

[MAT: 19-20]

05.

06.

07.

08.

Which of the following is the correct direct form of this
sentence? He said with joy that was a very nice thing.|MAT: 08-09]
A. He said, “A nice thing it is!”

B. He said, “What a nice thing it is!”

C. He said, “What a nice 1t is!”

D. He said, “Which a nice thing it is”

S!{B| info | Indirect: He said with joy that was a very nice thing.
Director: He said, *“ What a nice thing 1t is!”

©rg<7, Exclamatory Sentence €% (%@ Indirect Narration @
Reporting verb & exclaimed with joy, exclaimed with sorrow
and exclaimed with wonder 2%71W IC7 | WL_T @ @FF A9 said
with joy, said with sorrow €<% said with wonder TS 20T | =
Indirect Narration @ adjective ¥¥ "[{Ff very 077 | ATHT& Narration

o it =79F <9 | ©F Narration & F=&ers = ATs-

Indirect : He exclaimed with joy that it was a very nice thing.
Direct : He said, “What a nice thing it is!”

Which of the following is the correct indirect form of this sentence?
She said, “Oh! How charming the scenery is!” [MAT: 08-09]
A. She exclaimed with wonder that the scenery was very charming.

B. She with wonder that the scenery was very charming.

C. She exclaimed wonder that the secnery was very charming.
D. She exclaimed with wonder that the scenery very charming.

S‘@l info| Direct T3¢ Indirect Narration $€9[¥ 94 reported
speech 99 exclamatory sentence fo assertive sentence 9 FAERS
z¥ 9 adjective 97 T very T | WF reporting verb & S_EITIE
exclaimed with joy (W CFd); exclaimed with sorrow (5049
CF@) 992 exclaimed with wonder (SMSEE CF@) ZONWCS
@S = | RO that ICT | TS Narration & Faet:

Direct  : She said, “Oh! How charming the scenery is!”
Indirect : She exclaimed with wonder that the scenery was very charming.
Which of the following is the correct “indirect form™ of this

sentence? The teacher said, “Mohsin was good and kind and

he helped every one” [MAT: 07-08]

A. The teacher said that Mohsin was good and kind and he
helped everyone.

B. The teacher said that Mohsin was good and kind and he
helped everyone.

C. The teacher said that Mohsin was good and kind and he help

everyone.
D. The teacher say that Mohsin was good and kind and he

helped everyone.
S[Ainfo| ©F€% Direct Narration & «arwg T&ET TZFm
TP O | Wo9d Wb foxss o7 e w3tz | iR
2o 110 TGT T | (a) (OF 7 20T (012 ATIF TGF ZCoT ) |

Which of the following is the correct “direct form” of this
sentence: Columbus wanted to know whether any of them
coul make an egg stand on end.”? [MAT: 07-08]
A. Columbus said to them, “Can any of you made an egg stand on end?”

B. Columbus said to them, “Can any of you make an egg stand on end?”

C. Columbus said to them, “Can any of you make an egg stood on end?”
D. Columbus said to them, “Can any of you make a egg stand on end?”
S!ﬁﬂ info | Interrogative Sentence TATF 9% Narration 6 787 TEZ |
Direct: Columbus said to them, “Can any of you make an egg stand on
end.” (9: TR AR 779, (SHIMT T (T ¢ 9T WL @ GF0
foute BT/ U ITEs ToF A9t 30 ANCS *A1E?)

Indirect: Columbus wanted to know whether any of them could
make an egg on end. (W< ITICT TSGR ST (@FC GF0

TN 1T A0S THAT TSl T 4TS AT 1 1) |
Or, columbus asked them whether any of them could make an egg
stand on end. (I FEFT TIWT IR (ATF TS (GERET ST (@8

G0 BN TR GF ST T ST I TS <A [T 1) |
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09.

10.

11.

12.

13.

Choose the correct indirect speech- He asked me, “Are you
happy in your new job”? [MAT. 2006-07]
A. He asked me if I had been happy in my new job.

B. He asked me if I have been happy in my new job.

C. He asked me if I was happy in my new job.

D. He asked me whether I am happy in my new job.

M Direct: He asked me, “ Are you happy in your new job?”
wd: o7 W et e, "o 6 comm g v 34 1
Indirect: He asked me if I was happy in my new job. &<: @1
S fEreerT Tafee i SR Fo SrReaes = {54 |

Choose the best indirect form of the following sentence; “Do

you know the way to the station?” She said to Mahin. [MAT: 05-06]
A. She asked Mahin whether he knew the way to the station.

B. She asked Mahin whether he knows the way to the station.

C. She ask Mahin of he knew the way to the station.

D. She asks Mabhin if he knows the way to the station.

m Interrogative Sentence “¥ Indirrect TR N

Inverted Comma’d 2T<r® If w24l Whether 07 |

Direct: “Do you know the way to the station?” She said to Mahin.
Indirect: She asked Mahin whether he knew the way to the station.
Change the following sentence into indirect speech: Amin
said, “I have been working since 9 am” [MAT: 05-06]
A. Amin said that he is working since 9 am.

B. Amin said that he has been working since 9 am.

C. Amin said that he has worked since 9 pm.

D. Amin said that he had been working since 9 am.

SlIDI info| Assertive Sentence-99 Narration 99 %0 Inverted

Comma © fSI@ That I0T1 9IGT Present Perfect Tense @¥
%79t Past Perfect Tense ZATE |
@1 3% sentence? [MAT. 2003-04]

A. He asked me to hold my tongue.
B. he said me to hold my tongue.
C. He told me to held my tongue.
D. he said me to held my tongue

Sl@l info| 27 (a) (S OfET &% sentencel® 5 @Fb Indirect
narration I Direct narration LI

Direct : He said to me, “Hold your tongue.”
Indirect : he asked me to hold my tongue.
TLEry QT asked 9T B told 8 TS SARCST | 7€ FUC t0 7 o

held 29 =T hold (Present form)-held (Past form)-held (P.

participle)

@B fé% Indirect speech? The teacher said to me, “You
are wrong” [MAT. 2003-04]
A. The teacher told me that I was wrong.

B. The teacher said to me that I was wrong.
C. The teacher said that I am wrong.
D. The teacher told me I was wrong.

S[@info| Reported I™ assertive sentence TA BT Reporting
verb said TITE told @ FAWHES T@ | O@ said 9F 27 G@I0
Personal pronoun 4TS (T | (@9, said to me, said to him, said

to her 29717 |

14.

15.

16.

01.

02.

Which one of the followings is correct indirect speech of the
sentence “He said, “Do you know me”? [MAT. 2003-04]
A. He inquired whether I knew him.

B. He asked me that whether I knew him.

C. He told me that whether I khew him.

D. he asked me that if I know him

S!',M info| @7 @%9 Direct speech {6 Z=: He said, “Do you
knew me”? ©4faS% direct speech B9 3+ indirect speech ZA
¥ ==: He inquired whether I knew him. %=1, He inquired if I
knew him. W94l, He inquired if I knew him. SI%€l, He asked
whether I knew him. S99, He asked if I knew him. W41, He
asked me if I knew him. 991, Heasked me whether I knew him.

T FC& ST Indirect speech 2 correct, [$€ 7% 39 (OS2

that T92 | W FRTE T Interrogative Sentence @¥ indirect
speech @ that I |

I said to him “I don’t believe you”. @2 Direct JF64 A
Indirect T3HG? [MAT. 2002-03]
A. I said I didn’t believe him. B. I didn’t believe him, I said.

C. I said that I don’t believe him D. I said that I didn’t believe him.
S!@I info | Direct TITF Indirect 9 N4 Present Indefinite

Tense 4171 Past Indefinite Tense 0@ 24 |

Direct : I said to him. “ 1 don’t believe him.
wgeeq F: I told him that I didn’t believe him.

He said “be quiet and listen to my words” ¥ Direct 754

3o Indirect T FG? [MAT. 2002-03]

A. He asked them to listen his word and be quiet.

B. He urged them to be quiet and listen to his words.
C. He said them to listen him and be quiet.

D. He ordered them to listen his words quietly.

S[®]info| Direct: He said. “ Be quiet and listen to my words”
Indirect: He urged them to be quiet and listen to his words. (f&f
SARE & TETR T 8 S T G WL N AT

C:K; DAT

I said to him, “How long will you stay?” He replied, “for five

days,” Which one of the following is the correct indirect form

of above sentences? [DAT. 2008-09]

A.T asked him how long he will stay. He replied that he would
stay for five days

B. I asked him how long he would stay. He replied that he would
stay for five days.

C. T ask him how long he would stay. He replied that he would
stay for five days.

D.I asked him how long he would stay. He reply that he would
stay for five days

SIIBI info| Indirrect 9 ¥ Interrogative Sentence 9« Said
47 ARECS Asked T @R Will #F3¥® 2 Would =11 7i6s
Tad T 9T ‘B’ W4R I asked him how long he would stay.
He replied that he would stay for five days.

Which of the following is the correct indirect form of this
sentence? He said to me, “Are you ill?” I replied, “No.” [DAT. 08-09
A. He asked me if T was ill. I replied that I am not

B. He asks me if I was ill. I replied that I was not

C. He asked me if I was ill. I replied that I was not

D. He asked me if would ill. I replied that I was not
S[@]info| Direct TF Indirect T WA Present Indefinite

Tense AT Past Indefinite Tense FACS 2T | AT ©&q WA= C’
5¢f1e He asked me if I was ill. I rephied that I was not.
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03.

04.

05.

06.

07.

08.

Which of the following in the correct “direct form” of this
sentence: “He requested me kindly to lend him some
money.” IDAT. 2007-08]
A. He says to me, “Please lend me some money.”

B. He said to me, “Please lend me some money.”

C. He says to me, “Please lend some money.”

D. He said to me, “Please lend some money.”

S[(®]info| Direct (> Indirect 1% 357 Imperative Sentence €3

=6 Inverted Comma’d 2fAATS requested ICT| 7T T&7 TR

o ‘B’ SR He said to me. “Please lend me some money.”

Which of the following is the correct “indirect form” of this
sentence: Galileo declared, “The earth moves round the
sun.” |IDAT. 2007-08]
A. Galioeo declare that the earth moves round the sun

B. Galieo declared that the earth moved mind the sun

C. Galileo declared that the earth moved round the sun

D. Galileo declares that the earth moves round the sun

S[@®]info| BT o7 AT F@ direct €T Indirect 9
reported Speech ¥ (I “fFaS= 27 =1 | Ao Tea TR WA ‘C’
5, Galileo declared that the earth moves round the sun.

Which of the following sentences is the correct indirect form

of speech? [DAT: 06-07]

A. The teacher told to the students that the more you read, the
more you learn

B. The teacher said to the students that more you read, the more
you learn

C. The teacher told the students that the more the read the more
they learn

D. The teacher said to the students that the more they read, the
more they learn.

SI@' info| Assertive Sentence 9 Said to €T #FACS told ITT |

Choose the best indirect sentence of the following Nazneen
said, ‘Farzana isn’t boiling the soup yet? |DAT: 05-06]
A. Nazneen ask Farzana if the soup was not boiling by that time
B. Nazneen asked Farzana the soup was not boiling by that time
C. Nazneen ask Farzana if the soup is not boiling by that time

D. Nazneen asked Farzana if the soup was not boiling by that time

S[®]info| Interrogative Sentence @F Narration 97 C¥FG@
Inverted Comma ¢¥¥ RIS If/whether ITT @< Present
Indefinite Tense “I©af$® T Past Indefinite Tense 2T |

Nafisa said, “I must write a letter” JIFIOT #f5F indirect
speech & z@? [DAT: 04-05)
A. Nafisa said that she had to write a latter

B. Nafisa said that she should write a letter

C. Nafisa said that she would write a letter

D. Nafisa told that she shall write a letter

SI@] info | Direct (¥TF Indirect €€ M9 must AT had to 0T |

7o TET WA <A’ IR Nafisa said that she had to write a latter
‘Rumi said that he would go home the following day IiFIod
W5 direct speech & 232 |DAT: 04-05)
A. Rumi said, “I will go home the next day”

B. Rumi said, “Shall go home the next day”

C. Rumi said, “I shall go home tomorrow™

D. Rumi said, “I will go home tomorrow™

SI@Iinfu Direct 9@ tomorrow U0 Indirect 49 J94 the

following day I7T @32 will @3 “fFRCS would IFT | AT T&F
o D’ 94 Rumi said, “I will go home tomorrow”

09. He said to me ‘I don’t believe you’ 9¥ 3

10.

01.

Indirect speech
[DAT. 2003-04]

@Ho?

A. He told me that he does not believe me
B. He said that he do not believe me
C. He said he didn’t believe me

D. He said he does not believe me

S{M]info| Direct TIF Indirect ¥ VT Present Indefinite
Tense AT Past Indefinite Tense FACS T | BT GGF T A’
547 He told me that he does not believe me.

Karim said, ‘I cannot do it now’ aF 9% Indirect speech
@D ? [DAT. 2003-04]
A. Karim said he could not do it now

B. Karim said that he could not do 1t then

C. Karim said he cannot do it now
D. Karim told he could not do 1t now

S[(®)]info| Direct (¥t Indirect T 9T Can LT Could FC7 |
e ©6g WM ‘B’ W Karim said that he could not do it then.

S'w.
o Il AFViC
He said, Be quiet and listen to my words.- L A

Indirect Speech (36?7 [AFMC: 21-22]

A. He said them to listen to him and be quiet

B. He urged them to be quiet and listen to his words
C. He asked them to listen to his words and be quiet
D. He ordered them to listen to his words quietly

SDIWhY| v ©ERS sentence T 9o Imperative sentence.
Imperative sentence 9 said 93 AFICS -

® HA*l — Order/command/urge ® SILIH — Request

® T ~ Suggest e T84 ~ Prohibit/Forbid

® TATT — Advise IJIT© T |

S D (& Ordered TS Quitely @F 2fFATS be quiet AFET
A5 2T |

TOPIC = PREPOSITION

01.

02.

03.

04.

ol AT

Which of the following sentences contain an incorrect
appropriate preposition? [MAT: 21-22]
A. Clothed with shame, she left the palce

B. He complied with my request

C. Early rising it conducive with health

D. He was charged with theft

S{®]info | Condusive 9% 1T Preposition — to JC7 |

Fill in the blank with appropriate word "am very
proud — you”. [MAT: 21-22]
A.1n B. for

C.of D. to

:

®)]info| Proud @9 =9 Preposition — of I97® 27 |

Fill in the blank with the appropriate option. “—— the word
in the dictionary”. [MAT: 20-21]
A.look to B. look up

C. look over D. look after

Look up (¢4T%): Look up he word in the dictionary.
Fill up the blank with appropriate word. I am glad — your

glorious result in the examination. [MAT: 20-21]
B. of C. for D.to

Glad at (S¥7%)- I am glad at your glorious result in the exam.

&
:

w| >
@E
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05.

06.

07.

08.

09.

10.

11.

Fill up the blank with appropriate word: A good teacher
dicover the treasure hidden — each student.[MAT: 20-21]

A. with B. within

C. in D. inside

S[(®)]info| A good teacher discovers the treasure hidden inside
each student. (UFE Si=T Fres oo el wBFARe I8
T ST FE 1)

I am accustomed — such a life. fill in the gap with
appropriate preposition given below. [MAT: 19-20]
A.1n B. to

C. by D. with

|:|!Bl info| Appropriate preposition 6 T accustomed to
accustomed to 9<: WOE | T[F I ’ff AT Wie@- I am
accustomed to such a life. < ST G/ GEIT T NGTS |

‘Poll took place peacefully — the country’.

Fill up the blank with correct option. [MAT. 2018-19]
A. across B. besides

C. into D. for

S info| >/ W< JATS across =6 JIFS T | AT T

CT/TTRITAT JRAMCS “across the country’ phrase & g T |
ATE M FF T IeE: Poll took place peacefully across

the country. W< (P71l =@ 5o con mfoe gt |

Choose the correct preposition for the following sentence.
‘He lives — honest means’. [MAT. 2018-19]
A. by B. on
C. within D. for

S[@info| Appropriate preposition f& =TT live by | Live by
(means) = (I BT QG A=Y T TATT GG 3547 |
Live in, at (place) = TP ZRA IF F€1 | Live within (mean) =
SPGB, Ga=as 341 | Live for = &It o=@ Srwe=y Q06
T | AT I ’ffﬁ'*‘e:l'{.ff wierE- He lives by honest means. o<
T IR AT ST |

Fill in the blank with an appropriate preposition. ‘He came
—— a good family.’ [MAT. 2017-18]
A. to B. out

C. of D. from

Sl@linfu Come of &¢ Tz 41 | IO ",[‘f?ﬁtﬁ WS-

He came of a good family. (W &7 Sital «fFag o
AR 1)

kﬁﬁ AT Site:| Come off (7771 2941, WS 2ET): Our prize
ceremony came off yesterday. Come about (¥%1): The quarrel
came about for land.

“The convict appeared — the court.” Fill in the blank with
appropriate preposition given below. [MAT. 2017-18]
A.1n B.to
C. before D. at

|:|@]inﬂ1 ‘appear before’ prepositional Phrase 07 =< zt&
FCEAT AN TAES 76q | AT IFT Ff FAT WIGR- The
convict appeared before the court. (9: wiew ATE WMETSR
M ToifEe TR SR 7o @it WMETS $oifg Z0aRe) |

Fill up the blank with appropriate word- “She has no

zest music.” [MAT. 2015-16]
A.in B. for
C. on D.to

SI‘BI info| Zest for = #395 ©SAR | Appropriate preposition
20T zest @3 =it for "SI S (FICAT Preposition ITT 7l | FNE2
7o TER z0: B. for ATNE A1 2ff &<f I4771 WIeM™- She has
no zest for music. (ST &S S &7 TE 72 1)

12.

13.

14.

15.

16.

17.

Fill up the blank with appropriate word- “Do not prevent me

_— gﬂillg"- [MAT. 2015-16]
A.on B. at
C. from D.to
S[@]info| Prevent from = AT g 21 (e 3w A/ 3=

T | AT Ao “‘ff =< T wiretE: Do not prevent me from
going. (TS AT (AT AT frg A0/t IR0 |

Fill up the blank with appropriate word- “He persists —
disturbing me.” [MAT. 2015-16]
A.on
C.In D. with

S[@]info] Persist in = WS BIfFCH TS, T AT | TS
o o W FJCT AieR: He persists in disturbing me. (T7

B. at

S e s 4It) |
Choose correct word to fill in the blank in the sentence
“Parliamentary democracy demands discipline and — to

the rules”
A. adherence B. respectful
C. knowledge D. awareness

S info| & TER® IAFE ==T: “Parliamentary democracy
demands discipline and adherence to the rules”. &¥: o™
SIISE ST 8 WERa A 2mE wifd 70 | ‘adherence to’ = TC

[MAT: 13-14]

AP, R (T 511, R S 21 1T

Choose the appropriate preposition in the blank “He died
—— accident” [MAT: 12-13]
A. at B. by

C. for D. of

S[®]info| Die of (GTI =T ASAN): His father died of stroke
Die for (V=R TS IET InSAT): He died for the country in 1971.
Die from (W& o7& a7 IS FRTT TR ASTT): He died from

over activeities. Die by (q<6AE T A1SA): He died by road

acciedent.
Fill up the gap by appropriate preposition: “Do not hanker

—— money.” [MAT. 2011-12]
A.to B. on
C. for D. after

S[)]info] Hanker after = (1 g7 (&7 R8T, ¢S 411 |

Which of the following sentences has the correct use of
preposition? [MAT: 10-11]
A. He usually goes to bed in 11 o’ clock.

B. You can’t buy it at such price.

C. we were sitting into his bedroom.

D. He was born in a village at the district of Sirajgong.

SThiD)info| 2T (a) Afd<F 77 (incorrect):

AGF ZCST I sentence BT FEFHA preposition AFTST1 He
usually goes to bed by 11 o’ clock. =<: TS =S 33 TR =02
IS I |

S5 (b) A9 (correct): You can’t buy it at such price. 9<: @3
VT Bf «BT foaTs #/Rea =1 |

AT (c¢) AT T (incorrect): 9F TCST AW Sentence BTe et
preposition TSI | We were sitting at his bedroom < S=1
SR *TFICF IR |

gqraq (d) i T (incorrect): 7if3F TS W Sentence BT® F=a

preposition US| He was born at a village in the destrict of

Sirajgong. =<: GT PREHItER 30 ST T o2 AR |
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18.

19.

20.

21.

22,

23.

Which of the following prepositions will be the appropriate

replacement of the underlined “we all thirst over happiness”
[MAT: 10-11]

A. upon B. after

C.to D. about

S[@]infn AreifEfde Sentence ﬁﬁ’[ﬁﬁ‘ﬁ"fﬁﬁﬁ’f We all thirst
after happiness. SR SRl A2 ¥ W I | thirst after =
SI=PIAT, BT |

Which of the following underlined prepositon is correct?
[MAT: 09-10]

A. He acquiesced in the proposal. B. I am acquainted from him.

C. He is absorbed on thought. D. I cannot accede in your request.

m Appropriate preposition TAT32 2% T ZICE |

TF Tq: ATHT (a)TT TCE acquiesced in =TS oW (FF [ToF
Trer (Af3); &TF (b)T® JCACZ acquainted from (T=), AT T
acquainted with = #f5®; &F (c)T IWZ absorbed on (T),
7 Z(E: absorbed in = TE; AT (d)TS FEZ accede in (T=1);
73F TE: accede to = F& 7T |

Which of the following sentence is not having appropriate
preposition? [MAT: 07-08]
A. She climbed over the fence. B. He walked across the stage.

C. Raise your arms above your head. D. I shall come back within an hour.

S[@]info| Appropriate preposition 3 Phrasal verbs (352 &%f6
>4l AR |

TF ¥9: Climb over = ©9F M@ 47 2eq (TS GAE AE
Z§qM); Climb up = WERT I (&S A g 2971 NIRRT IF91);
Walked across = 9% &% (ITF ST AT *FF ZoT; Come back =
@ @ ©ARTE 9= (a) (8 Climb up 2941 Bb® e |

Chosse the right preposition: He died — accident. [MAT. 2006-07]

A. for B. by
C. at D. of

S@E Die €9 appropriate position JJZ:

% ¥q: Die of (It =T I19AN): He died of cholera. (G7 FCE=1
@It TRT Fieae) | Die for (PR &G0 af WM &G0 G@w
(7aT): Captain Motiur did for his country. (6 NfEeT T*IF
GG G [eree tafeE () Die by (9<67 &T qredm): He died
by a road accident. T7 3G o ST Ficafee |

Fill up the blank: The tree has heen blown — by the strong

wind. [MAT. 2006-07]
A. off B. away
C. up D. out

S[@]info] Blow away = ©fta =@ afear| o sentence
29 | The tree has been blown away by the strong wind. 5<: TS
Rraat sirefbrs Sfewa fca Ficafee |

Note: blow off (Fsf ==1) blow out (FfS@ &) blow up

(R zen) |

Choose the correct preposition to completer the following
sentence. “He lives — honest means.” [MAT: 05-06]
A. by B. on

C. within D. for

S[®]info| Appropriate preposition & T live by | Live by
(means) = T3 SAT (€6 49T | Live one (food) = T3 MW7 (/AT
G €19 401 Live in, at (place) = T ZT IFT F11 Live

within (mean) = FTEIAIGS T=1 |

24.

25.

26.

27.

28.

29,

30.

31.

Choose the correct word/words to complete the following

sentence. “You need not — the secret from me” |MAT: 05-06]
A. hold back B. held on
C. hold off D. hold in
S[®]info| held on (=TTt 41=T), hold off (& A=), hold in

(372TS 41) |
U (P preposition fo 19 T “I eat that as an excuse —

conversation. [MAT. 2004-05]

A. of B. about

C. at D. for

m Excuse for (F1F9/6%d); Excuse from (FF7 41, G@Z2
@an); 1 eat that as an excuse for conversation 9<; FCAAFA
TR ST 6T (ITaiee |

*JEI (I preposition & f& TT “The mistke has all been
[MAT. 2004-05]

—— the teacher’s side”
A.In B. from

C.on D. of

M A% Sentence 0 TE M=&*: The mistake has all
been from the teacher’s side. 9<: 77 &6 Freea s @=e
QLR |

“j?[l’{lﬁﬁt:’? (FWG AT @7 “He was nearly dead — the

time he got back home” [MAT. 2004-05]
A. by

C.in D. on

S info] == [ME sew W R @ e RE e
by ICT | @T- (1) “000 AT TG 5_IF &0 #=" - Health for
all by 2000. (2) “($W) 3307 7 F& WEWE" - Come back by
11 o’clock (3) I e @ 7797 Erifes 97 T @7 A T4
z0 fsitafesT - He was nearly dead by the time he got back home.
A [ 9 He has ensured me — safety.  [MAT. 2004-05]

A. with B. of
C. for D. at

S[@I info| @031 Sentencef® ¥=: He has ensured me of
safety. (o @it MR i Freast Mace); IHiE =

B. at

T = about/of; WFESL TAAT: WY SR ARFCHT DA
P5® (I am sure of his success.) |

Ao Preposition 918: I shall do it.....pleasure. [MAT. 2003-04]
A. With B. for

C.in D. upon

S[i®]info] do for & & g *ireaim &7 F¥47 | 1 shall do it for
pleasure. (S TSR ST T 221 99 1)

Ao Preposition ¥71'S: A drowing man catches — a straw.
[MAT. 2003-04]

A. at
C. for D. on

m A drowning man catches at a straw. g qTET TIG
TE 4T (FITES 4T (AI5F (BBf I); Catch at = Frg=nd &W
g *F 3@ €1 |

Ao Preposition T1S: Do not cry — spilt milk.[MAT. 2003-04]
A. over B. for

C. at D. on

S info] Cry over u: @ 5ga &t e @IEICAT F4T
@ RE@ UF W 9 IR @ AfSFE @21 Do not cry over
spilt milk. =<: 2T AT G¥ 0 T G FEHAT ST |

B.to
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32. W% Preposition F¥0S: 1 shall do it — pleasure. [MAT. 2002-03]

A. with B. for

C.1n D. upon
S[®)]info] do for W< @ &ga AT &= 01| 1 shall do it

for pleasure.

<l T ANSTT ST I 3% 99 |

33. 73 Preposition A 752 ot 9|

Mati is absent — the class. [MAT. 2002-03]
A.1In B. to

C. from D. by

SI@I info | S°If%® IRITS absent WF #1F from IC7 |

THIZFS-d: (T FICT S92 S {2 | - He was absent from the class.
3: TofF Fom ‘ﬂw %=+ | - He was absent from the meeting.

34, 3% Preposition A ¥7E <74 391 He is afraid — the

35.

36.

01.

02.

03.

dog. [MAT. 2002-03]
A. by B. for
C. of D.to

S[@)]info| afraid TT &% | afraid AT IJIZS AT 4T 97 of
T | (@9: (T FPABLD ©F A | He is afraid of the dog.

Choose he correct answer: ... discovery of insulin, it was not
possible to treat disabetes. [MAT. 2001-02]
A. Prior to the B. with the

C. after the D. not finding the

SIQ, info | 9% ©wa 202 99w ‘A’ 9<4® “Prior to the.’

Name the phrase of the underlined words in the following

sentence. The only criterion by which you can get admitrtred
into the medical College is by dint of hard work and

persevernance. [MAT. 2000-01]
A. adverbial phrase B. verbal phrase
C. adjective phrase D. prepositional phrase

S[@]info] 7T Tsa TR WP ‘D’ s @ IS
Underlined Words ZC#T Preposition 9 9 & 908 | ©i2 @b
prepositional phrase.

DAT

""He took advantage — my absence to stenl my book''. Fill up the
cap above with the appropriate preposition below:—  [DAT: 21-22]
A. for B. of C. on D.to

S[(D]Why| Advantage of (F@F)-He took advantage of my
absence to steal my book.
Advantage over (3f31)-He gained advantage over me in the race.

Advantageous to (71f9<1&=<F)-The new rule is advantageous to us.

Choose the sentence that contains the correct appropriate
preposition- [DAT: 21-22]
A. I conform to you with this point

B. This climate is congenial to my health

C. I confess of this weakness

D. We condoled to him on his loss

SD]why| T=1 wermatETT AT
I conform with you on this point

I confess to this weakness
We condoled with him on his loss

Choose the correct word for the blank. They are not
accustomed — such a life style? [DAT: 21-22]
A. by B. with C.to D. of

Sl@IW]]F Accustomed to-=1%JE€-] am not accustomed to such a
life style. T @I LT TOE 73 |

04.

05.

06.

07.

08.

09.

10.

11.

12.

13.

Fill up the blank with appropriate preposition: ‘Do not

prevent me going’? [DAT: 20-21]
A. from B. at

C.in D.to

S{}]info| Prevent from (R=® <A=F/AIT)- Do not prevent me
from going.

Fill up the blank with appropriate preposition, ‘He has great
ambition fame. [DAT: 20-21]
A. to B.in

C. over D. for

S{(®]info| ¢ Ambition for (noun, SFEF)

e Ambitious of (adjective, SHIFTEF)

In which of the following sentence
preposition?

A. We tried hard but did not succeed.

B. There 1s no one but likes him.

C. None but the brave deserves the fair.

D. It is but right to admit our faults.
S[@]info| Option (a) & ‘but’ adverb ZrETI IIz® TR R
Option (b) T8 ‘but’ conjunction e Tage TR | Option (c)
TS ‘but’ preposition R I95S T |

What is the correct word for the blank? “I am accustomed

is used as
[DAT: 19-20]

'but’

—such a life.” [DAT. 19-20]
A.to B. by
C. of D. with

S IQI info| Appropriate Preposition Accustomed A T F<7+14
to T | Accustomed to 97 T TO5F |

Appropriate preposition to be used with ‘beware’ is- [DAT. 19-20]

A. of B. for
C.to D. with

S |@1 info| Beware of €3 9 71o% 29T |
Fill up the blank with correct option.

‘Do not hanker ........ money’ [DAT: 18-19]
A.to B. on
C. after D. for
S{@®]info| Hanker after we wfe*g w=Ee 299 | Hanker 99

Y 99714 Preposition after IC7 |
Fill up the blank with an appropriate preposition given

below. [DAT. 17-18]
I found the place My liking

A. to B. for

C. with D. on

S{f] info |Place to Appropriate Preposition @3 &< /7 |

Fill up the blank with a appropriate word given below —
“We write Pen”. [DAT. 17-18|
A. for B.to

C.in D. with

S|ID| info|Write @ STCY Appropriate Preposition @ with
q0T |

Fill up the blank with an appropriate proposition given
below. ‘Are you blind — your own interests?’ [DAT. 16-17]

A. of B. for C.to D. by

S(@®]info | Appropriate Preposition blind @3 7Y to I | blind
to-CAICER &S o |
e e o 1w s [DAT. 16-17]
We shall discuss — it later.

A. about B. in C.on D. for

S G info| We shall discuss it later 9% Siw=T @67 707 @
SICEIGAT AT | QT (I Preposition 93 STATEH (R12 |
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14.

15.

16.

17.

18.

19.

20.

21.

22,

23

Which of the following preposition will be the replacement of
the underlined preposition to correct this sentence? “This

will put a slur in this name.” [DAT: 10-11)
A.on B. mnto

C. of D. at

S[@info| Slur on =< 71 =11 Slur's H in T A1 AP
TR TR WO A’ 9LR ‘on’

Which of the underlined preposition is correct? |DAT: 10-11]

A. We walked to the river bank  B. I flew to London at Thursday
C. I bought these shoes at 5000 taka D. They spent their vacation at Dhaka
S[@]info| 5 amount 9 ST at ITT | T THF TR WA

‘C’ w4R ‘I bought these shoes at 5000 taka.’

Which of the following simple sentence use prepositional
phrase? [DAT. 2009-10]
A. Going home they found their brother

B. Mother asked Runa to iron the dried clothes

C. Dunng sorting, the rotten oranges are thrown away

D. Besides being a physician Dr S Atiqual Haque was an opinion leader

[S[®)]info] To Iron &< 2fF Fa1| W®9T WMF ‘B* (S ‘to iron’
prepositional phrase 939 TR |

Which of the following sentence is having appropriate
preposition? |DAT. 2007-08]
A. 1 flew to London at Thursday

B. He usually goes to bed on 11 o’clock

C. Badal was born at February
D. I bought these shoes for 500 Taka

S[®)]info]| 5 amount @3 ST at T | AT TET WoRT D’
=<1 I bought these shoes for 500 Taka.

Fill in the blanks with appropriate word/preposition. He fell —
in his house and has been in bed — list two days. IDAT: 06-07]

A. of ; for B. down ; for

C. for ; from D. of ; from

S[®)]info| 7= T&a wor ‘B’ w<fR down:; for.

Select the appropriate preposition to complete the following

sentence. ‘I am looking — a good job.’ |DAT: 05-06]

A. for B. into

C. up D. after

S info| =753 Tea woM <A’ W Look for &< c3reit |

Select the appropriate preposition of complete the following

sentence. ‘Rowshan was admitted — the I ‘year MBBS

course in Comilla Medical College.’ [DAT: 05-06]
' B. to C. of D. into

A 1
S[®]info] 5% T&x wopT ‘D’ W Admit into WE S 7e |
WFE P Prepositionfs 3% =@~ ‘She looked at her

reflection — the mirror’. |DAT: 04-05]
A.on B. n
C. upon D. into

5T Twg WoT ‘A’ WLR Reflection on WY &S |

S I@[ info

W I Prepnsitinnﬁﬂﬁﬁ{ﬁ- ‘Mr. Karim only looked
— the gift’. [DAT: 04-05]
A. at B. for C. upon D. an

T TG W ‘B’ WL Looked for W< ST 54T |

S I‘Bl info

. “We have no control—fate’ IFIHTS AldF Preposition T\6-

[DAT. 2003-04]

A. over B. at

C.1n D. on

Sl@l info| 7fo= Preposition TR 9™ ‘D’ w4 Control on 94
feraraer |

24,

“There is no reason-absent’ WWWW— |DAT: 02-03)
A. of B. for

C. to be D. for being

S[@)]info] for being ART TR @RIAT TACE | 7T TEA FoP

‘D’ &4 for being.

. Fill is the blank for the sentence- ‘The plane arrived — time

at 3 PM". [DAT: 02-03]
A.on B. in
C.to D. with

A5 ©6T T ‘B’ WLR in time W TN |

S[®)]info

. The most suitable preposition in the blank for the sentence
‘On coming of age, the child has a tendency to become
independent — his father’ would be- |DAT: 02-03)
A. like B. of
C. with D. from
S [ info | Like his father 9 S I TCST |

0
S Il AFvc

. I will come 15 minutes. [AFMC: 20-21]
A.in B. about
C. around D. among
S (B info | === W5 FATS come in IC7 |

among RIS “FEATSCA T @RIT |
Ex: Distribute the mangoes among four students.

TOPIC gl= COMPLETING SENTENCE

01.

d{ DAT

Select the most approprite words to complete the following
sentence. ‘We waited until the plane —. [DAT: 05-06]
A. had taken off B. had not taken off

C. did not take off D. took off

S{®info| We waited until the plane had taken off IRIHA =

YA NS, ST ST PCATRES To% 71 #I4% (90 (20T M7 |

ToPIC iy SENTENCE CORRECTION

01.

d MAT

Which of the fﬂllﬂwil-lg sentences has the correct subject-verb
agreement? [MAT: 21-22]
A. Traffic jams in the parking area was one difficulty for the visitors

B. Not only Sufia, but also Nasima, want to visit grandma

C. One problem for the players was unexpected threats of injury

D. Somebody want to speak with you

SI@I info| A — Subject + plural IS was G 3 were X(J |
B —Notonly.................... but also.

C — Subject + ; one ¥R verb singular T |
D — Somebody — singular 3SR want =1 A wants T |

. Choose the correct words of fill up the blank of the sentence

.......... " [MAT: 20-21]
B. for a long time
D. since long

“1 have not heard from him
A. long since
C. for long

S[®)info
long time since the last time I have heard from him = WY =%
T4 J9=¥ S1F T SR | I have not heard from him for long. (=
I heard from him only a short time ago = &g 79¥ € Wf R
TR GTEI) WIS AT IR for a long time TSR ADT |

I have not heard from him for a long time. (= It is a
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03.

04.

05.

06.

07.

08.

Choose the correct sentence-

A. You must cut out your expenditure
B. You must cut down your expenditure
C. You must cut up your expenditure
D. You must cut off your expenditure

S[‘B]iﬂfﬂ Cut down (XPT <91)- You must cut down your

expenditure.
@ Cut off (fftz5)- The robber cut off telephone connection.

Which one of the correct form of sentence? [MAT: 18-19]
A. Mathematics is a subject of study in any school

B. Mathematics are subject of study in the school
C. Mathematics are hard 1n the school
D. Mathematics are road o higher education

S[N]info| Mathematics *=fo =Rl @3 REms @Rim | a7 o<

g SIfe® | WF \2 IFT Mathematics *#(6 Subject ZETR I9%e
AR | WK SR &1 Singular Subject @3 “tF Singular verb
[T | WoUq AT TRt - (a) Mathematics is a subject of
study in any school. S (@ AT FeT it Zrat OB “iiey 77 |

Choose the correct sentence from the below- [MAT: 18-19]
A_ Man poses but God disposes
B. Man propose but God dispose

C. Man propose but God dispropose

D. Man propose but God disposes

|:|®[infﬂ T T HrEtag Present Perfect Continuous
Tense JF AT R =g 0 ¢ @=Te Shear e |
Present Persent Perfect Continuous Tense €3 “R6%: ‘A& &AL
TET OF T 9IS TEE TAE 9OH? @RITE Present Perfect
Continuous Tense TF | 9K Present Perfect Continuous Tense
g Structure TCR-Sub. + have been/has been + ing + since/for. .. .

Which one of the following sentence is correct? [MAT. 2018-19]
A. I forbade him from going B. I forbade him to go

C. I forbade him going D. 1 forbade him not go

S[®]info| @& sentence 8 & W<: If I win the lottery, T Shall
buy a big house. wef: IR AW FAIRCS &7 W O WY 936 @
qife &g @ | Gt @C Important € 97 & | €2 A
sentence ST W36 FWE o @10 5t

Conditional € Rule (F¥): (i) Zero Conditional: f53&« 77%7,
@S 79T, imperative sentence (TA™, e, s@EN oW
@RI, TSNS WSS 5 @RI Conditional sentence @3
Wit clause 2 Present Indefinite Tense Z(F |

Choose the correct sentence—

A. I have been lived here since five years
B. I am living here for five years

C. I have been living here for five years
D. I live here for five years

S I@l info| Since/for @IS present perfect continuous tense T |

Which one is the correct sentence given below? [MAT. 2017-18]
A. You, he and I went there.  B. He, you and I went there.

C. I, you and he went there. D. You, I and he went there.
S[@iinfn SIE IS 1 WYFF 7w 9117 Rule: 231.

5<te 2™ person (2) : You 3™ person (3): He, She, They 1
person (1): I, We

Ry Towre a9 R &0 M9 3 mnemoniclt T4 A3t
@S AE- Wi, 3 8 o7 7 @ fvam 91 =7, T9e FIee ==t
@t 231 (% 2Fge Qi sTH) woud, SoAEre 2ty 3 sentence
o Z@:You, he and I went there. (9: ©F, &7 W3R wfT e

PeitateET 1)

[MAT: 20-21]

[MAT. 2018-19]

09.

10.

11.

12.

13.

14.

15.

16.

Choose the correct sentence-

A. All that glitters is not to be gold.
B. All that ghtters 1s not gold.

C. All that glitter is not gold.

D. All that glitters are not gold.

S[®)]info| S IFT 2_W IFT A Proverb. @ IFLT 2pETS
2@ - All that glitters is not gold. =< 5363 I8 CTFAT AT |

Choose the correct sentence- [MAT: 16-17]
A. One should obey their parents.

B. One should obey one’s parents.

C. One should obey one parent.

D. One should obey the parent.

S!ﬁﬂ info| &0 9T IAFT T = One should obey one’s
parents. Z: STSIEAR OIS T 341 ST | S S IE0
TARE: ATONa2 Famd T 391 €S | One should respect
one’s teachers. S49l, Every one should respect his teachers.

Choose the correct sentence- [MAT: 16-17]
A. He died of poison. B. He died by over eating.

C. He died from cholera. D. He died for his country.
S[]info| W=t i, die of = T W= ASAT | die from =
EfSRe AT I FEF &0 T4 IF | die by = quoa1 1 [afFam
G JE1 ANSAT | die for = TR FCET =0 =0 ANSAT | He died for
his country. SR T S (W= &7 T3 FHigae |

Choose the correct sentence-

A. We have many works to do in summer.
B. We have much works to do in summer.
C. We have a lot of work to do in summer.
D. We have a lot of works to do in summer.

S[)]info] =& & JIMTE ‘a lot of works’ Phrase & I735®
24 | O9I1R 7f5F PTG TT =@ We have a lot of works to do
in summar.9%: SIS WM WEAS F16 TG00 Z(J |

Choose the correct sentence- [MAT. 2015-16]
A. Open page 10. B. Open at page 10.

C. Open page at 10. D. At open page 10.
S[@i info| Opent at = T | F_ER ﬂ%'[ =T = Appropriate

preposition &3 Open €T T at IIZS T | FNE2 AT Toafd
2C=: B. Open at page 10 (wd: Yo "[ﬁT CYTTE) |
Choose the correct sentence-

A. She believes of ghost. B. She believes in ghost.

C. She believes at ghost. D. She believes on ghost.

S info| Believe in = ¥FT Fa1 | Appropriate preposition &Ta
believe @3 %@ in TSI S0 (I Preposition IGT 7 | FNEHR T2
@G Z08: (b). She believes in shost. (W<: GT S 4FT 3G) |

Select the correct sentence- [MAT. 2014-15]
A. He resembles like his father. B. He resembles to his father.
C. He resembles his father. D. He resembles as his father.

S[@®]info| TS Resemble *ITH AT (FW Prepositon ICT = |
SRR ‘Like’ 992 ‘As’ Resemble @7 WY &= F1T Resemble 93
AT ‘Like’ @92 ‘As’ T AT B2 ASF Sentences & - He
resembles his father. 9 : (7 ©IF IMA TT |

Choose the correct form of sentence. [MAT. 2014-15]
A. I await for your decision B. I wait your decision
D. I wait to your decision

C. I await your decision

ST@]info] 94T () S A3 T | IR await 4T T @
preposition I Al € QT “for’ prepostion IITS ZLACE | AL
(b) TEAHS 7T 77 | IFS wait @F T @6 preposition “for’
VSR T G4 (12 | Q4T (d) THRAG'S AT 77 | IR LT wait
@3 9T I preposition ‘to’ ITZFS ZLACE AT AT 77 |
|CSTCT ART STl “await *ITHF AT (I Preposition J67 =1 |

T AIF ©GA Z@- (c) I await your decision W<- Sy (S
Praites s =i |

[MAT. 2017-18]

[MAT: 16-17]

[MAT. 2015-16]
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17.

18.

19.

20.

21.

22,

Which one is the correct sentence?
A. Why did they went there yesterday?

B. whay had they gone there yesterday?
C. Why did they go there yesterday?
D. Why they went there yesterday?

Sl@]info| a2 o4t worE si7w @3 2| @ Interrogative
Sentence 9UF Past Indefinite Tense. Past Indefinite Tense, Tense
8 Sentence IAF ST T AR W2 DT THT QT TOI®
IRET | AW YT LTS e R2: AT 419l SIS O (e et |
(They went there yesterday). @S dis): sro O & @RI
fitafe=T? (Did they go there yesterday?) ‘Z_?'@?T qref: TS &
ST G Bitaf=? (why did they go there yesterday?)

[MAT: 13-14]

[MAT: 13-14]

Which one is the correct sentence?
A. He 1s comparatively better today
B. He is good today than before

C. He is better today

D. He is best today than yesterday

S[@info| «Fem SF[F T WTR G SF JITS VY better £
ICT | GMF comparatively better I &TAGH TF 71| G2 OF
sentence 0 ZM: He is better today.

The correct sentence is-

A. I saw him and told everything

B. You should no pride of your health

C. I shall avail myself of the morning bus
D. He took part in the feast and enjoyed

S@@ HT=[E (a) 9T AL A%E 7@ ‘I saw him and told
everything’ @2 I ADSF FAT ZCAT I saw him and told him
everything 4R IIHTE told €F = him =6 = A AL
G | OTF (b) €T TG APS T ASS AFT TR You should

not take pride in your health.

The incorrect sentence is- [MAT: 12-13]
A. He prevailed over the enemy. B. I was in, want of food.

C. He has a zeal for public work. D. the boy 1is sick for toys.

m o*T% Sentence SER T 8
preposition JICACR | #7%F ¥9: (a) (3 prevail over: 3‘?@‘ 40, Aa
&4, &9 =% 491 | (b) (@ want of: S (c) zest for (correct) =Y
(d) = sick for: (THT TARIZ, &7 W) |

Which one of the followings is the correct sentence? [MAT.2011-12]
A. “Shaon’ is the actress and singer.

B. “‘Shaon’ is both the actress and singer.

C. “‘Shaon’ i1s both an actress and singer.

D. “Shaon’ is a actress and singer.
S[@)info| ‘Shaon’ is both an actress and singer. @3 &% *aw

GFE SSrEr g2 ST TR | (a) 92 (b) AT 7T @
QT the 9T AT %F 771 (d) @ 7T T/ @ ‘a actress’
T 7, T2 “an actress’ T A |

Which of the following is the correct English?
A. These fruits are eatable but those are poisonous.
B. She was badly injured by my unkind words.

C. Mathematics requires reasonable thinking.

D. The chairman was gracious enough to give us a dinner

[MAT: 12-13]

appropriate

[MAT: 10-11]

24,

25,

SlD)]info| (a) GG AT ICFHT AT These G AW fruits *=o
IRFR PR TS W those «F I fruits A1 ones (those ones =
QG TIZT IS T | AR sentence & F5E zrot afF et o
(b) RIS 1 WHae 2G5 W I THTS I injure 71, hurt
JIRW IS LT | ISR sentence o fds zret I st o She
was badly hurt by my unkind words. (SR g2 @ 9@ GT wRESIE
Ze TER) | (c) sittes e @i o1 ©”=@ (reasonable
thinking) STEH 27 71 | IR SIFff® @ @ o7 b SEeE z | O3
require (2T RSA) WF ARACS demand (WK 3=1) T =7 (o7
TG O T T | oAk @F sentence B ZE@ W@ Mathematics
demands reasonable thinking. (d)Enough €9 %< Infinitive to + verb
JIRE TR CF0F enough G IO adjective @R 7t noun IRIF 0
T | YT gracious (B9R) word & adjective 2991 ISP enough
G TSt IET0Z | TSR 92 sentence O correct. IFHT S AT
o R e AR S ©6d T3 (d) |

Which of the following is not a correct English sentence?|MAT: 07-08]
A. He is very popular with his pupils.

B. I prefer coffee than tea.

C. Death is preferable than dishonor.
D. I am related with her marriage

S[aI®]info| Appropriate preposition T32 o T zCACR |
Atz 8% Preposition TATFE, 26 FaT TCACE |

% F4: (a) Popular with = SaEE/fem; (b) Prefer to = SHFe
ATV AT @afSTFE @@ (c) Preferable = WHF®q
CR/=Tea BF; (d) Releted with = T2/ =iFs/ 7157 |
©oiwee 8fF Appropriate preposition @3 T (b) 8 (c) 9¥
Preposition 416 &T4F 4T O FCACR |

If restated, the sentence that would best replace “As a
conductor of heat and electricity, aluminium exceeds all
metals except silver and gold.” [MAT. 2006-07]
A. Silver and gold are exceeded only by aluminium as

conductors of heat and electricity.

B. With the exception of aluminium, silver and gold are better
than any other metal as conductors of heat and electricity.

C. Silver and gold are better conductors of heat and electricity
than aluminium is.

D. Aluminium is a better conductor of heat and electricity than
silver and gold.

S[I@]info| &7 Inverted comma “ ” «¥ {SS@d sentence

ZEEl: As a conductor of heat and electicity, aluminium exceeds
all metals except silver and gold.

TAfi®® Sentencelbs W “wrr ¢ e e T
SR ISATT 2T AT € T TS P I 4199 (51 Sf
TASE IET (A WA T T ¢ T 43 ¥io 19 A=
(5T ST “Af_1aT |

For the following sentence, choose the one underlined word
that is incorrect in standard written English:  [MAT. 2006-07]

Overating, in addition to lack of attention to nutrition, are said to
A B

be the major cause of obesity amongst the affluent.
C D

SI@[infn Gerund ¥¥ verb singular TF | Overating 94
gerund ¥ JIE FACR GR INFIF subject ¢ IM | B2 SF verb
@ are TWis T |
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26.

27. T fé% Sentence?

28.

29.

30.

Which of the following sentence incorrect?
A. She was married with a rich man.

[MAT: 05-06]

B. The man was cured of his 1llness.

C. The patient died of cholera.
D. I hope he will succeed in his work.

S[#info| @3Tt= 86 appropriate preposition JIZTF FAT JCAR |
(a) Marry with ($%7); Marry to (¥%) B. Cure of (T35 (AT SHET
fe )| (c) Die of (@I P I8 F40); D. Succeed

(T 297

[MAT. 2003-04]

A. Karim preferred reading to writing.
B. Karim preferred to read than to write.
C. Karim preferred reading than to write.
D. Karim preferred to read than writing.

S[®]info| do for w<: 7t v a1 7%7 w93 wfwF o™ T4 |

fagw 9t 2W@®T® Noun 91 Gerund Z(® T | @FH- Swiggd- 1.
I 5 SCAw G @ AgW 34 | 1 prefer milk to tea. 2. S
T (BT 2% (=1 %™ &4 | I preferred reading to writing.

(I AT sentence? [MAT. 2003-04]

A. Ipbal was the poet and philosopher.

B. Ipbal was a poet and philosopher.

C. Igbal was both the poet and philosopher.
D. Igbal was a poet and a philosopher.

S[@®)]info| ®% T w: “TFAME et @FEw TG 8 A" |
QAT BRECS both *Hb IIITT A IE @ WS TSABID

TSRS R I |

Choose the sentence which is correct? [MAT. 2001-02]

A. That so many advances have been made in such short time is
the most valid argument for relainings the research unit

B. Thagt so many advances have been made in short time is the
most valid argument for retaining the research unit

C. That so many advances have been made in so short time is
the most valid argument for retaining the research unit

D. That so many advances have been made in so short a time is
the most valid argument for retaining the research unit

S|ID'infn 7f5F o Zr' ‘D’. That clause <7 @S =g

Verb Singular T |

Which is correct? [MAT. 2001-02]

A. According to the newspaper, he accepted bribes while a high
official of the government

B. According to the newspaper, he accepted bribes when a high
official of the government

C. According to the newspapers, he accepted bribes when a high
official of the government

D. According to the newspaper, he accepted bribes while he was
a high official of the government

S[®]info| Option A T& 2nd clause 9 subject X |

Option B T when clause marker ZTI 913 71|

Option C T® Newspapers 99 ts1 Newspaper 29 |

Option D T8 Newspaper ©<R While €3 A TR A @b Al |

31.

32,

01.

02.

03.

04.

Choose the one underlined word or phrase that must be

changed to correct the sentence: The aims of the European

Economic Community (EEC) are to climate tariffs between

member countries: [MAT. 2001-02]

developing common policies for agriculture, labour welfare,
A B

trade and transportation and to abolish tr

C D
S[@]info] Parallelism @7 F@w S@EAT option D @7 +AfRF=es

SIS | QYT infinitive 9T 2FI0S verb I |

Which sentence is correct if we want to relate the cameras
and the pictures they produce? [MAT. 2001-02]
A. Despite small size, their cameras take very good pictures

B. In spite of their small size, their cameras take very good pictures

C. In spite of its small size, their cameras take very good pictures

D. Their cameras are small but the pictures are of good quality

S!@I info| &T camera U picture ¢ relate TICS TN JLACR |
Option A, B 8 C 7@ =di® &< &<t /7 99 30tT | Option D (@
Conjuction &1 46 IRHTE relate I TF F7*H0 715F |

d DAT

Choose the correct expression from the following? [DAT: 21-22]
A. Will you tell me how much is it?

B. I did not know where are they going?

C. Why you are angry with me?

D. Where do you want to go now?

S[(®)]WhY| Interrogative sentence @ auxiliary verb, subject 43
td ICT | 37 subordinate clause 9 T interrogative structure
IS T | WA*H-A (T how much it is I | FET g6
subordinate clause | ¥**«-B (¥ where they are going LI | I
@BT subordinate clause | IM clause WG AT WA Princeple
clause T — ST &% TS 207 Sub ¥F <t auxiliary verb 307 |
SHT-C (S are, you €S #F A |

"I wish we did not have to use car for the trip to your
reunion.'' Fill up the gap in the above sentence with the correct

pronoun? [DAT: 21-22]
A. ourselves B. our
C.us D. we

S[(D)] WhY|We (Subject) — us (object)-our (possessive adjective)-
ours (possessive pronoun)

SRS SIReT =ed-Subject “we' ¥F object RETE our car TF |
Choose the correct form of sentence form the following- [DAT: 21-22]
A. Our football team played bad this afternoon

B. Karim felt badly about the loss

C. The air in the sewer smelled badly

D. The medicine does not taste too bad

(DJWhY| ® Played action verb <% 2@ Adverb 2@ %R badly T |

e Feel linking verb @3 #Td Adjective Zd SR bad TJ |
¢ Smell linking verb 93 “ta Adjective T 9<LR bad TA |

e Taste linking verb 12 47 9T Adjcetive 2@ 94 bad I | So
answer is Bad
Choose the sentence which has the correct place? [DAT: 21-22]
A. He walks rarely his dog B. We were last week in London
C. My father goes fishing always
D. The girl speaks English fluently

(D] WhY| T S*M e
He rarely walks his dog.
Last week we were in London.
My father always goes fishing.
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05.

06.

07.

08.

09.

10.

11.

12.

Which of the following sentences has the incorrect subject-
verb agreement? [DAT: 21-22]
A. Some people in my office are very annoying

B. One hundred dollars is a lot of money for a bottle of wine

C. Two hours is a long time to wait to see a doctor

D. Ford in addition to Toyota are lowening its car prices to encourage better sales

S[®)wny| In addition to =T 96 Subject & == 1st subject G
e IS verb %A | &9 subject ATES Ford singular S12
ST D (S verb ZFTE are ¥ #THATS is 7T |

Choose the correct tense of the sentence, “Habib has been

using this pen for the last five years”. [DAT: 20-21]
A. Past perfect tense B. Past perfect continuous tense

C. Present perfect tense D. Present perfect continuous tense
S®)]info| Present perfect continuous tense- @3 STo7 ST |
Subject + has been/have been + verb (ing) form + extension.
Which one is the correct sentence given below —  |DAT. 17-18]
A. 1 eat neither mangoes nor bananas

B. Neither I eat mangoes or not I eat bananas

C. I eat mangoes neither bananas eat
D. I neither eat mangoes or bananas

SIQ[ info| S*M= <A’ 91f39 &g | neither..... nor

Two-fourths of the book-Studied by me.
A. have B. has

C. was D. have been

S[@®]info] One third of/two fourths of eI 3R @ 3T |
TSR QAP AMEIF Subject TR @1 W AN @ @ EF AT
#TTST (@ noun FE@T pronoun SR verb T&F F°ig AT ZF |
& I the book, singular noun | &A1 verb ZEI option C
was T3 | Option B singular 1T 3CHS IFIL passive mood 9

A ST =1 oS =rfe =1

Which one of the correct sentence given helow?
A. I neither eat mangoes nor bananas

B. I eat mangoes neither bananas nor

C. I eat neither mangoes nor bananas

D. Neither I eat mangoes nor I eat bananas

SI@] info | W°M= <C’ 7If3% ©&F | neither..... nor

Pick up the correct sentence from the following— |DAT. 16-17]
A. Wait until I do not return

B. He is the most best boy in the class

C. Try heart and soul

D. I do not know nothing

SI@] info| Try heart and soul HEFact | @t @SB Idiom &
Phrase. $oTAIE IR TT 462 AT |

In which of the following sentence the word ‘come’ is used to
mean in bangla ““INeA’? [DAT: 10-11]
A. T came across the lame man on the way

B. How did you come by this picture?

C. He course of a respectable family.
D. How did the accident come about?

SI‘BIiﬂfﬂ OIIE 99 ‘B’ (F Come 99 9L NI mean
JLACE | D HHFSTITS B2 oM ‘B’ TR 710 6T |

Which of the following is the correct English? [DAT: 10-11]
A. I helped the afraid boy

B. He 1s hable to shout when he gets angry

C. Everyone likes a notorious actor like him

D. We only employ femine workers

S[@info] Option B 5 =& =& 4 2| Option C (T
adjective G99 T AN T AR | Notorious J1 A famous TS
ARTST | Option D (¥ femine T T feminine TF | ©12 Option A
A 9 932 adject AR T (AT 75 |

[DAT. 17-18]

|DAT. 16-17]

13.

14.

15.

16.

17,

18.

19.

Which of the following sentence is correct? [DAT. 2009-10]
A. The president gave away the prizes

B. The enemies gave off at last

C. The cooking coal gives in a lot of smoke.

D. He will give out chanrge tomorrow

S[®]info| Give away &< [a@ae w1 | AT TET W ‘A’ IR

The president gave away the prizes.

Which of the following is correct?

A. Read Frence before you go to France

B. She had to take off her visit owing to her illness
C. When he came back from the party, he took off his sit
D. He comes here to know English

S[®info| TTa w4 zE WA FICT AWGAT FH O TG
T2 | TG Sentence&TAE W0 103 QT A, TG T FAH
‘A’ w<1e Read French before you to go Rance.

Choose the best word, to replace the word in italic and
underlined for the following sentence, ‘Erosion by river
Meghna has made thousands of people homeless in three
thanas of Brahmanbaria district’. |DAT: 06-07]
A. proviced B. returned
C. centributed D. rendered

S[@I info| Rendered ¢ Sfo® 797 | AT TTF 20R S ‘D’
42 Rendered.

Which of the following sentence is the appropriate

restatement of the sentence. “Weather Service issued a

tornado warning just before a funnel cloud was sighted in

the area.” IDAT: 06-07]

A. A tornado warning was issued by Weather Service after a
funnel cloud was sighted in the area

B. After sighting a funnel cloud. Weather Service issued a
tornado wamning

C. After Weather Service issued a tornado warning, a funnel
cloud was sighted in the area

D. When they saw a funnel cloud at weather Service. They

issued a tornado warming
(®]info Afos Teg W ‘C’ WHR after Weather Service

issued a tornado warning, a funnel cloud was sighted in the area
Choose the correct answer:

Recently, there have heen several outhbreaks of diseases like
viral encephalitis and doctors don’t know... IDAT: 06-07)
A. what the cause is B. what is the cause

C. the cause is what D. is what the cause

S info| Embedded Question 99 o=@ ST W.H Word
SIF°[ Subject 9 4@ Verb &S Tl option A (T W& | A
TGq W ‘A’ WdR what the cause is.
Which of the following is correct?

A. The Tajmahal is one of wonders of the world

B. Sahara is in Africa
C. The Ganges flows down from the himilayas
D. Bay of Bengalies to the south of Bangladesh

[SItE®] info |%=~= B, C Correct Sentence.

Which one of the following sentence is correct?  |DAT: 05-06]
A.1, she and you are snacks  B. She, I and you ate snacks
C. You, I and she ate snacks D. You, she and I ate snacks

S[D]info| Positive &% I personal pronoun 47 T ATl
231 T@ (you, he & I) | ¥ So=_~/GE IR @RI 123 TF |

(T5=: 1, you and he are resfponsible for this.

[DAT. 2007-08|

[DAT: 05-06]

+ ¢+ ASPECT SERIES + ¢+ ASPECT SERIES # # ASPECT SERIES # ¢ ASPECT SERIES « ¢« ASPECT SERIES # ¢ ASPECT SERIES # ¢ ASPECT SERIES +# 4 ASPECT SERIES # ¢ ASPECT SERIES # ¢




342

=T, (Tol 9 aFgTHT =TT

CfGTaseT faeae ool

* ¢ ASPECT SERIES ¢ #« ASPECT SERIES ¢ ¢ ASPECT SERIES ¢ ¢ ASPECT SERIES + ¢ ASPECT SERIES ¢ ¢ ASPECT SERIES # ¢ ASPECT SERIES ¢ ¢« ASPECT SERIES ¢ ¢ ASPECT SERIES # ¢

20.

21.

22, fiEa e few?

23.

24,

01.

02.

& 3739 Sentence?

A. 1 find difficult in going B. I find it difficult to go
C. I find difficult to go D. I find it difficult in going

|:|@linfn Difficult @¥°¥ Appropriate Preposition RGTE To
T | APF Sentence TET SFF ‘B’ SR I find it difficult to go.

(PG AT sentence? [DAT. 2003-04]

A. Igbal was both the poet and philosopher.

B. Igbal was a poet and a philosopher.

C. Igbal was a poet and philosopher.

D. Igbal was the poet and philospher.

S[®info| Compound Noun (& @3t @RITS SR T both

TS F | WOGT ADF ©GT WT ‘A’ WL Igbal was both the
poet and philosopher.

|DAT. 2003-04]

[DAT: 02-03]

A. Mr. Rahim is blind for his son’s fault.

B. Mr. Rahim is blind about his son’s fault.

C. Mr. Rahim is blind to his son’s fault.

D. Mr. Rahim 1s blind of his son’s fault.

[S[@]info] WM SX@F® =TT blind 97 A7 To ICT | TSAR AT

g 9o ‘C’ 9 Mr. Rahim is blind to his son’s fault.

Choose one underlined word or phrase that must be changed
to correct the sentence- |DAT: 02-03]

Magnesium the lightest of our structural metals, has an important
A

place among common engineering materials because of their
B C D

weight.

S[(B]info| 730" Wt 7T @RITS Between ICT G WA
TG 149 (@RS Among 36T | A0S ©GT 9 ‘B’ W<R among.

[DAT: 02-03]
With a sun and a moon

Choose the correct answer-
Ancient people believed that
rotating around it.

A. The earth 1s the center of the universe.
B. The universe has earth at the center.

C. The earth was the center of the universe.
D. The center of the universe is earth.

SI@] info| ®TY principle clause 9@ Ancient (25/) *G past
tense €T &SIF | TF FRC sub-ordinate clause & past tense @
A | Option C SIS < tense ST Present tense @ SCE |

[ $f [

Which one is the correct sentence-

A. An idle man cannot prosperous in life
B. A idle man cannot prosper in life

C. An idle man cannot prosper in life

D. An idle man cannot prosper life

S I@l info

Choose the Correct sentence- [AFMC: 20-21]
A. One of my friends is doctor. B. One of my friend are doctors
C. One of my friends are doctor. D. One of my friend is doctor.

SI@] info| Each, One, Either, Neither + of 49T ATTET
Noun/Pronoun plural 27 @R verb Singular 27 |

[AFMC: 20-21]

An idle man cannot prosper in life.

TOPIC EI:] TRANSFORMATION OF SENTENCE

01.

02.

03.

04.

MAT

>,

Fill in the blank with the correct option. No one can — that

he is clever. [MAT. 2014-15]
A.. defy B. admire
C. deny D. denounce

mmmﬂ?ﬁ‘ﬁﬁmﬁOpﬁnnWWW
AfST BT L0 (TS - (a) defy I TF7 TAC0 QT T (TS
SFPE 40| (b) admire S &R FT | () deny T: SRR 40
(d) denounce ¢ TETNCF WSTE 41| TARCE Option ST g
5] ACT AT T (A, 24 990 2@ 51 No one can deny that
he is clever (TFC SR TS ARE = @ T HETD) |

“He died in the village where he was born” the simple form
[MAT: 13-14]

of this complex sentence is-
A. He died in his village

B. He was born in a village and died in the same village
C. He died in a village where his birth took place

D. He died in his native village

m @2 o> AT ZLACR simple, complex € compound
sentence U3 tranformation TITF |

ar=faf® Sentence 67 simple, complex 8 compound ==

He died in his native village. (7 @& &=
TOTA PR |

He died in the village where he was bomn. (¥T @
SIS, 97 ¢ IEA, ORI CT S ) |
Compound: He was born in a village and died in the
same village. (7 G310 ST SRR IERT 9. G2
TFE EE. CT YOI AR |

Which one of the following is the correct negative form of the
[MAT: 12-13]

Simple

Complex

sentence “ Every mother loves her child”-

A. every mother does not like her child

B. There is no mother who does not like her child
C. Every mother hates her child

D. There is no mother but loves her child

S!@] info | Every ¥ sentence T< negative N9 207 every ¢ AATS
there is no + every ¥ 7RIS subject + but + 3 St Frte 27 |

Which one of the following is the correct affirmative form of
[MAT: 12-13]

the sentence “ You cannot but do 1t”?
A. You can do it B. You should do it
C. You shall do it D. You must do it

S@E Must/have to/has to 9¥ negative 51301 can not but Tt
A0S T | Had to @9 negative FC2 ZF could not but Az

o1& sentence 0¥ affirmative '@ negative form ZTaT:

Negative: You cannot but do it (& BT @BT 7T 2{1aT =) |
Affirmative: You must do it (9<: (SIS TI=72 46T TS ZJ) |
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05.

06.

07.

Which of the following is a complex sentence?
A. Move or you will die.

B. Let them do this or they will die.
C. work hard or you cannot prosper in life.
D. If he helps us, we shall win.

S[®]info| o7 SPTH Sentence © &FF | JA- i) Semple

sentence, 11) Complex Sentence, i1i) Compound Sentence
Simple Sentence (551 ©: Sentence Wd SFCS In case of, Owing

to, Beacause of, Without, Having, By+ingd% Verb 397 A |
Complex Sentence (B A Sentence 9T SFCS if, as, since,

though, although, unless295IM AMF GI2 JCHT TRIWTA  that,

before, after, because so that, whether, till, untill, unless, when,
where, why, how, which, what, who SSIIW TS |

Sentence ¥ TR and, but, or, nor, also, however, moreover,

thus, so, therefore, else, still, as well as, accordingly, otherwise,
yet, while, whereas, not only...but also, consequently 251w 1T |

Which of the following is the correct interrogative form without
changing the meaning of this sentence? “The Dillingham

Youngs took mighty pride in their possession.” [MAT: 08-09]
A. Didn’t the dillingham Youngs take a mighty proud in their

possession?
B. Didn’t the Dillingham Youngs take a mighty pride in thier
possession?
C. Didn’t the Dillingham Youngs took a mighty pride in their
possession?
D. Didn’t the Dillingham Youngs take a mighty pride in their
possession?
S[®]info| Affirmative: The Dillingham Youngs took mighty
pride in their possession. (R @7 SEA-owd@r S
SRR G Y2 ST 090 |
Interrogative: Didn’t the Dillingham Youngs take a mighty
pride in their possession? (FEFRIET W7 Sw-wFaRl & S9a
AT G Y32 S FACST 717)
©ETdT, A& Sentence © ‘Jim and Della” /& (TF & G0
#127 | QA Dillingham youngs 35¢% Jim and Della & JRT

TLACE |

Which of the following is the correct compund form of this
sentence? “ As he felt a great love for them, he blessed them
from heart”. [MAT: 08-09]

A. He felt a great love and blessed them from heart.
B. He fell great love for them and blessed them from heart.

C. He felt a great love for them and blessed them from heart.
D. He felt a great love for them and blessed from heart.

S[@®)]info| @T4fERS Sentence & €T Complex Sentence.
SR G, SO S © & | ¥ — 1. Simple Sentence, 2.
complex Sentence '8 3. compound Sentence.

o8 Sentence 67 ot F912 6 LT TET:

[MAT: 09-10]

Simple Feeling great love for tehm he blessed them
from heart.

Complex as he felt great love for them he blessed them
from heart.

Compoun He felt a great love for them and blessed them
from heart.

FIoT N ZEE: ST &fS SIS SERET WS T (TR TR
of S aTE %9 (AT I 0 |

08.

09. TG AfGP negative sentence? Man is mortal.

01.

02.

03.

04.

Which of the following is the correct conversion of this
compound sentence to simple sentence using a prepositional
phrase-“He was terribly unhappy but he did not blame the
girl”? [MAT: 07-08]
A. In spite in being terrible unhappy he did not blame the girl.

B. In spite on being terrible unhappy he do not blame the girl.

C. In spite of being terrible unhappy he did not blamed the girl.
D. In spite off being terrible unhappy he did not blamed the girl.

S@E ST SIS Sentence [ &7 | -

1. Simple (3@#) 2. Complex (&) 3.Compound (T=)

o ©fgfd® Sentence ot T Simple, complex 8 compound @
W [ I F

Simple In spite of being terribly unhappy he did not
blame the girl. (<: wiFer <782 79 7@s o
LT @IRIE™ FE &) |

Complex Though he was terribly unhappy he did not

blame the girl. (W<: Tfrs fofF 432 “rrER zafE
o7 ot @ = ) |

[MAT. 2003-04]

A. No man is immortal B. No man 1s mortal
C. Man is not mortal. D. Man 1s immortal

SI',-'N info| Man is mortal. (I3 ﬂﬁq‘fﬂﬁ); 9% I affirmative
@2 JBE g AP Negative form ZF | TA- 1. Man is not
immortal (Ff3<) =T === 77 | 2. No man is not immortal (Af5F)
I a2 = 7 |

d DAT
‘Only an honest man is happy’. Its negative form without
any change of the meaning is—. [DAT. 16-17]
A. An honest man 1s not only happy

B. None but an honest man 1s happy

C. No honest man 1s unhappy

D. An honest man is not happy only

S[@®]info| Only wrt W& T Sentence & Negative FAF T
None but 9IS T | T3 9 "R¥IT AT not more than/not less
than 077 | <& LT nothing but 07 |

Which of the following is a compound sentence?
A. I offended him because I did this

B. He kept the promuss he had made

C. I did this and so offered him

D. He kept his promise
E@E <47 so word® Compound sentence &3P IH |

S ‘C’ T Compound sentence

Which of the following is compound sentence?
A. Digging a deeper hole, he steadied it

B. Let us read or we shall not pass

C. If you read more, you will know more

D. When the school broke up, we went to play
S‘@I info| 93T or word® Compound sentence &FM I |

9 ‘B’ T®& Compound sentence

Which of the following is complex sentence?
A. Our night would have been very joyous

B. It is a very pitiable sight

C. The evil that men do lives after them

D. The colours of the snakes were very beautiful

S[@]info| ITZFF ITx I SFTS that, though, although QST
A Complex sentence H | W= ‘C” T Complex sentence.

[DAT: 10-11]

[DAT. 2009-10}

[DAT. 2009-10}
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05.

06.

07.

08.

01.

02.

Which of the following is the correct simple form of this
compound sentence using a prepositional phrase —” He was
terribly unhappy but he did not blame the girl.”  [DAT. 2007-08]
A. In spite on being terrible unhappy he do not blame the girl

B. In spite of being terrible unhappy he did not blame the girl

C. In spite of being terrible unhappy he did not blame the girl

D. In spite off being terrible unhappy he did not blamed the girl

SI@,infn In spite of B Prepositional phrase, e TR
oo ‘C’ SR in spite of being terrible unhappy he did not

blame the girl.
Whenever there is smoke, there is fire -99 Jfé% negative

sentence (FAL? [DAT. 2003-04]

A. Without fire there can be no smoke
B. No smoke can be there without fire
C. There can be no smoke without fire
D. There can not any smoke without fire

SI@[infn 5T Twg 9o ‘C’ WER There can be no smoke

without fire.
He is the best friend 97 7féa negative sentence (FI9b? [DAT. 2003-04]

A. Noone is better friend thanhe B. No one is best friend as him
C. No fnend is better fiend thanhim D. No friend is better than he

[SI®)]info] 7%= €&z w=F*F ‘D’ W< No friend is better than he.

All the following sentences are compound except- [DAT: 02-03]
A. He was 1ll, therefore, he could not come.

B. He must return the goods or pay the bill.

C. Speak the truth and I shall pardon you.

D. I offenedd him as did this.

S[®]info] W= ‘D’ wdR I offenedd him as did this TR

Complex sentence. BIEIRE | compound sentence.

§.¢
| 2
“JR e AR AMeEr AGites” Translate into english-

A. Father used to teach me regularly

B. Father used to taught me regularly

C. Father used to learn me regularly

D. Father used to read me regularly

S whY| sSites =17 R[S Used to (modal verb) @3 =
verb U9 base form JC7 |
® Teach — == (197 |
® Read — e *f%f |
“wifiy e e @SN 97 translation A2 [AFMC: 20-21]

A. 1 went to college regularly B. I used to college regularly
C. Iused to go to college regularly D. I go to college regularly

S[@l info| Used to + v(base form)-I used to go to College
regularly- s 7R Fteter @I |

[AFMC: 21-22]

® [earn — I &ize <47 |

TOPIC i) TRANSLATION

01.

d VAT
‘T cotta ﬁﬁ\ﬁrﬂiw | Which one is the correct English

translation? [MAT. 2018-19]
A. T am much obliged to you B. I am very much grateful to you

C. I am very grateful to you  D. I am most obliged to you
S[@info| atie aF: ‘wift srr e Rew FewHke
Translation: T am very much grateful to you 9@ S SIS
G I97: I am very much aware of the lack of food supplies
wef: <1y TTEREIER Wibew qneieE i Rew e |

02.

03.

04.

05.

06.

PG o

1T ©ISd TG &Y 516 923 I AR F90e 27 |
Which one is the correct English translation? [MAT. 2018-19]
A. An entrant will have been working hard for five years to

make him a physician
B. An entrant will be working hard to five years to make him a
physician
C. An entrant will have to require to work hard for five years to
become a physician
D. Five years hard working for an entrant will make him a
physician
S[@]info| ©Z 2rb oM AT (AT T AAR | AT ATIE M
‘TRl ARTER ©ARM TA' | Where there is a will, there is a
way TER@TE G2 wedT: @ S ofw « @R o[am
T A2 G AT | TE O €<, TF 9IF 9F | Man proposes
but God disposes. - TS F (57 ST | To carry coal to new
castle - T A &9 T IMake hay while the sun shines. SI¥4T,
Strike the iron while it is hot.-F16T f4t& ST (ST To set a theif to
catch a theif .- TSTATST 517 P@ (9 (7T &7 |
‘TR AR TAM ' | Which one is the correct English
[MAT. 2018-19]

translation?
A. Where there is a will, there is a way
B. Where there is a will, there is to way
C. Where there is will, there is way
D. Where there is to will, there is a way

M info| Way @3 9 Article o I3as® S0 I61R |
“Bfil & Wi AiTe wPE?” It e Swafe w1 2e@-

[MAT. 2017-18]

A. Will you come today night? B. Will you come tonight?

C. Will you come this night? D. will you come tonight?
S[3)]info| ‘& FTS" @ 7w 27AMT TR tonight TOOT IRF B

AfGT AR M ZCEl- Will you come tonight?

(ST AT S| SIS AT 9 2AST R this morning. FE
this night I 9T |
"TIST OFF |” B AT 2 WA T3- [MAT. 2017-18]

A. Call doctor. B. Call for doctor

C. Call in a doctor D. Call in doctor

S[@]infa| ‘Call in’ Prepositional Phrase & e 36w
ARZSTS AT T FIECT (BT ! I ST 9 IS 2 |
IS AT ©ITe:| Call at (S 7GR & @F Z (72T F41):
Yesterday he called at my office. Call in (SIFE ©IFl): They
called 1n a doctor.

“SIF P F?” W IAMOT RETS AT T3- [MAT. 2017-18]
A. What 1s his position? B. What is his capacity?

C. What does he does? D. What is he?

S[®]info] Option (a) 8 (b) T 7| FES GLTT (PIT P
BT 2 | Option (c) 93 IMG A3 ot I TF I I
does T T do ZCST | TFAR: "OF (97T If7’ G2 IRFHOT A 20T
T T A T does 1 A do =0T |

TFAG: "OF 2R PP’ 3 A6 AT SYRTOSTET FEw:

1. What is his profession? 2. What does he do? 3. What is he?
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07.

08.

09.

10.

11.

“Srafiy S 2t AT TSI A SO S S 2T
[MAT. 2017-18]

A. Thinking, if I could be a king! B. I wish I was a king!

C. I wish I were a king! D. I wished I were a king!
S[@]info| &1 Option (A) @3 I FoF 7 | IFAT QAT
SR (AT e Seraet 941 28 | Option (B) 93 A0S ARG
T | AW AT 20O I TF INIT 1 @ AW was 7 T were
ZrST | Option (D) €T IAFIBE ADT 77 | IAFIT AGF ZLST W OF
JCFT 1 99 9T wished 71 T wish Z0ST | IR SET IS

Translation:
1. T wish I knew his name! (SIS I 17 6T FFSE)

2.1 wish I were a baby again! (¥ a7 =R Fre T=m)
“Fet Wit w2 IR o@r” It At & SR
@D ? [MAT. 2017-18]

A. I must do the work. B. The work must be done.
C. I wall have done the work surely. D. I must have the work done.

Sll:l)l info | &T¥& I Causative (ST f&Fal) @ @36 7 |
AT Option (a), (b) 8 (c) AT TT 7 | IE QGTANT AT
Causative Verb 43 I9%F 391 T4 | 758 Option (d) T8 have *=iC
Causative Verb 932 @2 03T A NIET A0S FET 9990 6T |

‘fofr awmifer YT = | Which one is the correct English

[MAT: 16-17]

translation?
A. He sometimes tells a lie. B. He seldom tells a lie.
C. Some what he tells a lie. D. He tells a lie sometimes.

S[®]info| f&f7 awiftx =T 2t | 73S Translation =T=M: He
seldom tells a lie. SI¥€l, He seldom tells a lie. SI¥<l, He hardly
tells a lie. =91, He rarely tells a lie. =941, He rarely tells a lie.
Note: THETE Translation-STaTR 04 FAGTAIR ADS |

The correct translation of- Wﬁi@qﬁw is-

[MAT. 2015-16]
A. It was raining from Sunday. B. It has been raining from Sunday.
C. It rained since Sunday. D. It had been raining since Sunday.

S|I])|infn oT{I& G 1% Past Perfect Continuous. =& SIET
GIW @ TOTSFIE (P TT 4T T I F& Fa1 A 18T T
@16 Past Perfect Continuous. W& ST GiF @ WO &IF
MW 4TF TN (AT TG FAT I 9T QT @16 Past Perfect
Continuous ¥ | TF 5157 ZCR: Sub. + had been + Verb-ing +
Since/for.... ©12 =& Sentence@ @ RS FA07 WA AR«
TS AT @ A, B € C 3% $&al6 z0®& D. It had been raining
since sunday. (W<: TR 23TT B 23S |
Choose the correct English translation "51% 9T (4T 9I5|
[MAT. 2014-15]
A. The cow eats grass B. Cow eat grass
C. Cow lives eating grass D. The cow lives on grass

Sl®]info] 7% F3: live on = T AW W I G- 41 A
&5 AT | live by = (FF TAE &G AT | live in, at = T A
I 341 | live within = ST 5417 |

Correct english translation of, “SI21q a9 @61 is-[MAT: 13-14]

A. He is a blockhead B. He 1s blockheaded
C. He is coarse headed D. His intelligence is thick

m Blockhead = (WBI§&a G (A very stupid person)
WO ([T FTIRS LA stupid I blockhead F9T 2T 5% F4:
GT QIGH WSF (ST @EF = he is a blockhead., @ I&d I8
I6T = He is blockheaded.

13.

14.

15.

16.

17.

18.

Correct English translation of Bengali phrase, “CiF/ Gt
A is- [MAT: 13-14]
A. Money makes money B. Money things money

C. Money beings money D. Money begets money
S{®)info| Proverb-99 CF& Translation-4 word 99 &G

oAff ST =T = |
The correct translation of “<i¥is I I AGITE” is- [MAT: 12-13]

A. I feel nausea B. I am about to vomit
C. I tincy I will vomit D. I feel vomiting

m Nausea: I I 9| Vomit: I F4T | AR “HINR
3fr AT =ee”- W2 I AGS A T 1 feel nausea. THC
AT SICET: Fever = &9, Feverish = §9 &9 ©F |, 9NHE &9 G9
=eit=: 1 feel feverish.

Which of the following sentence is the correct english
translation? “S=ET o0& CNFMT AgW 9 a1 17 [MAT. 2011-12]

A. We do not like corrupted people.

B. We are not liked by corrupted people.
C. We did not like corrupted people.

D. Corrupted people are not our liking.

S[fYinfo| Present Indefinite Tense A& Negative Translation
@ CFE AW Verb R0 Do/Does 1927 31 2 |

Which of the following is the correct English translation of
that M sentence? [MAT: 10-11]

A. ST &G I $5f4: 1 live within village.

B. WifT (er=iiote «aio 32 fAtafe=mT: I give a book to the boy.

C. ST (@A (ATF WFTZ? where does you come form?

D. Of $T 4&=? What are you looking for?

S[]info] 2= (a) incorrect: 7% translationls =@ fFzet:
SIfsr ST T FF-1 live in a village.; &T%F (b)- incorrect: o
translation 0 @ F=Fe: 9N (@EowE @0 98 WMo — 1
gave the boy a book.; 8T (c) incorrect: 74 translation & T
=@ of (PR (T SFR? - Where are you coming from?;
49 (d)-correct: @'ﬁ?ﬁ' {&®? — what are you looking for?
Which of the following is the correct English translation of
the AT word I99'? [MAT: 10-11]
A. due time B. wicked

C. son of a Brahmin D. tailless

Sl info] =7 @3 @& = Due time (AT 797) A 76D
I | S ARAE RIS (TS FIFAT I, 4 FOR T4
g 1" SR 49 IR ST TN AR | AR 99 = THYS
E = due time.

Which of the following word is the correct English
translation of the bangla word ‘afSsiat"? [MAT: 10-11]

A. transliteration B. homage
C. coming towards D. corroborative
S[@info| Transliteration: SFISEE THR, homage: I,

ofST=I, =H&F, coming towards : I WE <™ e
corroborative : A, AT |
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19.

20.

21.

22,

Which of the following pair contains correct translation of
that English proverh? [MAT: 09-10]
A. To carry coal to new castle : TS A (<7 (94T |

B. To add fuel to the fire : T3 LI &1 =T |

C. Strike the iron while it is hot : 36T L' (T2l TR |

D. Practice makes a man perfect : T3Sl 5IF P (9 @G
TEH |

S info| etxiimRe 86 IWE &M IFT | AT MG AE AIM

57 8167 AP 3@ Translation ez

>. OO M (=1 (MSAT: To carry coal to new castle.

2. T TR &1 T Make hay while the sun shines.
54T, Strike the iron while it 1s hot.

©. BT W FIBT (ST : To set a theif to catch a theif.

8. GGLST 517 P& (99 (7477 S : A burnt child dreads the fire.

Which of the following is the correct translation of that
Bangla sentence? “Wi¥E (¥ ©i3@ Wil ¥2 I|q ¢ 1%, fof

FitakeE g3 v AAfSrere | [MAT: 09-10]

A. My brother, whom I have not see for two years, is studying in
an American University.

B. My brother, whom I had not seen for two years. is studying in
an American University.

C. My brother, who I have not seen for two years, is studying in

an American University.

My brother, whom 1 have not seen for two years, is studying

in an American University.

S[®)info| &TIE R ABA A5F 2K Translation FEa:

My brother, whom I have not seen for two years, is studying in
an American University. (WIF (@ OS2 T 92 928 @ 7R,
fof winfear walt e sferste) |

Which of the following is the correct English translation of
this Bangla Sentence? “Sal ©iva RE+ (T G TR

T G (AF SO T OiF IPT Fitew @fFIT opiE ol I
& | [MAT: 07-08]
A. The early riser has done large quantity of hard work before

other men have got out of bed

B. The early riser has done a large quantity of hard work before
other men have got out of bed

C. The early riser has done a large quantity of hard work before
other man have got out of bed

The early riser has done a large quantity of hard work before
other men had got out of bed

S I‘B‘ info | 7if%< ©&7 B. Present Perfect Tense Have/Has + V3

Which of the following is the correct english translation of
this Bangla sentence? ““ISIetal I AT G ST =etal &F
T AT | [MAT: 07-08]
A. The trees will look different when the leaves have fallen off.
B. The trees would look different when the leaves have fallen off.

C. The trees will look different when the leaves had fallen off.

D. The trees will looks different when the leaves have fallen off.

SN info| Q41T MMt 7ML would TR T = |

D.

D.

23.

24,

25.

26.

27.

28.

Most appropriate translation of the sentence: “'-'ﬁw IR
I WAt Fie Sy |7 [MAT. 2006-07]

A. We have been working before the sunset.

B. We had been working before the sunset.

C. We had worked before the sunset.

D. We would have been working before the sunset.

S[@]info| Past perfect tense @ 96 ITT JC0 (T Ires T

9 T ST << before 07 |
Find out the correct English translation for the following
sentence “FFT (AT oY & I 2R” [MAT: 05-06]

A. It is drizzling since morning.

B. It is raining from morning.

C. It is has been raining from morning.

D. It has been drizzling since morning.

SI@I info| 7 &f® Q% (%] drizzling *[F10 JIZE AT T |

Select the best English translation for the following sentence

"R AT A IRCC W@ @, W T S TS w21qw o

SRR &=y AR 1 [MAT: 05-06]

A. While eat food, we should bear in mind that we do not eat
just to satisfies hunger or to fill the belly.

B. While eat food, we should bear 1n mind that we do not eat
just to satisfy hunger or to fill the belly.

C. While eating food, we should bear in mind that we do not eat
just to satisfy hunger or to fill the belly.

D. While eat food, we should bears in mind that we do not eat

just to satisfy hunger or to fill the belly
S[@]info| W T @RICS While 9R T4 @RS @RITS

Satisfy IR 1 LAR |
Select the best English translation for following sentence
" (I T T I FACS AT A [MAT: 05-06]

A. None can live a alone. B. No one can live alone.
C. Nobody can live alone. D. None can live alone.

S[@]info| Nobody =T (T TACS (IR 0K |
“q3 92ef POl WNE WRHe WPl I3 Wiy IA|HT Ae

e 7 [MAT. 2004-05]
A. Besides these books I have many other books.

B. Beside these books I have many other books.

C. I have many books beside these books.

D. I have many other books beside these books.

ST info] besides =t < grels, TSI | Besides 97 4T also
I8 IS AT | T2 Beside 9 9 ZET ST | W99,
T[S I AFI6F ASF Translation ZETI- Besides these books I
have many other books.

“Jee TrREAr Bt Bt FrEem A" qwbe e Jwafer
WA? [MAT. 2004-05]
A. Science Laboratory is on the east of Dhaka City College.

B. The Science Laboratory is in the east of Dhaka City College.
C. The Science Laboratory is to the east of Dhaka City College.

D. The Science Laboratory is situated on the east of Dhaka City
College.

S[@]info] s B = ATt JHRE to the east, TR
BT S AT RIRTT on the east, AT oo P =it R

1n the east |
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29. “SIF AL T I ST LI (TG ot ©fps” Ao

30.

31.

32.

33.

34.

35.

36.

Fearer

Jr = [MAT. 2004-05]
A. You should give up smoking without delay.

B. With out delay you should give up smoking.

C. You should give up smoking passing no more time.

D. It is high time you gave up smoking.

S[@]info| give up =< Sr I AT (RCE ASAT | With out delay-

W AT I |
“TUT SIF FACS A1 FAre2 ARG Bre o qeva Al e St
A7 [MAT. 2004-05]

A. As soon as he aimed at the bird than it flew away.

B. No sooner had he aimed at the bird than it flew away.
C. The bird flew away before he aimed at the bird.

D. The bird flew away no sooner he aimed at the bird.

S[3)] info | T 1 T2 @RS No sooner had [T T4 & |
0 AT translation? ST @F WFT SIS |1 [MAT. 2003-04]

A. I know Ameer is a coward. B. I know Ameer 1s coward.
C. I know Ameer being a coward.D. I know Ameer is a coward.

S[®info| Coward =< S 31 1277 |
TG 7% translation? &St AL g | [MAT. 2003-04]

A. Honesty is the best policy. B. Honesty is the best virtue.
C. Honesty 1s the better way. D. Honesty 1s the good way.

SI@! info| Proverb ©3 @ I WG W2 Structure follow
T L AT |

I 73% translation? “SIS&l SFPT ETIR0R 129 IR A 1" [MAT. 2003-04]

A. We do not like idle people. B. We did not like idle people.
C. We are not liked be idle People. D. Idle people are not our liking.

S info] @ ©3% Simple Present Tense @7 SART | @M
Negative 99 & Hidden Auxiliary Verb do T9%F 41 TR |

“wiff comm s e gow” | @3 A A [Fm T
(FIID? [MAT. 2002-03]

A.1am much obliged to you B.Iam very grateful to you.
C. I am very much grateful to you. D. I am most boliged to you.

SI@]infn Very grateful R WWWWI
“wiate 7w <ife T Tt 4Fe1” B AwHF AféF Translation:

[MAT. 2002-03]

A. T wish I had the wings of a bird!
B. Had I the wings of a bird!

C. Have I the wings of birds!
D. Wish I have the wings of birds!

S[(®)]info| <P FEAT (RIS had I 41 A |
The most appropriate translation of the following sentence.

“PIAMET @A S5 FACS IR, T TS VGSIT FeNTEat A0S 8
et fare wfzeitas Sgw w9t will be. [MAT. 2001-02]

A. Kamal inspired the women to give up their veils and become
equal to their male counterpart

B. Kamal inspired the women not to wear their veile and walk
about and breathe freely to be treated the same way as men

C. Kamal abandoned the women of their veils and walk about

and breathe freely in the same way as men

Kamal inspired the women to give up their veils and walks

about and breathe feeely in the same as men

S info | =or <A” ez |

D.

37. ‘YN8 WIFH (T4Ey, ¥ AR (@ EIF 2R IR (9 T Fe

01.

02,

(0B FITR Site TR Ty ekt Affsw o 1)’ 2 Awhe
Y AT @R (T TRAD WSS (o (FAG?  [MAT. 2000-01]

A. The sky is still coudy, but it is going to be blue soon as there
is a strong wind the clouds are going away

B. The sky is cloudy at present, but it is going to be cloudless soon
for the mind is blowing hard and clouds disappearing fast
Although it is now cloudy, the sky will become clear quickly
as the winds are strong and the clouds are moving away

The sky is still cloudy, but it will clear up soon for the sind is
blowing hard and the clouds are flying fast.

S[@]info| 7f5s T 2 w7+ C’

CX DAT

Choose the correct t_raﬁslatinn of “SifSr cetwiig AL ArFey =t
A | [DAT: 20-21]

A. I wish you all success. B. I wish all success of you.
C. I hope you all success. D. I long for your all success.

S[®Yinfo| wish somebody something - to say that you hope
that somebody will be happy, lucky, etc. - 9F&= 3T, SEIAF
271V T(T G2 ST A% T |

Choose the correct translation of the sentence “(SISITE WI*J3
oAt F6AT “AfeT TS T~ | [DAT: 20-21]

A. You will perform your duty B. You should perform your
duty.

C.

D.

C. Perform your duty properly. D. You must perform your duty.
S[®)]info| You must perform your duty. - (SIEIGE W53
(ST WIS A= 90 TF |

03. SISET ST (FTIFtqa ™ ¥4 9 ; Choose the correct English

04.

05.

translate’
A. We are not like the idle people

B. We did not like idle people

C. We do not like idle people

D. Idle people are vnot our liking

Sl@]info]| a6 @3 Simple Present Tense 9& SAIAT | A
Negative F9F &7 Hidden Auxiliary Verb do T9%F €T IR |
AST BGT WA C° WL We do not like idle people.

“The rose is a fragrant flower’ -JFHT FBF I FFAW -
[DAT: 18-19]
B. CSHeTt® ST =

[DAT: 18-19]

A. (T IR0 o
C. st 51t = D. CITETS W 8 SPE=rd Fo
S|@]info] fragrant == pifF = T3zw 40 TA®R | AT T&w
A <C” AR (ST T e |

e ARPre wites JqMr 72 Choose the correct English

translation of this proverb. [DAT: 18-19]
A. Teeth are not valued tll they arev loose

B. Teeth are not taken care till they are gone
C. Blessing are not valued till they are gone
D. We do not value they healthy teeth

S!@l info| Proverb W3 =@ v O M2 Structure follow
IE T RSN | ADE Teq W ‘C° WA Blessing are not

valued till they are gone .
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06. ‘737 zTe IR 2= TSR | 15. ‘I have hardly any money’ 0T ABF N S[{W-  [DAT. 16-17]
Choose the correct English translation. [DAT: 18-19] A. SN (FF BT (2 IS O B. I [95g Bt =it
A. Tt had been raining since Sunday C. SN & 51T (12 D. SIEF &S BIT 9=
B. It was raining from Sunday. S[finfo| hardly == ==&T Negative Sense &M I | 2
C. It has been raining from Sunday. T S WNE & 51 (78 IS 5 |
D. It rained since Sunday. 16. Which of the following is the correct English translation of

Sl@l info| Past Perfect Continuous Tense €¥ Period of time that T sentence? IDAT: 10-11]

JAMCS since I T AR | , A. S ¢strerere@ JT If3: I live in Gopdanga

07. "N (AT (TDTe Feee Freeta St e’ | B. @ft @36 ©fel (GFIE AT: This is leg of a broken chair
Choose the correct English translation. [DAT: 18-19]

C. IR 9} TR f7%% 2==: Ravana was kill by Ram

A. English is the method of teachineg Dental College in our country.
N - - oy D. oE® HQ*'E@?I S TP [T The cat jump on the rat

B. The medium of mstructions in Dental College is English in our country.

C. The medium of education in Dental College of our country is English. S[®Y]info| = ZIC T T4 =L Live in TR 41 2 |
D. Dental Science is taught in English in our country. 17. Which of the following is the correct translation of that
S[@]info| = ST @RITS The Medium of education 4T Bangla sentence? ‘33w Wbt IRATICE wgmy At wera
I AP 2T | G5 TN 96l | [DAT. 2009-10]
08. ﬁWWWWI A. The emergence of Bangladesh in the map of the world is a
Choose the correct English translation. [DAT: 18-19] memorable events of the twentihth century
A. The authorities took him to task. B. The emergence of Bangladesh on the map of the world is a
B. The authorities took him to book. memorable event of the twentihth century
C. The authorities gave reminder to him. C. The emergence of Bangladesh in the maps of the world is a
D. The authorities threatened him. memorable event of the twentihth century
S[@] info| Take one to task ¢ &%= =1 | D. The emergence of Bangladesh in the map of the world is a
09. “SFIE QAT QAT TR |” AW Afde Tt AW e @i ? memorable event of the twentihth century
| _ IDAT. 17-18] S[0)info] 3% T&a W= ‘D’(S Map 4R Event @3 L s =
. LWl g0 oW B. Lam going now 2T @32 Preposition in LFE I AGF |
C. I have to go now D. I must go now

18. Which of the following is the correct English translation of

this sentence? ° P ©iR- =
10. “319 SFT I O SFT SN 0T A TTLAS WGaT LT |DAT. 17-18] s sentence? ‘(> SIR-TAI SR O OIRIF G

A. All well that ends well B. All well that end well bl | | _ [DAT. 2008-09]
C. All are well that end well D. All is well that ends well A. The boy has many brothers and sister, yet he seems to be lonely

S[@] info| 2% IFIB &AW T AT Proverb. @ IFIHT 25T B. The boy has many brother and sisters, yet he seems to be lonely

= : C. The boy has many brothers and sisters, yet he seem to be lonely.
& TR~ All well that end well 5 7 SFT T O ST O | D. The boy has many brothers and sisters, yet he seems to be lonely

11. Wﬁﬂwwmmmwm IDAT. 17-13] M APF TEE W ‘D’ 94 The boy has many

A. He ever comes here B. He hardly comes here § esitore and sl Y e e
C. He casually comes here D. He seldom comes here CUTECLS Al SIOIGASS, Yok TH LI AC-DE NN -

W infolSeldom *8 @ Neecative *7 | 7 o zw(He 2T 19. Which of the following is the correct English translation of
S[@]info E;ﬂ :T o | cgative this sentence? ‘G0 &1 {1 s AR Tt Fare=: o9 ©f

12. S St APt ST A AT AT AR TR LGOI DAT 16:17] | e | [DAT. 2008-09)]

: A. One thing Rip hated most and that was work
A. Do not be an thme  B. Donotbe me
0 ery Wit angry upor B. One thing Rip hates most and that was work

S[@]info| GTs 2T @RITS To go IR TACS 2 |

C. Do not be angry for me D. Do not be angry on me & G fals i hngic e :
m st = = Appropriate Preposition Angry with ST | . OUne thing Rip hated most and that 1s wor

. Sie’ T S : D. One thing Rip hate most and that was work
" qtﬂlﬂ .? Fy . - . & &
13. ‘ot o _ ,: [D,{,T 16:17) S!@l info| 73< Translation ZC62 W ‘A’ SR One thing Rip
A. This is out of my power B. This 1s beyond my ability

C. This is beyond my reach ~ D. This is out of my function hated most and that was work.

M beyond reach W& FTISYS | 20. ﬁi;}h u[l thse ft:]lnw'tng ;swt;i%;;;c;;]gl::; ttﬁaérlf;i{;n 7;;
‘ - S s Bangla Sentence?

S SR R e R W;‘:}ﬂ:‘ﬂ 9T AFTS AT 1 [DAT. 2007-08|
A. Smoking is injurious for health A. My five year old daughter Mini cannot living without chattering
B. Smoking is injurious to health B. My five year old daughter Mini cannot live without chattering
C. Smoking is injurious on health C. My five years old daughter Mini cannot live without chattering
D. Smoking is injurious with health D. My five year old daughter Mini cannot lives without chattering
S[®]info] injurious ¥ AL Appropriate preposition ‘to’ I | Sl info| 76 Translation 2t W#== ‘B’ e My five year
injurious to- FSPREF | old daughter Mini cannot live without chattering.
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21.

22,

23.

24.

25.

26.

Which of the following is the correct English translation of
this Bangla sentence? “Srif & St it gt BT 419 Ig7

FAEA? |DAT. 2007-08]

A. Would you grant me a loan of Taka five thousand?

B. The trees would look different when the leaves have fallen off
C. The trees will look different when the leaves had fallen of

D. The trees will looks different when the leaves have fallen off

S[@I info| 5% &7 g W+ ‘A’ W¥R Would you grant me a
loan of Taka five thousand? Would you grant =< &z 357 |

Which of the following is the correct “complex sentence”? |[DAT. 2007-08]
A. The girl sitting in the comer is my sister

B. The Magi brought valuable gifts

C. I saw a bird flying

D. The woman who 1s reproted 1s a spy

S[]info| Who, that, though, although Q@&T=TT 4T Complex

Sentence Z | 7P ag o W ‘D’ SR The woman who is
reported 1s a spy.

Which of the following English sentence is an appropriate
English translation for the Bangla sentence? ‘SR -

FRATBIC S TRFACE 4TS T (Of IR [ e

1AW BT TIES S0 AT | [DAT: 06-07]

A. The true aricestor of the modish computer was designed by
the English mathematician. Chares Babbage in the 1830’s

B. The true ancestor of the modern computer was designed by
the English Mathematician, Charles Babbage in the 1830°s

C. The true descendent of the modern compuyter was designed
by the English Mathematician, Charles Babbage in the 1830’s

D. The true successor of the modern computer was designed by
the English Mathematician. Charles Babbage in the 1830°s

S[@info]| Ancestor & %< o7 1 sifrw *ERW sEFT WSS
A=t 3at= | AP Translation & 4= ‘B’

Choose the best English translation for the following
sentence. ‘G GOH CIRCS U T JNF AP [DAT: 05-06]
A. To reach the raillway station, one hour 1s required

B. One hour is required to reached the railway station

C. It will take an hour to get to the railway station

D. It will take an hour to go to the railway station

S[®info| 94T Y IBT TSI @ERITS One hour is required
IR T AR |

Choose the best English translation for the following sentence-
"SI Site Ioor M, St eite webl Mt I [DAT: 05-06]

A.They given him as much asI B. They have given him as much as I
C. They gave himas muchasI  D. Thgey give him as much as 1

S[@]iﬂfﬂ TS O @RS as much as I | T TBAIG OIS
ATt T G4 Past tense 9T IFT6 A5 |

Choose the best English trnlation for the following sentence.

‘Diewl RettE Tite w2ife et ge drefe Izg [Relw 3

vty ey RSy qrer e e e T@r | [DAT: 05-06]

A.In spite of tremendous advancement in medical science,
thousands of people die of various disease every year,
especially in the third world countries

B.In spite of tremendous advancement in medical science,
thousands of people died of various disease every year,
especially in the third would countries

C.In spite of tremendous advancement in medical science,
thoussands of people die of various disease every year,
especially in the third world counries

D. In spite of tremendous advance in medical science, thousands of people
die of various disease every year, especially in the third world countries

SI@Iinfn 7oe TG WF ‘C’ WER In spite of remenbdous

advancement in medical science, thousands of people die of
various disease every year, especially in the third world countries.

27.

28.

29,

30.

31.

32,

33.

QARE CT W[E - iR 67T Iens Whee @ Ao
ate 6 z@r [DAT: 04-05]
A. He did not come to the college because of his illness

B. He could not come to the college, because be was sick

C. As he was 1ll, he could not come to college
D. Since he was 1ll, he could not come to college

SI@]info| W ‘C’ @R ‘D’ THAGE 7o |

‘wif Wi ges IR Wi @ g R et abe
s [ zxay [DAT: 04-05]
A. T gave my book lent to one of my friend

B. To one of my friend I gave my book lent

C. I lent my book to a friend of mine
D. To one of my friend I lent my book

S[@)]info| = =L Lent =6 3% | wouz Afis Toq wom C’
5¢fTe I lent my book to a friend of mine.
“Ofil & 4aT1q W9E'? 97 S Translation (FFH?  [DAT. 2003-04]

A. What kind of a man you are? B. What kind of man you are?
C. What kinf of a man are you? D. What kind of man are you?

S{®]info AS% Translation THE o= ‘B’ < What kind of
man you are?

‘(RN 79 I A -9 AGF Translation FWG? [DAT. 2003-04)

A. The nich is not always happy. B. The rich are not always happy.
C. The rich are not happy always. D. Rich is not ‘llW'El}'h happy.

Sli®]info| 7% Translation ZETT W9 ‘B’ W<LR The rich are
not always happy.
‘GT JETSITT T 0T T T 919 G -A1007 A0% 3R - [DAT: 02-03)

A. He talks after knowing everything
B. He talks like he know everything
C. He talks knowing everything
D. He talks as if he knew everything
(1) info| As if 93 7T F7F Past Indefinite T | S9q wfow

&g W ‘D’ W He talks as if he knew everything.

‘o yrad WAl cicy iR’ s e e - paT: 02.03)
A. Walking towards the east I found the house.

B. While I walked towards the east I found the house.

C. When I turend east I found the house

D. I found the house walking towards the east

S[®info] Turned *M% &RT T QERIE | WS4 AT Te7
o <C° WL When I turend east I found the house.

The most appropriate teanslation of the following sentence—

“T=TS (@ (AT TSR BCT SIET, GF I3 S (6

CICY AR ZI0T B (ST O DI ITH GTHRT [DAT: 02-03)

A. When Rahmat had come to Kolkata from Afghanistan, he had
brought with him the impression of his little daughter
Rabeya’s palm on a piece of paper.

B. When coming from Afghanistan to Kolkata, Rahmat brought an
impression of his little daughter Rabeya’s palm on a piece of paper.

C. When Rahmat come to Kolkata from Afghanistan, he brought
with him one paper which contained the impression of his
little daughter Rabeya.

D. At the time of coming to Kolkata from Afghanistan, Rahmat
brought a piece of paper with Rabeya’s palm impression on it.

|:I®I info| 3% translation T8 WM ‘D’ WR At the time of

coming to Kolkata from Afghanistan, Rahmat brought a piece of
paper with Rabeya’s palm impression on it.
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3.

T = TR FBCE G2 IR TRIPIERT 32Ee &6 WIGIE— [DAT: 02-03]

A. A pauper has nothing to lose.

B. Too much courtesty, too little craft.

C. Birds of a feather flock together.

D. Tit for tat.

SI@]info] “*It5 *1o7Re FBLE'- AT G (G TETITST S A
2eAfS T Birds of a feather flock together.

TOPIC p4 PROVERB

01.

‘ d MAT

Which of the fnl]nwit_lg;iS the correct proverb? [MAT. 2014-15]
A. All is well that ends well.  B. All is well that end well.
C. All are well that ends well. D. All are well that end well.

S[#info| 221 Y6 &M AT (Proverb) TR A 16 (AT ZC=T:
CIF ST T 979 St OF |

| X

DAT

. “It takes two to make a quarrel” IAPIHBT AT AET F_W

&io? IDAT. 17-18]
A. 51T TSRS 12 SAMF TS B. ¥62- @ ISTST 0o T
C. V3T Y3 Il =T D. 43 TS SIfeT et

S[®) info e IR @R T I Proverb. @ IRIHT A6HTS 2T
ZU%-It takes two to make a quarrel S @ FTS SifFT ACE A |

TOPIC 4 GROUP VERBS

01.

‘ C7\r\/= MAT
Choose the correct _grnup verb to complete the following
sentence- ‘Why are you looking so much — ?°  [MAT: 16-17]
A. run off B. run into

C. run across D. run down

m Run down = S 1%, TE-28, *f&2= 2931 | Run off
= o3iiZ® 29 TAWIE phrasal verb 9 group verb & ST (T
IR run down <7 W4T ATNE SO AR AL A W | TSR
#TF Sentence BT 7I""‘;Ij-'f FACET WIS =g Why are you looking
50 much run down? &% (ST @ OO FE-2T (*fF27) @IHT=R?

TOPIC p¥- SPELLING

MAT

| X

01. Choose the correct spelling? [MAT: 20-21]
A. Entreprenor B. Entrepreneor
C. Entrepreneur D. Enterpreneur
S (@) info | Entrepreneur- STAITE |

02. Choose the correct spelling: [MAT: 20-21]

A. Sovreignty B. Sovereignty
C. Soverenity D. Sovreinty

S[(®)info| Soverignty- JHCSIAP |

. Which one of the following is the correct spelling? [MAT: 16-17|

A. abborigines
C. aborigines D. aboregence

m aborigine wd i ‘ﬂﬁ?lﬁﬁ', AP | TRAB
aborigines (2% spelling) | oW, &TF AT ©BF (c) | qiB
WIFET: spelling (IFF) @ T4 oS I2728 @G S =@
2% ST |

B. abonginnes

04.

(5.

06.

07.

01.

02.

01.

Find the incorrectly spelled word- [MAT. 2015-16]

A. psychology B. seperate

C. receive D. committee

S[B]info| ©* S &2 %8 SR option ‘B’ seperate? 0% G& |
I @3 IEEG ARG T WE QAT T WA @G G6 SheT
Z(ATZ | FADF MG ZE separate TR S =W 41 41 Ry 2471

Choose the correct spelling. [MAT. 2014-15]
A. seperate
C. saperate D. saparete

S[®)]info| T#FCE &tx| @mE BRG option @F T option ‘B’ ¥
Ao | IR =< ST A Rtk =40 |

Note: TGt S *F=@ ‘Spelling” 97 T#7 I9¥E2 o 40
o AT AP | GTFE 92 STR0eT 3A S W “Spelling’ S«
T |

Choose the correct spelling.

A. Leutenant
C. Lieutenant

S[@:]Finfn TARSE 2Bt Option A, B 8 D (3 IMFAEET A0S
7 | %6 ZCE: (c) Lieutenant 7w qifzie @ Rank @3
SN Lieutenant U9 SHFS ETEONTTG | ARG T GF6T 7ZG 74 |
©12 92 AL (Lieutenant) S I &0 ‘At of vt foreret’
(Lie-u-ten-ant) @2 AT 1 04T (@S AT |

Which one of the following is the correct spelling? |[MAT: 13-14]
A. excessive B. axcessive

C. excessive D. excessive

S(:l info| 3% *=f6 T excessive (SfSRF) | &G T SiTa:
Access — STEFE; Excess — WoR®, SIEIT |

d{ DAT

Choose the correct sf}elﬁng-
A. Encyclopadia B. Encyclopidia
C. Encyclopaedia D. Encyclopedia

S[®)] info | spelling @4 Encyclopaedia IMG British English
g |

Choose the correct spelling-
A. Millennium
C. Millenneum

B. separate

[MAT. 2014-15]
B. Leftenant
D. Leiutenant

[DAT: 20-21]

[DAT: 20-21]
B. Milleneum
D. Millenium

S[{®info| Millennium (Noun, 727 I23)
.
o Bl AFMC
ffooe @i D Afoe? [AFMC: 21-22]

A. Questionaire B. Questionnair
C. Questionnaire D. Questionnare

S[@)WhY| Questionnaire— 2= |

TOPIC px IDIOMS AND PHRASES

01.

d MAT

Choose the sentence with incorrect use of a phrase- [MAT: 21-22]

A. I don't want to hear a long description, I just want the bottom line

B. When I come home late, my wife gives me the third degree

C. Don't sell yourself short, you are a good doctor

D. Now that the construction is almost finished, you can pull out
all the stops and take it easy

S[@] info |® Bottom line — essential point |

® Third degree — F1eT KBTS @ g om0t

® Fall short — Fail to meet anexpectation

® Pull out all the stops — to make every possible effort to achieve (sth)
TEAR WA D TS Phrase 03 710 a9z <41 2o |
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02.

03.

04.

05.

06.

07.

08.

Which of the following is the meaning of the phrase “read
between the lines”? [MAT: 21-22]
A. understand what is implied not what is explicitly stated

B. read what is categorically stated

C. read what is implied

D. understand the inner meaning

[S[®]info| Read between the lines @3 &< Zem wBFRS o !
ST | WP C (S ©&F ARS8 &6 5% Oxford Dictionary T

98 (ST TACE O A5 SET T TAT A |

“Take one to task” means- [MAT. 2015-16]
A. to rebuke B. to flatter
C. to question D. to praise

Sl@linfn “Take one to task” Phrase B ws; foawm =1
ATHTE Option TR AT TS 777 907 (74T T @- to rebuke
w<: fSa%@ 411 (b) to flatter W: (STACIW 21, BIpAW F41 | (c)
to question W<: & T4f, (&@l 41| (d) to praise N T T |
THARTE Option &t RTEd 07 R I @ 7o T x:
(a). to rebuke &<: foa%E Tt

“to fight shy of” means-
A. to snatch B. to avoid
C. to adopt D. to quarrel

“To fight shy of” idiom o7 w<f: «fSr w1t 3t ez =
LT | ATHTE Option &t SedT e e 9 )T I @3- (a) to
snatch @< T[S ?J'Iﬁ:TGT (T ¢4 | (b) to avoid wief: ﬂﬁgﬁr B |
(c) to adopt <: == AT AT (T &2 411 (d) to quarrel =:
ST T4 | TATESE Option & [RET e [/ I@M @ AT
TwA ZC5: (b) to avoid WL: «fSwr waf |
The idiom *without issue’ means-

A. childless B. no mother
C. no wealth D. illiterate

S[®info] “Without issue” 9% Phrasel® < FEHRA/HFREM | SRl
i “Without” N TEI® | W ‘issue’ N TWH-7SS | FEE Without
issue GF < TR FEFL | WO G FHF GEa’ TR (a) childless.

What is the best possible meaning of ‘white Elephant’? |MAT. 14-15
A. an elephant of white colour B. a hoarder
C. a black marketer D. a costly and troublesome thing

S[®)]info] White Elephant ((43%31) <36 Idiom, IM W=k <
TR C4eZ3 11 it Ff | [« arir Reme T9ge @ 3 &
e A I | WO TAISE WA APTS9O I I A TS
-9 T 3RS white elephant I 2| WoUd TARCE
Option &TETE =4 fACI6T 0T Option (d) & 70T 713 &7 |

“Food loose and fancy free” means- [MAT: 13-14]

A. Imaginative B. Unemployed
C. Whose foot is lost D. Free to enjoy oneself

S|IDI info | 2747 S0 Food 74T W&, WFE “Food loose and fancy
free” 7H, I BT TR “foot loose and fancy free”. “Foot loose and
fancy free” @3 o ZEET: @I Y (o= 41 | @6 9% idiom Phrase.
Which one will be the appropriate phrase to fill up the gap of
the sentence “He showed when the danger came? [MAT: 12-13]

A. Cold feel B. Cold wad
C. Cold water D. Cold shoulder

S[®]info] Cold shoulder >3 ¢ wRgFTe wivae/aws faw Wik
I4T | AT A M ZE: He showed cold shoulder when the
danger came. (W¢: T oW W ©XF T SRETFTS WG 7+ FIC)
[T T SITEt:| Cold war =4 %RE%, Cold blood =¥ 18T TR ¢T1=F Cold

water 94 SRIZ, SRR, SRR, ST (a) (5 B Cold feel R e
S&4F Phrase TR | S1F Cold Felling & 751 S 1 SWitieT |

[MAT. 2015-16]

[MAT. 2014-15]

09.

10.

11.

12.

13.

14.

351
The words ‘Block Head’ means- [MAT: 12-13]
A. Foolish B. A quiet person
C. Clever D. A dangerous person

S[fY]info|] Block head =¥ stupid R @IS A foolish person.

Which of the following pharases is having the corrrect
meaning? [MAT: 08-09]
A. In the pink: In good health and ready to go.

B. Lock and loan: to be less than fully prepared.

C. Drop the hammer: Get ready.

D. Loose cannon: Directly from the source.

M 871G Phrase ﬂtﬂlﬁ’rﬁﬁ‘ﬂ‘ﬂfﬁ'ﬂﬁ"h

A. In the pink: In good health (BFF S9Z[)(b) Lock and load:
Order to be ready (289 Zd@ Mti*l); (c) Drop the hammer: To
kill someone (FCF TN F4l); (d) Loose cannon: An
impredictable person or things (SeSTI*S/% ¢33 TfF I 37) |
Which of the following phrases is having the corect
meaning? [MAT: 08-09]
A. Take a dive: Undecided until the end, at the last minute.

B. Straight and narrow: Accomplishment of threee successes or wins.

C. Sqaure Meal: A nutritious meal.
D. Under the water: If good luck is willing.

S[@]info| &T=iER® Phrase =@ & Wz@: (a) Take a dive:
Pretend(®1F ¥4T); (b) Straight and narrow: Way of proper and
honest behaviour (®FF SHIT “%S); (c) Square Meal: A
nutritious meal (94f#3% 4M1)Under the water: Secretly (TT9IT) |
Which of the following phrases is having correct Bangla
meaning? [MAT: 08-09]
A. Down to the wire: &St BT arhvesta g=1

B. Knock wood: ST 727 26

C. Pass the buck: I TS SrFd T4

D. Drop the hammer: 9197 S 7 1A

S info| @78 Phrase Sa Aoe o4 Ao (a) Down to the
wire : MG AfSTAIST®R §SE @41 31 31T (b) Knock wood: ST
J& 2ETT; () Pass the buck: FET 9E WITS SI94GAT; (d) Drop
the hammer : FTSCS I 4T |

Which of the following phrases is having correct Bangla
meaning? [MAT: 08-09]
A. At the end of my rope: SOT8 THP

B. By the short hairs: SFI@TS T FSIT 21l

C. One for the road: 577 INGTR 77 (FF TSNS [CIGT 27T

D. Tongue in cheek: Frrmia= fZmna oz 341

m 878 Phrase o7 Af3% o9 =% (a) At the end of
my rope : C4CHA <[ ATE; (b) By the short hairs: S=ZCe A
S5 Sl (¢) One for the road: @99 S ’,i:(.?f 19 T et g
& M AW F41; (d) Tongue in cheek: TEH 4T |

Which of the following idioms contain corrrect English
meaning? [MAT: 08-09]
A. A rear bird : See a solution

B. In the twinkling of an eye: Eventually

C. Keep the flag flying : Keep Surviving

D. A piece of cake : An integral part

S|[@]info] @8 Idiom It Phrase ew=ng Jfes = fimat: (a) A

rear bird : guard 7 AT If &ZAT; (b) In the twinkling of an eye :
I 45 (F9); (¢) Keep the flag flying : Keep Surviving
(WEP &7 FM41); (d) She came down the hill.
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15.

16.

01.

02.

03.

04.

05.

06.

“Hold water” means- [MAT. 2006-07]
A. keep water for the dry season B. bear examination

C. store water D. patience

S[®]info| “Hold water” @2 Phrase o7 &< =C=1 A= Sarf
7enf =T B 4Fl, oy AT zear | Example: (i) TOMEE
4T 8T T Ak Your idea will not hold water. (i1) TSI &
o= 3 7 : Your theory will not hold water

Choose the correct English idiom for “*if% ¢reat” |

A. Bring on book B. Bring to light
C. Bring in light D. Bring to book

S|IDI info| Bring to book u<f *If® o, Bring to light &M 7 |
Bring on book, Bring in light. Phrase X6 3f<s =7 |

| X

[MAT: (5-06]

DAT
What is the meaning-nf the phrase ‘Hold wate’? |DAT. 19-20]

A. Keep water B. Bear examination
C. Drnink water D. Store

S0 info | Hold water ¥ Phrasel6q &< (T2 G 91 IS4 2931 |

Which one of the following is the correct English meaning of
that idiom? [DAT. 2008-09]
A. A back seat : A low position in the order of priority

B. A bag of bones : Show good results
C. As it were : A particularly difficult
D. Armed to the teeth : Something that is cause of dispute

m A back seat 9 ¥ WIZM | elaborate sentencel®
a2 G P TR | O TET WA “A”

Which of the following is the appropriate bangla of that
idiom/phrase? IDAT. 2007-08]
A. Bring about: &M 5l B. Bring out : 961

C. Bring up: =< <l D. Bring down: 98 41
m 75 TEF TR T ‘D’ WLR Bring down : TS 347 |
Which of the following pair is not of the correct meaning of
that idioms? [DAT: 06-07)
A. Read between the lines : official formalities

B. By fits and starts: irregularly

C. Chip of the old block : a worthy son of a worthy father

D. Head and ears : complets

E@E A ‘A’ FO] FH; FRG— Read between the lines

T IR IS0/ SCTaer 340 |

‘With open arms’ TS R |DAT: 04-05)
A.long arm B. warmly

C. two arm D. one arm

‘With open arms’: phrase-B% =< zt W, TG
*112® I1F English (& warmly.

‘Hard and fast’ means- [DAT: 02-03]
A. Quick B. Fixed

C. Rapid D. Difficult

S[®)]info| ‘Hard and fast’ idiom-ox e =t 2 | oar =1
TET I ‘B’ WLR Fixed.

TOPICFZY ONE WORD SUBSTITUTION

0l.

02.

03.

04.

01.

MAT

Fill in the blank with the correct option. A person who writes

",

about his own life writes —.
A. a diary

[MAT. 2014-15]
B. a biography
C. a chronicle D. an autobiography

Mﬂm,mﬂﬁmﬂpﬁnnﬁmﬁﬁmﬁ
O AR @ (a) a diary S R FEd, Terere 397 b
AT I ST | (b) a biography W @6 Gt 1 G 2BZRT 1 (c)
a chronicle W<: G Goar@ | (d) an autobilography =I:
ST WGpEe | oM aF Wem @ ‘A person who writes
about his own life writes an autobiography’. (43ew IE @ ©F
e G T @Y (T WS () | SHfeE IRmitd TeE
f&fs 3= 7= T @ AfSF T\ 2062 (d) an autobiography.

[MAT: 13-14]

The study of ancient societies is named-

A. History B. Enthology

C. Anthropology D. Archaeology.
S‘@l info | % F: (i) The study of past events = History (ii) The
study of differencs and relationship of different people = enthology.
Which of the following pair is correct to express in a single
word in TF0 for a group of words? [MAT: 10-11]

A. Not bearing the name of a writer: 4%

B. One leaving his native country to settle in another: SICEIH

C. Characterized by dull uniformity: S5

D. Incapable of being questioned: FTAZSS

S[®]info] 2T (a) & ' O A{5T 77 | ASIT I F=wT: Not
bearing the name of a writer: anonymous (TE=TEY); &TeF (b)
FEACR IS ©GF | One leaving his native country to settle in
another: (emigrant) (SSAFN); ST (c) (T T WCZ OF AT =7 |
A6 7T =a7: Characterized by dull uniformity: montonous
(GITIE); ATR (d) (T T SE S AT 77 | ARIO T3 =
Incapable of being questioned: unquestionable (¥TST) |

[MAT. 2006-07]

A person whose “head” is in the “coluds” is-
B. proud

C. an aviator D. a day dreamer
S info| “Head in the clouds” 45T @ Phrase TR ¢ <RI I |
SIZET A person whose head is in the clouds. ¥ @ “a+ I&F @ S_ET
2 ™ | AR AT T A day dreamer. AR Ty =g SR/ET I |

X

Which of the following pair to correct to express in a single
word in bangla word in bangla for a group of words?[DAT: 10-11]
A. One who pretends to be what be is not: &fSSFSRY

B. One who is versed many language: IZSRIRW

C. A place where birds are kept: SIRCFSTL I

D. A messenger sent in great haste: SRETSIE

M One who is versed many language & I S[&I 9L
SIF QIR IS 0T | W ‘B’ R A0S T |

A. useless

DAT
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TOPIC P ANALOGY

01.

01.

02.

‘ d MAT
Which of the fnl]nwir-lg sets contain the correct meaning?
[MAT: 08-09]
A. Antipathy: Strong Dislike  B. Bequeath: Determined to go
C. Collide: Indifferent D. Devolve: Without

m QYT correct meaning (Synonym 9¥ T9); T3 a, b,
c, d 9T AT AN WS *FeER WS A C@d T A (a)
Antipathy 4% e wd: Strong dislike (W9I€ 97%¥); (b)
Bequeath @3 5% W<: Say a will (WS F21); (c) Collide @
o o< Disagree, collision (faT® =1, 7% F4t); (d) Devolve
a7 763 WL: Giving authority (FSP (7S) |

(17,4 )

Which one of the following is the correct meaning of the

corresponding word?

A. Play-wright: Scriptwriter

B. Plutocrat: Government by the richest people
C. Plummy: To fall suddenly D. Plush: Wide loose trousers

S[@]info| 7% T&x zt= W C’ =R Plummy : To fall suddenly.

Determine which of the pairs below has a relationship most
similar to that of the orginal pair HEART : PUMP [DAT: 06-07|
A. Intestine : twist B. Lungs : collapse
C. Appendix : burst D. Stomach : digest

m AT T TR WA ‘D’ WR Stomach : digest;
@ Heart T 2RMe @R Pump T 7o 3t wdr w=fes
FRFIFOR Pump ™7 2T | 7% (S9SN Stomach T 2AFZT
O3 Digest T T&W 41 SR AT FHIESH digest I/ 27 |

[DAT. 2008-09]

TOPIC p4i3 SYNONYMS

01.

02.

03.

MAT

Synonym for polite is — i
A. kindness
C. brilliant D. courteous

|:[®] info| ® Polite — S/=ier® @ kindness — %7 |
e rich — 47 @ brilliant — T4/ <_T ® courteous — 99/T1fE® |

[MAT: 21-22]
B. rich

Synonym of ‘unwavering’ is— [MAT: 20-21]
A. Steady B. Urgent

C. Ensure D. Unreliable

S[@l info | Steady- q=%7 |

Which pair of words is synonymous? [MAT: 20-21]

A. Acclimatize and Accustom B. Philantropic and Pessimistic
C. Clutter and Consistent D. Aparteid and Apprehend
SI@info] Acclimatize- ®5® 29; Accustom- SO |
Synonym for 'Ability’ are all of the followings except: [MAT: 19-20]
A. Talent
C. Skill D. Avail

m Ability, Talent, Skill 8 Competency *RStER =g
TRl | WARAMGE Avail *Mod @ SRS ST [0, AN IS
AT | 4 SRS ST *twrm e e 7R |

B. Competency

05.

06.

07.

08.

09.

10.

11.

What is the synonym of ‘exhausted’?
A. Plenty B. Stored

C. Animated D. Drained
SICI)Iinfﬂ A& ‘exhausted’ *Fiog W YT FW, =T T ¢t
@ | Option (A) plenty 93 &< &5d, =6 | Option (B) plenty
«7 w<: TFSFS | Option (C) plenty 97 &: T&ITS | Option (D)
plenty @ &< {F 1%, 09 @ Itz 994, 5T ¢tz @5+ | (74t
qeE, STF  ‘exhausted’ =<5 Option (D) drained *3 o
Synonym 3T ST =7 |

Synonym for ‘courteous’ is-

[MAT. 2018-19]

[MAT. 2017-18]

A. intelligent B. well of
C. polite D. kindness
S[®]info | &TT& courteous *Itow W< TE: &9 I 7@ | Polite

a9 8 AL W I W | SAR courteous UF synonym ZCAT
polite

A synonym for ‘Legendary’ is-

A. Intelligent B. Legitimate

C. Fictitious D. Famous

S[)]info] Legendary *to@ =< zza 47T | Famous *tw &g
ZCAT A4S | SR Legendary U9 synonym ZGET Famous ST (a)
T FR: Intelligent = I | &THF (b) TS IWCR: Legitimate =
T4 | 0T (c) T® 90aCx: Fictitious = T, i, fefegi= | Synonym
T ST *1%, Af$*37 | Antonym Tt [AETS =+ |
A synonym for ‘Synergy’ is-

A. conflict B. Autonomy

C. Antagonism D. Alliance

S!@I info | AT =G 2L Synergy I o< - G, T, AZEAS |
49 (a) T FECR: Conflict I o - T, ﬁﬁw, AT |
&9 (b) TS ICACR: Autonomy T o BT TSt TS |
T4 (c) T Iz: Conflict 7 ¢ Z11- Reaifet, Refdfre a-@T )
AT (d) T F@tE: Conflict IF 9 ZCA1- @7, 79T |

$Ed, Synergy 8 Alliance ?[™¥ synonym |

[MAT: 16-17]

A synonym for ‘delinquent’ is- [MAT. 2015-16]
A. bold B. profuse
C. mild D. offending

S[]info] “delinquent” =Ry W THEIE, ISV,
SR | AT Option SR ST Mt 7757 90T 4T I @—

A. bold =< AT, wwWi®, wwearw| (b) profuse W T,
@SS | (c) mild W 79, @, W= ?-l?fﬁ-‘ﬁ | D. offending
w<: FEGESEL, FATHSE! | TARSE Option ST [REeer St |1
T @ delinquent 99 synonym ZE0: (d) offending.

Choose the correct Synonym of the word ‘Cop’.
A. Troops B. Scout
C. Hit D. Police

S[]info| Cop = Police. Troop = Soldier. Scout = a soldier or a
man who collects information about enemy.

[MAT: 13-14]

The Synonym for * Ascent’ is- [MAT: 12-13]
A. Jow dow B. Further
C. Jump D. Regress

m Ascent *T5d 9 TE-WTIZ, AT (a) (T ICNE Jow
down; 93 It 9 T (b) TS IEE Further; @7 ¢ Z6=1 ‘A,
SR_E (c) (T AR Jump; 9 9 AT TE @@, (d) (T TER
Regress; 99 wd AT LTS/ SN T TARTSE *frerEE
T (4T Jump =0 ascent €T AN FNLERT TS AT | ASGI
ascent €Y synonym 2CF Jump.
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12,

13.

14.

15.

16.

01.

02.

Which one of the following is not the Synonym of the word

“Coinage”? [MAT. 2011-12]
A. Currency B. denomination
C. Change D. Invention

S[@]info| #F%*t Coinage 97 synonym & awe swfe
word- ¥ Oxford Dictionary @3% Oxford Thesaurus- @ SfgRe
TE® OF (c) (T O6F A1 @S AT 92 sense- @ &, “change”
*= “Coinage” 99 synonym G 6T * &=t 77 |

Which of the following words is the correct synonym of
“Libel”? [MAT: 10-11]
A. convincing
C. enervated D. misrepresentation

S[®]info] ‘Libel’ *a & JAT 71 i1 $oF 2R T4 WR_HA,
misrepresentation 4 FIGET TE =0T O TAFPR T TOUT,
Libel ‘€ misrepresentation 2 ¥ib *Rf *FF synonym. SE<T:
Synonym S «e2 @RS *7 | Antonym S 7S SRR *=7 |

Which of the following pair contain correct synonym? [MAT: 09-10]
A. practise : hands-on B. powerful : leverage

C. possibility : viable D. plan : platform

SI@’ info| Practise = JBLIT FHoWIA Fa1, O6f 41, ZTS FCH BOI
9] 3971 | hands-on = B TG0, VY FA 74, IS ARSS 41|
ATHF (b) (T IEE- Powerful = *&=FT (adjective). Leverge =
Sl (noun). AT (c) (F FCCR- Possibility = FWEAT (noun).
Viable = {073 2137 377 (adjective). 44T (d) (5 ICE- Plan =
“fFFAT (noun). Platform = GB*=, o+ SfY, =g |

Which would be an acceptable synonym of the word

B. annihilate

“hospitality”? [MAT. 2006-07]
A. welcome B. sick
C. pharmacy D. hospital

SN info| Hospitality *Itas wd “wifermet” | ST (a) TS WIE,
Welcome = T5[®, &G | T%F (b) TS T, Sick = S9Z | T ()
TS Witg, Pharmacy = 984T (I | &0d (d) T® =R, Hospital =
ZPTHTORT | “wiforTre” «r afexs fte g “apres a1 “madmz”
f7t® =73 | 3799R Hospitality ©F Synonym =T Welcome.

The Synonym for ‘Ascent’ is- [MAT: 05-06]
A. Jow down B. Further
C. Jump D. Regress

m Ascent *ITHg 9L THE-ICAR | ST (a) (T AR Jow
down: 99 It 9F = B. T9 30308 Further: 99 =< T@T ‘4T,
YRRE (c) (5 IR Jump; 97 N TET FE @A D. (8 IR
Regress; 9g O T ASTRS/ESIsET | SRS *™etag 0
(P Jump *Hb ascent 9F AN FIEENT TS AT | TOUT
ascent Y9 synonym ZLI Jump.

| X

DAT
Choose the correct S}'ﬂnnym for the word Cheerful? [DAT: 21-22]

A. dull B. apathetic
C. buoyant D. miserable
S[@®@]why| Cheerful (adj.)-®5&F1; dull (adj.)- ==; apathetic

(adj.)-BWPi; buoyant (adj.)-B%PT®; miserable (adj.)-T<o=1T |
Choose the correct synonym for the word ‘pertinent’-[DAT: 20-21]

A. Inappropriate B. Relevant
C. Contradictory D. Inapplicable

S[®]info]| Pertinent (adjective, &FIf%F)- Your answer was

pertinent with the question.
 Relevant (adjective, &Fif%<); Pertinent 93 Synonym Relevant.

03.

04.

(5.

06.

07.

08.

09.

10.

11.

Synonym for ‘Deceive’ is- [DAT. 19-20]
A. Guide B. Enlighten
C. Mislead D. Advise

S[@info] Deveive @32 Mislead *macaa o< fTate a1 3t efof@ei
1 Guide @R Advise *Faag W AL AT A St o |

Enlighten *It5d =< &7 W 327 |

Which one is the synonym of ‘Bargain”- [DAT: 18-19]
A. Counter B. Rip-off

C. Negotiate D. Disagreement

S[@Jinfo| 53T T&7 @ ‘C’; @I “Bargain” I Wd
FAPA, Counter TR fI5®, Rip-off W 23 T,

Negrotiate JCT waME 391, Dissgreement ST STV |

Which Pair of word is synonymous?
A. adultation,adulthood B. obsolete,absolete

C. uncouth,uncivilized D. outset,setting out

S[@info] 7feF T&x @<= ‘C’ @ uncouth *@ =<
TFe, Uncivilized *It3@ S SETo)/-ToTo R SIS |

IDAT: 18-19]

IDAT: 18-19]

What is the synonym of- ‘Degrading’?
A. Minikizing
C. Damning

B. Lowering
D. Corrupting

S[f]info | Degrading =¥ =25 932 Minikizing =< AT A1
AT *F | GAFATF Lowering-4T6T 91, Damning-THTE,
Corrupting- |
Concern *t5a 6% Synonym =9 @Hi6? [DAT. 17-18]
A. negligence B. indifference
C. worry D. apathy

S @ info | Concern *=a =< ©r=s!, WOITY < TEl/erwEst | Toul
S C T T |
Synonym for the word ‘Accuracy’ is—. [DAT. 16-17]

A. Authenticity B. Reality
C. Perfection D. Precision
S['D] info| Accuracy- 49, Precision-"2%1 I IAAIST oI

S D 0% B6F |

Which of the following word is the correct synonym of
“Scurridous”? |DAT: 10-11]
A. derogatory B. bitty

C. compartmentalize D. chippers

SIQI info | Scurrilous ** 037 W e @, I A T T
T 9P *A’derogatory *Rod AR faieer 4 |

Which of the following pair contain correct synonym? [DAT. 09-10]
A. Influence: lead B. Informed: Instructive

C. Injure: hurt D. Inspection: observer
Sl@]info| 7% T&a o <C*: @I

= A - Influence: lead (#®1[: (TSP (7ST)

9= B - Informed: instructive (515 : fr=Te)
A C - Injure: hurt (SEMS 41, LS F=10)

o= C - Injure:hurt (IS F1: SWES F410)

S99 D - Inspection : observer (afgw: «ifqwfs)

Which of the following correct synonym for the
corresponding word? [DAT. 2008-09]
A. Vicarious : Corruption B. Pedamic : Academic

C. Pedantic : Academic D. Scoff : Admonish

S[)]info] 7o T&a w2 ‘D’ W Scoff : Admonish.
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12.

13.

14.

01.

Which of the following is the correct synonym? [DAT. 2007-08]
Word Synonyms Word Synonyms

A. interest appealing B. intensify ardent

C. insular cocoon D. interim stopgap

S[®]info| 5% €T Wo ‘D’ (FI— interim *(b7 WL HEIS!
I I BAT W3R stopgap WS BT AT OIS I |

Which word dows not have the appropriate synonym? [DAT: 06-07]
Word Synonym Word Synonyms

A. harmful injurious B. crash collusion

C. confusion  chaos D. fence enclosure
[S[@]info] 53F T&a w*rF ‘C’ @1 confusion *=oa W<
fe@tf® @3z chaos *Foa we et

What is the synonym for ‘opinion’? [DAT: 05-06]

A. misgiving B. knowledge
C. fact D. belief

[S[@]info] 7fé= &&= WM ‘D’ IR Opinion *H7 W ToS
1 41T @32 belief *=og W< 8 =1 21 «fFeiT |

[ Y1 [
Synonym of Vogue- [AFMC: 20-21]
A. trend B. unclear
C. Washed D. Destetude
S[@] info| Vogoe (Noun, 511, ('971%7), The popular taste at a
give time |

TOPIC P14 ANTONYMS

01.

02.

03.

04.

d MAT
Antonym of “Deceive” is- [MAT: 21-22]
A. trick B. cheat
C. mislead D. advise

S[()]info] Deceive — T (ST | WM trick, cheat, misked
G&TET Deceive U9 Synonym |

Which one of the following is antonym of ‘Laud’? [MAT: 20-21]
A. Inept B. Abhor
C. Latch D. Adore

S[@]info| Laud- e % Adore- SN F70 Inept-
SETe; Latch- T (7S3M; Abhor- o7 347 |

Antonym of ‘bizarre’ is— [MAT: 20-21]
A. Flexible B. Normal
C. Messy D. Horrble

SI@liﬂfﬂv Bizarre- Wg9; Flexible- T=%; Normal- SR,
Messy- ATAGAET; Horrible- SS9 |
Antonym of 'Refractory’ is:

A. Stubborn B. Obedient
C. Intractable D. Cussed
SI‘Blinfn HTXIE ‘Refractory’ ==iod & S, AT |
Option (a) Obedient €9 =< 51, 9047, Wl'ﬁlﬂ?l‘ffl Option (b)
Cussed 99 W< 51T | Ption (c) Stubborn ¥3 9%: P&, &M |
Option (d) Intractable @¥ =< @RI T AR, AT
‘Refractory’ *¥f6 Antonym 91 R=¥® *=f T Option (a)
Obedient. S (b), (c) ¢ (d) T ‘Refractory’ *ITH9 Synonym.

[MAT: 19-20]

05.

(6.

07.

08.

09.

10.

11.

The antonym of ‘well mannered’ is-
A. Decorous B. Courteous

C. Chivalrous D. Sassy

S[®]info]| 2w™& ‘well mannered’ *Mfow =& MiGHT, e, &7
Option (A) decorous 99 w<: T, =, IS | Option (B) decorous
a7 a4 @1, 0 | Option (C) decorous <9 o ‘ﬁﬂ, TSI |
Option (D) decorous 95 o SPTer, (@MY | (AT TR, ATTE ‘well
mannered’ *[¥59 Antonym 3f f9%9® =% 2 Option (D) sassy.

[MAT. 2018-19]

The antonym of ‘revenge’is- [MAT. 2018-19]
A. Reprisal B. Penalty

C. Grace D. Wrath

S[®]info| 2T ‘revenge’ *i6¥ Antonym I F=€® == z=

Option (c) grace.

An antonym for ‘smart’ is- [MAT. 2017-18]

A. irrelevant B. boring
C. stupid D. difficult
S{@]info| &= ‘smart’ *=o7 =< IFAE, G111 Option (a)

irrelevant @3 9 WYFIHF | Option (b) boring w3 w4 [Fafea |
Option (c) Stupid @7 =<: @1 Option (d) difficult @ =
I | T ACE, ATE ‘smart’ *=6 Option (c) stupid *H o

Antonym 3 fIoiSTed= |
Antonym for ‘modern’ is- [MAT. 2017-18]
A. outdated B. ancient
C. past D. medieval
M info| ‘modern’ *=f6 = =MYf== | Option (a) outdated 9%

w<: T3 | Option (b) ancient 93 =: &ATBI | Option (c) past
@7 wg: WSS | Option (d) medieval @3 < THPHT | (74T A,
oTTE ‘modern’ *%G Option (a) outdated *%Z Antonym T
fasrerds |

An antonym of ‘facilitate’ is-
A. hide

[MAT. 2015-16]
B. hallow
C. hamper D. hold

S[®]info] “facilitate” *=i6 =¢: 7RG Fat, FRCIFrST T |1TTS
Option GT=TH = Mt 775 07 74T TF (- a. hide & T
b. hallow =i: %fd@ =7 a1 #f9@ 07 547 41 | ¢. hamper =< I
s A [TS FAT1 d. hold 9 NPT 441, €= = 3971w |
TAREE Option &= RTAET I9C7 T3 IF @ facilitate '8 hamper
a7 &g o7 Gt | 4R facilitate 9 antonym ZCET hamper.

An antonym of ‘native’ is- [MAT. 2015-16]
A. inborn
C. real D. alien

m Native @7 W (=& a1 T | HTE Option TG
iy M o7 A @ T (a) inborn O TS I(b)
Congenial I<: SATIEN, TART (c) real Wg: <G, &S (d) alien
e Rolt | BRES Option ST RS 3907 T TF @, native

B. Congenial

W antonym XM alien.

An antonym of ‘ruthless’ is- [MAT. 2015-16]
A. careless B. reckless

C. merciful D. rude

m “ruthless” *Foa w<: fFw; ﬁ'é?f | TS
Option ST=F WTda Wt %7 705 T T @- (a) careless &L
TRIN, TEYE, TS | (b) reckless W<: (@AWEI, SFS,
AT | (c) merciful i<t W4 | (d) rude we: SpTEy, WEy,
wIfEers, v TARFESE Option ST RTEe FAC=T /T I @ ruthless
@3 antonym 2T merciful. 99T (c) A3 TG |
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12,

Antonym of the word ‘Concord’ is- [MAT: 13-14]
A. Harmony B. Thrifty
C. Conflict D. Scanty

S I@] info| Concord — &= e 21, 5= 2670 | Conflict — <=
297, ™S 29 | Concord - synonym— Conflict (Rof® =) |

13. Antonym of the word ‘urbane’ is- [MAT: 12-13]
A. Rural B. shave
C. Sophisticated D. Uncouth

14.

S[®]info]| Urbane 5w =< ey, FHE (W JIRE) @93
*Aog R == (antonym) ¥ uncouth TF o ZE- e,
TEifers (S6E TIZE)

(ST AT ©ite:| Urban *I03@ e 1z0d 3 17 @ | 97 Roidre

*3F ZETT rural TF N AT S50, ST |
The antonym for “ Grievance” is which of following?|MAT. 2011-12)

A. happiness B. discomfort

C. distress D. peace

S[N]info| Grievance @7 & @t R c=ts, wfowant aart =1

Bl ‘ﬂ‘ﬂf‘-ﬂ' 299 | I[99R 99 antonym (T happiness. [NB: oog AT
9 LT Which of the following is an antonym for Grievance?]

15. Which of the following pair contains correct antonyms? [MAT: 09-10]

16.

17.

18.

A. Perilous : comfortable B. Oblivious : unconscious

C. Nebulous : 1imprecise D. Laconic : terse

M A. Perilous (ST<F): comfortable (TRMEWES); (b)
Oblivious (SF6S): unconscious (WESH); (c) Nebulous (S8):
imprecise (S8, 3¢ 7T @I%) (d) Laconic (TESHMT): terse
(TSR, W) T 9, SRS *wrEel <R W B, C, D f&=it3
TS (Synonym); T3 (a) (5 SRk == @oR [Remmends |

[MAT: 05-06]

The antonym for “dull” is-
A. Thrilling
C. interesting D. experiencing

S[@]info| dull 5 Fras/STgfea |

B. Monotonous

“Equivocal” *It5@ fesidieide =i=- [MAT. 2004-05]
A. mistaken B. azure
C. quiet D. clear

S[®]info| Equivocal = od@E (AR R T@ 7 95)
AT (a) T SfgR® *F mistaken- S TF/F0; &TF (b) TS
TfafR® *= azure- 9 TugE [ie; AT (0) TO SRS *M quiet-
s >R/ A (d) T SERS =% clear- W< fFwE | AR
Equivocal *t%9 fa#/9i® =% 23 clear |

The antonym of the word ‘Urbane’ [MAT. 2000-01]
A. Sophisteated B. Rural
C. Suave D. Uncouth

S[®]info] Urbane *i5w w¢ &g, w#oAe (WHR IITE) @2
*[{hT AT = (antonym) W uncouth IE a9 TE- =T,
Iifers (W6 TBIZI)

IExtra info:| Urban *5a &< *1Z7 3t 19 7% | @7 [oe ==
ZCET rural TR S« ZCAT {17, ST |

01.

02.

03.

04,

05.

06.

07.

08.

09.

Cj{ DAT
Choose the correct antonym for the word ‘exuberant’- [DAT: 20-21]
A. Happy B. Apathetic
C. Vigorous D. Cheerful
S{®]info | Exuberant (adjective, ﬂ‘ﬁ"[”f ) - produced or growing

in extreme aundance

e Happy (adjective, 7737 e Apathetic (adjective, THFI) o
Cheerful (adjective, ®®&ITS) e Vigorous (adjective, (S&T)
Exuberant ©¥ Antonym Apathetic.

Choose the correct antonym of the word ‘Solidarity’- [DAT: 20-21]

A. Empathy B. Hostility

C. Affinity D. Rapport

S{B]info Hostility (noun, &3™)

Antonym of ‘Sluggish’ is- [DAT. 19-20]
A. Somnolent B. Enervated

C. Bnisk D. Weary

m Sluggish, Enervated €32 Weary *<atad o [{eo |
SRMCE Brisk *itae o 5resife |

Antonym for the word *Strick’ is- [DAT. 19-20]
A.Sly B. Strong

C. Lenient D. Weak

S[®)]info] Strict YR Strong *I5@ &< *1% | Sly W e@Rere |
Lenient W¢ CWIF 1 waTE | Weak &9 & |

Antonym of the word ‘Intrepid’ is- [DAT. 19-20]
A. Chivalrous B. Fearless

C. Dauntless D. Timud

M Intrepid, Chivalrous, Fearless 992 Dauntless

*reEe 9 SPpreted 9t 8w | W Timid *twe o SiwF |
Which one of the antonym of ‘Cunning *? |DAT: 18-19]
A. Manipulative B. Artful
C. Guileess D. Wily
S[@]info] 73 T8 Wk ‘C’ WdR Cunning *T%a = ¢,
Manipulative =8 9 @@ Artful *t9 @2 EEEE

Guileless *itar@ &<f s1ge1 Wily =it w<f g6 9f4 |

Admire *q AT antonym =3 @? [DAT. 17-18]
A. Abhore B. Wonder

C. Appreciate D. Criticize

SiD)]info| Admire =< &1 1, Criticize W 7™t 31 | @93
o ‘D’ AT TaT |

‘Love’ ™t e antonym =3 @i+io? [DAT. 16-17|
A. Dislike B. Intolerant

C. Hate D. Abhor

S[@®)]info | Dislike-S#1%%, Intolerant-SZAId, Hate-gT <1,
Abhor- T IR 2@ 1 | TSYI AGF T&F C |

Antonym for ‘Aware’ is—. [DAT. 16-17]
A. Harmony B. Kindliness

C. Ignorant D. Retain
S I@I info| Aware- (6%, Harmony-%¥, Kindliness-SHl,
Ignorant-S5S+, Retain-T&H T4 | TOGT AIF T&F ‘C”.
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10.

11.

12,

13.

14.

15.

01.

Which of the following pair contain correct antonyms?
[DAT. 2009-10)

B. buoyant: cheerful
D. Inclement: tyrannical

A. complacent: satisfied
C. Frivolous:grave

S[@)info| A, B, D {556 W**=2 Synonym ®¢i@ S« C (S
Antonym 9CIE |
Which of the following is correct antonym for the

corresponding word?
A. Skim : Aquaplane
C. Histrionic : Dramatic D. Rambling : Compact
S[®]info] Rambling =¥ 2 Py @R Compact WY PR
SO FHT ‘D’ ST |

|DAT. 2008-09]
B. Shilver : Frisson

What is the antonym for ‘quit’? [DAT: 05-06]
A. stop B. relinquish
C. take up D. give up

S[@] info| Quit W< S=ZfS e T/= Antonym ‘Take up’ g T
VIRrE iz 3547 |

Trust-*It%< antonym & 3?7 [DAT: 04-05)
A. Gusty B. Doubt
C. Peace D. Believe

M Trust *%o7 W< =T @92 Doubt *Fow 9 7wy a1
ST | TOAR TAIS TET WO B’
‘Incredible’ *It5& antonym & 237

B. unthinkable

[DAT: 04-05]
A. unbelievable
C. unmanageable D. unlikely

[SI@N]info| 755 €87 w7 ‘A’ F@I- Increadible =™ &g
=T «92 Unbelievable *Fbg w<'s w7 |

‘Flexible’ =itoa fi=ate =15 f& a7 [DAT: 04-05]
A. Plastic B. Rigid

C. Elastic D. Changing

S[®]info| 7% Tz W ‘B’ @I~ Flexible *@ba &g T+
g Rigid *=iog < S« If *1% |

[ [

Malignant @3 FHEE 3 77 (@102 [AFMC: 21-22]
A. virulent B. benign

C. spiteful D. malevolent

S[{(B]wWnhY| Benign — S5 |

® Malignent — o34 | ® Virulent — =3 |

* Spiteful — o33 | ® Malevolent — ¥[34 |

TOPIC 4 Vocabulary (Word Meaning)

01.

T

MAT

‘Bangladesh is nvtrpup=ulnti:d‘ What is the meaning of the
[MAT. 2014-15]

underlined word mentioned above?

A. so much people B. many people

C. too much people D. too many people
S[IDIinfn Q3T “‘People’ *i6 countable Noun Z28TH €7 ST so

much, too much ICT | ‘People’ @ T4 many TS “AE &g
‘overpopulated’ *{b JIAT TSR SE SAP @ A SR many
AT TS too P | TOET A(6F ©Gaf6 ZT (d) too many people.

02,

03.

04.

05.

06.

‘Termination’ means-
A. to start

C. to continue D. to end
S[]info] (a) to start WF @ T, @I IS W T4 I /AT |

(2) to begin < SF FAT I WEE F4T| (c) to continue WL HFLS
AFT, GifFm FEA| (d) to end S ML FAT I M FAC
“Termination™67 =< ZCAT 9WIf€ | €448 FRL option 97 o<
% PACT (74T T Option (d) 2 715 a7 |

The meaning of which word is not correct?
A. Tear — S&F B. Fear — %9

C. Gear - (35199 341 D. Desire - 25! (AME 1
S!@Iinfn Fear T S (noun ZT0E) WYAT ©F 40 (verb TA)
Fare = %9 |

In which of the following sentences the word ‘Bring’ is used
to mean in bangla. " ¥o1G1'? [MAT: 10-11]

A. The good harvest brought down the price of rice.

[MAT. 2014-15]
B. to begin

[MAT. 2011-12]

B. His property brings him in Taka 500000/- a year.
C. She is brought up by her mother.
D. He tried to bring about a quarrel between them.

S[D)]info]| AT (a) (S TR bring down- T A= | The good
harvest brought down the price of rice. 9% S& Fo+ (F979) HlOER
T A TR | LR BISCE AN IEICE | AT (b) (5 FCACE bring
in @ =T, =AM =7 | His property brings him in taka 500000/-
a year. 91¥: ©F I SITF IRCF ¢ 74 BT & @ AT | AT (c)
(5 FCACR bring up- =W L4l | She is brought up by her mother.
wd: G7 ©f T TR IE A1S A1 27 | &rF (d) (5 IEE bring
about - 9611 | He tried to bring about a quarrel between them.

wef: @7 S T W (JISTST) SBITTR (5B R |
Which of the following is the correct Bangla meaning of the

English word? [MAT: 09-10]
A. Disastrously : FOSIFFSIE | B. Harshly : BIEl
C. Loving : &if$ D. Amorous: CSZH

S[®]info| @Tx @78 English word &t o3 &< s Srar< 31
AN aree e Re AR A wd [ S = 2@ o
TSR AT TS AREA 7o TeT @FG I | (a) Disastrously
:Eé?‘?lml B. Harshly : FHASIA, ﬁ'é‘sf\?l't?fl (c) Loving :
fer, 49 D. Amorous: #eRME (sexually)

Which of the following pairs contains correct Bantgla
[MAT: 09-10]

meaning?
A. Dropsy 4@ B. Droll : @3 T&SUET ©6

C. Dromedary 2P D. Drone : 1 &<
S[)]info] T @W8 english word &R 316F &g == (a)
Dropsy : T46 Fl @T; B. Droll : F03%; (¢) Dromedary : @3
FESAF TG AT &M D. Drone : 1T @<, sl
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07.

08.

01.

02.

03.

04.

01.

Which of the followoing is not the appropriate Bangla? [MAT: 07-08]
A. Emigrate: TA*TSI< <4l B. Envious : FH&=Ee

C. Exhort -Gt %R ©=1112% 41 D. Exorcise : ST S
S[®]info| &% =1 Z@Z Pairs of word TUTF | 58 @41 oo™
T 7 IR S (el (A3 Mo I W G TR | AR aNa
*RASTAR TCT (), (b), (c) W2 &= 55 =z | (d) ™= Tl =T
T TR | ATST6T 7@ F=Fl: Exorcise: ¥R "g& A1 =T <=l
VE T | WM AT ST 2GRS 2= Excursion.

“Sanction” IS T @RIA? [MAT. 2004-05]
A. verify B. play
C. prohibit D. authorization

SIID‘iﬂfn Sanction *IZE ST SR Permission €BE
3ATS® authorization 4T 2T |

0,4

Which of the following word is the correct English
translation of the word ‘ﬁ@' ? [DAT: 10-11]

A. strumpet
C. hullabaloo D. hideous
SI@I info | strumpet 4 & I, nebulous-=¥El, hullabaloo-

205, hideous-ST%T | TOUT ADS BGT TR T ‘A’ WR strumpet.

Which of the following is the correct Bangla meaning of the
English word? [DAT. 2009-10]
A. Tyrannise: SOOI F0 B. Tremble: SIS [

C. Proficient: FS&% D. Indignant: S=fazd

S info AT TG TR W ‘A’ (@I Tyrannise *T3a &L
HOIGE F91/CIET 91, Tremble *3 W< 941, Proficient *3 4
e w5F, @R Indigrant =T WY @IS/ |
‘Custodian’ *ITHd ST-

A. Personal storage room

DAT

B. nebulous

[DAT: 02-03]

B. Caretaker
C. Announcer D. Doorman

[S[(®)info| Custodian =7 ar &< 75, feram I English <01
Caretaker. Doorman <& & VIR, Announcer -3 = CIRFETPIET |

Choose the alteranative that is almost similar to the meaning
[DAT: 02-03]

to the word ‘unequivocal’-

B. Low voice
C. Unequal D. Clear
Slf_i)linfﬂ s Teq T ‘D’ FE- Unequivocal *Riod =g

T B 91 AR 932 clear *H67 WS =92 |

[ $f [

59 @B " Achilises heel™ 7 31109 WK?

A. A strong area

A. Not protesting

[AFMC: 21-22]

B. A vulnerable area
C. A parmanent 1dea D. A serious 1dea
S[B)why| Achilises heel @& 5 TR weak point | TSAR FoT

ST B A0F ©w |

TOPIC X LITERATURE

01.

B. George Bernard Shaw

War and peace 99 -

A. Leo Tolstoy
C. Charles Dickens D. Wiliam Shakespeare
finfo| Leo Tolstoy 9F& FHAW 4T SR [4me 7o 32

ZC=T- War and peace & Anna Karenina.

[MAT. 2018-19]

TOPIC ]l CONDITIONAL SENTENCES

01.

d MAT

Which one of the fﬂll-ﬂwiug sentences is correct? [MAT.2019-20]
A. If T won the lottery, I bought a big house.

B. If I win the lottery, I shall buy a big house.

C. If I won the lottery, I will buy a big house.

D. If I won the lottery, I shall buy a big house.

S[(B]info | If % clause 67T I present Indefinite tense 2T, ST

77 clause 6 Future Indefinite tense 2 | W*RAWE If T& clause
ot IW Past Indefinite tense ZT¥, @ <EF clause TS
would/could /might + verb @< Present form 29 |

. 'Which one of the follwing is appropriate to fill in the blank, “He

—— arrested if he had tried to leave the country.”
A. would

[MAT: 13-14]
B. would have been

C. could be D. must be

m 43 49 Sentence M @S S *[Hrem woTes
O MCQ Wiz | Wt @36 Important € TWF &% | @2

AT Sentence STET WG AME e G 56T |

. Fill in the blanks using word that best completes the

sentence: “If she had studied harder.,...... [MAT: 05-06]
A. She would have do well B. She would do well

C. She will have done well D. She would have done well

S[)]info| ©% b Third conditional 97 {7 SRt 20T |

DAT

. Which form of the verb within the bracket will be the most

appropriate for the following sentence? IDAT: 05-06]
‘If 1 were you, 1 (handle) the situation more carefully’

A. will handle B. would handle

C. handled D. would have handle

[SI(®]info| =°F ‘B’ 7173% &7 W<R would handle.
Note: W59 Rulef® 77 % T4

—» If + past indifinite + past conditional + (subject + would/
might/ could + = Verb «¥ Past form) &F:

e If I went, he (come) = If I went he would come
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01.

02.

03.

04.

05.

‘ d MAT

Masculien gender for “Ii-ll'.‘ll‘“ iS— [MAT: 20-21]
A. Drake B. Doe
C. Dam D. Drone
S[®]info Masculine Feminine
Drone Bee
Drake Duck
Buck/Stag Doe
Ram/Buck We/Dam
Fill up the blank with appropriate word: “I spent — with
the patient”. [MAT. 2015-16]
A. sometimes B. some time
C. sometime D. littletimes

S[@info| &T=& Option wTa =7 Wt =7 T W1 T &-
A. sometimes =<: TRN TMRN | (b). some time F: g 51971 (c)
sometime S<: (FIT 9F 77 | (d) littletimes <. wﬁsgmm
ez | BAT®% Option @ T Fater I I @ 7o Twafh
Zr®: (b). some time (Fg 199) IRFIHT o I WIeE: 1 spent
some time with the patient. (Wi @efifor s fog s
FIGTaRET™) |

Complete the sentence by the appropriate word in the gap from
the words given below: “though Bangladesh is a riverine

country, — it faces scarcity of flowing water” [MAT. 2011-12
A. yet B. but
C. always D. occasionally

S[@info| Yet 7 = w=iifre a1 ©38 | ETFE@ = WiEA- “Tg
RETOT G TASS (! S (IBTS A1+ &M wofe w17

Which of the following will not be the proper replacement of
the underlined word in this sentence- “shahedd Dr.

shamsuzzoha is considered to be the first intellectual who
attained martyrdom, during the pre-liberatio period of

Bangladesh.” [MAT: 07-08]
A. academic B. scholarly
C. practical D. wise person

SII®]info]| Intellctual = IEENEr, &I | Intellectual @7
ST TS AT Academic, Wise person| &8 Practical

Scholarly *Rm@¥ @ N2 Intellectual 97 LT 2T 1 | WO
(b) 8 (c) T[T ©&T | @I, Academic = F=FIRW (n), afswite
(adj.), T**FT 515 (adj.); Scholary = @I I AfEST RS (adj.);
Wise person = Al A%, &I I51&; Practical = T2 |

Which sentence would be the most appropriate continuation
of “We didn’t want to wake anybody up as......”" [MAT. 2006-07]
A. we went for a walk by the sea.  B. all the shops were shut.

C. we came in very quietly. D. we didn’t know where we were going,
S[@®]info| We didn’t want to wake anybody up as we came in

very quietly. (9<: SR T THTS G2 I07 5o 5ot foowm
ST FCATE) |

06. According to the above passage, WHO estimate of people
infected with HIV in the 21% century, compared to the
current trend will he — the actual number. [MAT. 2006-07]
A. less than B. almost equal to

C. more than D. far less than

S[@]info] et T GISAT TR @, GF *STF ARG @RIF TR
T AT G @A I A, IT A | ©AFSE Comprehension
AT T T O =SS Q2T @I 74T @2 71 |

07. Now, the people at risk for developing HIV include the-
[MAT. 2006-07]

A. general population. B. intravenous drug users

C. homosexuals. D. female sex workers.

S info| &7 (b), (c), (d) 5 SfARS &Toiw =AM High risk
SFTPIT (AT | IO Risk- @ SITZ general population 3 SRR
RS | WOUT AT AT TR (a).

08. According to the passage, the segment of the — will probable
constitute majority of AIDS eases in the 217 Century. [MAT. 06-07)
A. heterosexual men and women.
B. heterosexual women and children born to them.
C. heterosexual women.

D. homosexual men

S[®]info] ©4&E% Comprehension 97 *itgd fe Tray =1
ZER 21 century (5 SR @ =SETS AIDS @EIE R

Q50 (A%t 2T heterosexual women '@ BTWd children 9 ST |
& TR ST Heterosexual 2T Homosexual @ Ro<® == |

09. Fill in the gap with the correct form of the verbs/words to

complete the sentence: “Though Bangladesh is blessed with

rivers it — scarcity of drinking water”. [MAT: 05-06]
A. facing B. face in
C. face D. faces

S[@]info| Present Indefinite Tense WA™I FSf IW Third
person singular Number ¥ SIR(5T Verb @¥ Y s/es T& R |

10. Beneath the incomplete sentence, there are four words or phrases,
Choose the one word or phrase that best completes the sentence, ‘It
might be interesting to note that under many circumstances, the
salalry of a bus driver is much higher— |MAT. 2001-02)
A. That a teacher B. Compared a teacher

C. in comparison with the salary of a teacher

D. Than that of a teacher
S[@] info | 7%= ©&q T W9 ‘D’ WK than that of a teacher
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11.

12.

13.

01.

02.

03.

For the following sentence, Choose the answer that is closest in

meaning to the original- Medical quackery, which promises

cures for all existing and even non-existing diseases, has a

powerful appeal even to the well educated. |MAT. 2000-01]

A. Medical quackery promises the well educated a cure for disease

B. Medical quackery promises cures for all existing and even
non-existing diseases ofr the well educated

C. Well educated people in medical promises to find powerful
cures for disease

D. Even well educated people are attracted to take cures for

diseases that may or may not exist
S[®)]info] 7oz T&7 zTR Wrm ‘D’

The maintain a clandestine link with the godfather this
[MAT. 2000-01]

means that he maintains.
A. a questionable B. a candid link
C. a criminal link D. a secret link

S|IDIinfn 7o Toa Zoog W ‘D’ LR a secret link

Choose the answer that is closest in meaning to the following

sentence: ‘Despite the difference in size, shape and function,

all human cells have the same 56 chromosomes’ [MAT. 2000-01]

A As ... cells have the same 46 chromosomes,
there is little change in size,shape and function

all human ...

B. The size, shape and function of human cells are the same, but
the 46 chromosomes are different

C. All human cells have the same 46 chromosomes because they
ditermine their size, shape and function

D. The 46 chromosomes in all human cells are similar inspire of
the face that they differ in size, shape and function

S[®]info| 1oz Twa == WoF ‘D’

‘ d DAT
Which is the correct word for the blank? ‘1 don’t remember
—about the accident’. |DAT. 19-20]
A. everything B. something
C. nothing D. anything
S[®)]info| % =717 TS anything *0 TS |

Which one of the following statement is the most appropriate
for ‘Obey’ your traffic rule. [DAT: 18-19]
A. This is for your rapid transport

B. This is the law of your country

C. This is the teaching of the “Traffic week’

D. This is for your own safety

S[@]info| Obey &&T (=1 W2 TFT TS IR | AT Tod
o C’ WL This is the law of your country.

NAEM stands for? IDAT. 17-18]
A. National Academy for Educational and management

B. Natrional Academy for Environment management

C. National Academy for Economics and managment

D. National Academy for Educational management

S[®]info] NAEM zuw= Jtmmmaee et eifireres 10 & |

04.

(5.

06.

07.

08.

Which of the following word will be the proper replacement
[DAT. 2007-08)
“Following the killing of Sergeat Zohurul Haque in prison by the
Ayub Khan government in 15 February 1969, a flame of protest

of the underlined word in this sentence.

spread throughout erstwhile East Pakistan.”

A. dispute B. gripe

C. demonstration D. rebellion

S|@]info] 7% T&a W ‘C’ @1 protest T &ifSTm I
@32 Demonstration NE [RCFTS 21 afsam a1 |

Read the paragraph and answer the question.

IDAT: 06-07]
Photosynthesis 1s a process in which radiant energy from sun is
stored as chemical energy, which 1n turn 1s used to decompose
carbon dioxide and water. The products of their decomposition
are recombined 1nto a new compound which successively builds,
up into more and complex organic substances like sugars,
starches and cellulose that comprise the plkant. The word stored
in the paragraph is closest in meaning to

A. specified
C. converted D. discovered

[S[®]info] 713z &7 W ‘B’, Retained-WoRES 74T | oo
Passage (4T (1T |

Read the paragraph and answer the question. ‘Varuses are

B. retained

living organisms. We may consider them regular chemical
molecule since they have normal atomic structure, but on the
other band, we must also consider them as being alive since
they are able to multiply unlimited quantities. Viruses are
alive because the... IDAT: 06-07]
B. live

C. have a complex atomic structure D. multiply
S[®]info] 75z Tex 7@ W ‘D’ wLR Multiply T W< %/

ST T4 |

The most suitable pair of words that can be substituted in
the blanks: With the — of information technology, it is a —

A. need warmth

— exercise to impose censorship in the media. |DAT: 02-03]
A. introduction .................... wastage

B. news.................... useless

C.advent................... futile

D. supply....eeeeeeeeene.. pointless

S[@)info| 75 Ta7 wo== ‘C’, advent-Rt37 WiRSiag 7=,
futile-J2AT |

The most suitable pair of words that can be substituted in
blanks: the licenses of ..... drivers, when and if apprehended,
should be ..... with immediate effect and without showing any
mercy. DAT: 02-03]
A. expenenced ......... maimntained

B. reckless ......... revoked

C. untrained ........ jailed

D. drunk ........ banned
SI@' info| 7% Tag w9 ‘D’, drunk-1S1=, bmme-ﬁﬁg?@w |
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